First three minimals for 22, but you got at a contract the warry with the contract and leaves weaking the contract that the the contract

# PUBLIC SCHOOL CRICKET IN 1936.

school despeed at 220 for our weekers, 4, 5, 4, Laugher Diving up a wearstleen 122, 4 Checar for end weller without the Tea and that

By A. PODMORE.

The Cricket Season of 1936 will go down in history as the worst in the memory of nearly two generations and one has to turn back to 1879 to find a parallel. Match after match had to be scratched, and the sides received little chance of settling down, added to which there occurred a greater amount of illness than the schools are generally heir to in the Summer Term. Some were more unfortunate than others. Clifton, whose two-day fixtures with Rugby and Cheltenham had been abandoned without a ball being bowled, travelled on the last Friday of term to play Rugby a one-day game. A fine Friday was followed by an impossible Saturday, and the eleven arrived at Lord's on the Monday to meet Tonbridge without having played a school match. It was much the same, in a lesser degree, with every school in the country.

A pleasing feature of the season was the continued increase in enterprising declarations, which have been noticeable in the last few summers. The schools are realising that it is better to have a closely contested match than to make themselves safe before declaring, and give opponents no time to make the runs; they see that they possess a better chance of victory if the other side take risks. Among innumerable examples of this, one of the most noteworthy was Repton's declaration against Malvern, and Malvern's plucky acceptance of the challenge.

It was no fault of Radley's that they failed to win all their last three matches in May. Against Incogniti they declared at 214 for seven wickets in a twelve-a-side game, leaving the visitors two hours and a quarter's batting. When stumps were drawn, Incogniti had lost ten wickets for 136. The school declared at 222 for four wickets against the Common Room, who had two hours and a half to get the runs. E. H. Moss (146) and W. G. Morgan scored at the rate of three a minute, but the last wicket fell at 220 to the fifth ball of what, in any case, would have been the last over.

M.C.C. took over two hours and a half to make 123. Radley lost three wickets for 23, but the total stood at 121 when the eighth man left. The ninth and tenth wickets fell without addition, however, M.C.C. winning with the third ball after "last over" was called.

Stowe supplied a typical instance of an exciting finish. The school declared at 229 for six wickets, J. D. A. Langley hitting up a chanceless 122. I Zingari lost nine wickets for 229, and the last man was run out without addition to the score off the last ball of the last over as the clock struck seven!

Charterhouse closed their innings at 219 for four wickets, after batting two hours and a half. Trinity College, Oxford obtained the runs for the loss of seven wickets five minutes from time, J. D. Eggar scoring 95.

Cheltenham, declaring at 176 for eight wickets, dismissed M. Kenyon's XI for 98 with eight minutes to spare. Cranleigh left Old Cranleighans 50 minutes to get 145 to win the Past and Present match. Thanks to fierce hitting by H. R. Heard and S. R. Couchman, the Old Boys obtained 143 for the loss of four wickets.

Denstone, given two hours to get 191 to beat the Burton Club, hit off the runs with half an hour to spare and nine wickets in hand. King's, Taunton, declared at the fall of the third wicket, King's, Bruton, in the remaining eighty minutes making the necessary 132. G. G. L. Hebden hit well for 93 not out.

St. Lawrence, Ramsgate, declared at 165 for eight wickets, and thanks to a freely-hit 97 by L. C. Gower, King's, Canterbury, won by six wickets.

Aldenham (J. P. Blake, 81) made a declaration at 167 for five wickets against Harrow Second Eleven, who obtained the runs with three wickets to spare, W. Lithgow contributing 71.

Bedford declared at 241 for one (C. L. Oakley 121, not out), and thanks largely to an innings of 120 not out by F. C. de Saram, Keble College won by six wickets.

J. G. Beach was undefeated with 116 when Blundell's closed their innings at 275 for four wickets and Devon Dumplings won with five wickets to spare. Sidmouth left Blundell's 175 to make in 85 minutes. The school scored 144 for six wickets.

Lancing declared at 232 for five wickets against the Jesters, who hit off the runs with three wickets in hand. The College

declaring with seven men out, left the Martlets two hours and a quarter to get 225 runs, the visitors winning just on time for the loss of a similar number of wickets.

Leeds G.S., declaring at 178 for 6, and leaving Bootham School an hour and three-quarters, won in the last over by 95 runs.

St. Edward's declared at tea at 189 for six and Oriel College lost four wickets in the course of five minutes, but hit off the runs in the final over with the last two men together.

This list might easily be prolonged, but sufficient evidence has been quoted to prove that there is a definite tendency in the right direction of sporting declarations and forcing cricket.

Besides the game between Stowe and I.Z., mentioned above, tie matches were played between Highgate and King's, Canterbury, 114 each, and Leeds and Pocklington G.S., 104 each.

Leeds G.S. participated in a series of close finishes. In addition to the tie match, they beat Giggleswick by one run, lost to Ripon by one run, and beat Bootham in the last over of the day. The Craven Gentlemen, set to make 202 to win in 115 minutes, hit off the runs with two minutes to spare. Against Bradford G.S., Leeds lost eight wickets with fifty minutes to go, but time came with the last pair still together.

In spite of unfavourable conditions throughout most of the term, the form shown at Lord's and elsewhere during the holidays was satisfactory. It was evident that due attention had been paid to fielding, the most important feature of the game, but there remained plenty of room for improvement in throwing-in and, as in past seasons, there was a shortage of reliable slip fielders. As a set-off to this, P. J. Wilkinson proved himself, in his four days at Lord's, the most brilliant first slip seen at Headquarters for many years. The fast bowlers, if finding few wickets to their liking, concentrated more upon keeping a length, which should be the ambition of every young bowler. This was specially noticeable in the two representative matches, Lord's v. The Rest and Public Schools v. The Army.

The Eton and Harrow match created a dismal record. Only four hours' play took place in the two days, and no opinion could be formed of the comparative merits of the sides. So sodden was the turf, notwithstanding hours of untiring labour with artificial drying apparatus by Harry White and the ground-staff, that Wild slipped up in delivering the third ball of the match and Lindsay when he came in, nearly lost his foothold when handing his cap to the umpire.

Features of the first day's play were the wicket-keeping of England, who made two smart catches for Eton; the unflagging energy of Macindoe, who, bowling during nearly the whole of the Harrow innings, swung late and dangerously from the off, and the batting of Watson, who, with Holt, rescued his side from a dangerous position. Carris, as usual, offered a stolid defence until he got under a long hop and was caught at cover. The Eton fielding was entirely adequate, Dickson being prominent. Eton having batted for half an hour next day, the rain had its own way, the game being abandoned.

## WINCHESTER V. ETON.

After giving promise of an exciting finish, the Winchester and Eton match faded away into the fifth consecutive draw. Eton being left two hours and forty minutes to get 219 runs to win, F. G. Mann set his side a good example, but Winchester fielded keenly and Holme worried the batsmen with frequent bowling changes. Only 61 runs came in the first hour and time expired with six wickets down for 168. Adams kept wicket smartly for Winchester as did R. England for Eton, other features of the game being a very fine innings of 98 by Holme, the all-round play of Wilson and J. P. Mann and the catching by the Eton eleven. Macindoe bowled untiringly for Eton and Proud achieved marked success in the Eton first innings.

## RUGBY V. MARLBOROUGH.

The Rugby and Marlborough match met the same fate, no more than two and a half hours' play being possible on the opening day. The fielding all round was excellent and much good cricket came from evenly-matched sides, only eight runs separating the first innings totals. Scott, the Rugby wicket-keeper, played soundly and Bridger, who made such a successful debut the previous year, and Walford, two young members of the side, hit with confidence in the first innings. Kershaw and Elliott showed the best batting of the match in the abbreviated second innings. Six of the Marlborough XI reached double figures and Collins played a polished innings of 39. The bowling of both sides on a sodden wicket was varied, and Jelf, making his third appearance for Marlborough, gave an impressive display behind the wicket.

## CHELTENHAM V. HAILEYBURY.

The fates reserved the worst weather of the week for Cheltenham and Haileybury, limiting the proceedings to four hours' play on Saturday. In two hours and a half before lunch Cheltenham

lost seven wickets for 142, Eagar hitting freely until he fell to one of two good catches by Barton. No further cricket took place until five o'clock, when Haileybury went in for an hour and a half. Harrison hit hard and cleanly for 62 not out, confining his attention mainly to the on-side in one of the best innings of the week. Thus was brought to a conclusion a spell of the worst weather ever experienced in these school matches, all of which were left unfinished.

## CLIFTON V. TONBRIDGE.

The pitch for the Clifton and Tonbridge match was soft and of no assistance to the bowlers, but few batsmen possessed the necessary strength to force the ball off the back foot. Tonbridge enjoyed much the better of a drawn game though Clifton had themselves to blame. Their ground fielding was good, but the slip catching unsound, Scott, when turned the ball considerably from leg, being a special sufferer. When Clifton went in for three-quarters of an hour's batting on the second day, the flight of the ball was difficult to follow in very poor light. Eberle, who had been out of luck during the term, played a sound not-out innings of 106 for Clifton, and Scott joined him in a good stand for the fifth wicket. In a lively Tonbridge "tail," Parsons, who included three 6's in his 67, hit merrily.

## LORD'S SCHOOLS V. THE REST.

The first match between the Lord's Schools and The Rest was played in 1913. No record of that game appears in *Wisden* and it may be of interest to give a few particulars.

The fixture originated from the decision to hold a two-day trial game from which to select the Public School side to play the M.C.C. Lord's Schools, after declaring their second innings at 184 for two, won by 214 runs. The principal scorers for the winners were N. B. Hughes Hallett (Haileybury) (83), the late G. W. E. Whitehead (Clifton) (73), M. B. Burrows (Eton) and the two left-handers, C. P. Johnstone (Rugby) and G. P. B. Taylor (Cheltenham). J. H. Amory, the Eton fast bowler, supported by E. T. Buller (Harrow) and Hughes Hallett, dismissed The Rest for 112. Set to obtain 442 runs, M. Howell (74) and the late J. Howell (73) put on 140 for The Rest first wicket, but on their dismissal a collapse occurred, the innings closing for 228. During the match both F. W. Musson (Tonbridge) and G. B. F. Rudd (Westminster) gave up the gloves and retired for repairs to damaged fingers. The vacancy was filled by O. A. Reid (Radley) who gained the V.C. and made the supreme sacrifice in the War. All three "kept" for their respective counties.

Though in last season's match the Lord's Schools were thoroughly representative, The Rest held a big advantage in bowling. With the wicket still on the slow side, runs never came fast, 699 being scored in the two days' play. J. M. Lomas (Charterhouse), with beautiful strokes all round the wicket, played a steady innings of 81, and M. W. Holme (Winchester), who was badly run out, batted soundly. D. H. Macindoe, who swung-in from the off in the last two yards, bowled untiringly-33 overs, 53 runs, 5 wickets. For the Lord's Schools, J. P. Mann (Eton) and Eagar (Cheltenham) alone offered much resistance to the fast bowlers, Craib (Eastbourne) and Hutton (Sherborne). Following on 122 runs behind and with little hope of victory, the batsmen naturally showed caution. Westwood (Marlborough) played a good innings of 58, however, and after Scott (Clifton), Bridger (Rugby) and Pope (Cheltenham) had hit freely Eagar declared at a few minutes to six. Craib bowled 55 overs in the match for 101 runs and nine wickets, and Hutton 60 overs, 95 runs, five wickets. Left with fifty-five minutes in which to get 94 to win, The Rest hit off the runs with seven wickets to spare.

# Schools v. Army.

The Rest having shown such superiority to the Lord's Schools, it was a little surprising to find five places in the Schools team allotted to members of the Lord's eleven. The non-selection of Holme and Scott, captains of Winchester and Clifton respectively, caused some comment. Except for the absence of F. L. Hamilton and Capt. G. J. Bryan, The Army were well represented. Unhappily rain again interfered, the game being drawn with honours even.

On the first day Langley played a delightful innings of 92 not out, finding no difficulty in the bowling and making beautiful wristy strokes all round the wicket. The boys fielded splendidly, Dickinson throwing himself at full length to make two very fine one-handed first slip catches inches from the ground.

The dismissal of The Army twice for an aggregate of 431 spoke well for the bowling. Macindoe was untiring and J. P. Mann mixed his slow deliveries cleverly, but neither Hutton nor Craib, swinging away, bowled with the pace and fire which distinguished them on the two previous days, when they were greatly over-worked.

J. R. Bean and R. G. W. Melsome pulled The Army side together in the first innings when six wickets were down for 92, and Osborne Smith hit freely. The Army owed much to E. S. Cole, who played two good innings and took five wickets for 59.

Young Amateurs v. Professionals.

The feature of the Young Amateurs v. Professionals match was the fast bowling of Nevell, who, taking 13 wickets for 91, was mainly responsible for the defeat of the Amateurs by one wicket. Only N. F. Borrett (Framlingham), D. C. Wilson (Winchester), A. K. Sharp (Brighton), one of the best cover points seen during the fortnight, and R. H. Yeatman (St. Paul's) offered much resistance to accurate and varied bowling, but the batting all round was more enterprising than that of the Professionals. The match finished on an exciting note, for with nine wickets down four runs were needed for victory.

UNDER SIXTEEN AT LORD'S.

The Colts' match produced some excellent cricket, the Lord's XI winning in an innings and handsomely avenging the defeat of the previous year. H. A. Pawson (Winchester), D. G. Clive (Marlborough), A. F. Murray-Johnson (Eton), and D. Hayward (Harrow) showed promising form with the bat, Clive playing a delightfully wristy innings, and D. G. Dussek (Harrow), already of considerable pace, taking in the two innings of Mr. C. F. Tufnell's XI eight wickets for 59. C. J. E. Jameson (Eton) and M. G. Fernan (Uppingham) did able all-round work for the losing side. C. S. C. Farmer (Cheltenham) and P. R. H. Hastings (Stowe) kept wicket well.

## A WEEK AT THE OVAL.

After a month of fine weather, conditions changed in September and in the Oval week took a turn for the worse. True the Surrey boys had time to beat Essex and Middlesex, but no play at all was possible on the last two days of the week against Kent, who, as usual, got together a good side. Essex, for whom J. K. G. Webb (Highgate) played innings of 41 and 46 and N. F. Borrett (Framlingham) and J. M. Pope (Cheltenham) bowled well, were beaten by 112 runs and Middlesex by ten wickets. For Middlesex, R. M. Bagnall (Repton) and F. G. Commings (St. Paul's) both batted admirably, and Bagnall kept wicket in promising style. The Young Surrey Amateurs, who drew with the Club and Ground and played three other trial games, placed a strong batting side in the field, including P. J. Dickinson and D. E. Young (K.C.S., Wimbledon), J. M. Lomas (Charterhouse), T. I. D. Heathcote (Bradfield), and R. G. Carr (Uppingham). S. C. Silkin (Dulwich), who took 17 wickets in the two matches at an average cost of 13.30, and Young were useful spin bowlers, but with the exception of Lomas, at cover point, the fielding and catching, especially in the slips, disappointed. The wicket-keeping of J. C. S. Underwood (Lancing) was good, especially on the leg-side, and Dickinson, who "kept" on Tuesday in the absence of A. H. Beane (Charterhouse), gave proof of his versatility by stumping four and making a very smart catch on the leg side.

Eton, with seven old colours including four bowlers, might well have anticipated an exceptional season, but bad weather and the inability to make big scores resulted in only two matches being won. J. P. Mann, who succeeds his brother in the captaincy this year, was a notable exception, batting consistently throughout the half. He took part in seven matches and played nine innings; 42 v. Authentics, 82 v. Butterflies, 2 and 95 v. Eton Ramblers, 103 (not out) v. Foresters, 23 (run out) v. Charterhouse, 30 v. Household Brigade and 41 and 18 v. Winchester—an average of over 54. Six times he obtained top score for his side and he did his share in bowling. F. G. Mann was a stylish opening batsman, but Kerrison, Jackson, Dickson and Pragnall (12th man in 1935) did not realise expectations. Macindoe bowled untiringly, his in-swing being as dangerous as ever, but he seldom found wickets to suit him. Wild, if inconsistent, was very effective at times as his nine wickets in the second innings of Of the newcomers, England, who Eton Ramblers testified. should have two more years in the eleven, proved himself one of the best wicket-keepers in the Schools, being seen at his best against Winchester, Harrow and Charterhouse when, in five innings, he assisted in the dismissal of 10 batsmen. Of the school matches, that with Harrow was washed out; Charterhouse, for the first time, won narrowly by a wicket, and the Winchester game was drawn. J. P. Mann will have Marsham, Boughey, Barnado and England, who gained their colours last year, to assist him.

Harrow started the season with two old flannels-Carris and Watson-and the side did not develop until late. Carris proved himself a most able captain, and by July got together a team which might have done well at Lord's had they received the chance. Henriques scored the one century of the season and only two batsmen averaged over 30. Carris, himself, played soundly throughout; his 85, not out, against Marlborough, which gave Harrow their sole victory, and 67 out of a total of 105 at Winchester deserve special mention. Watson failed completely in the early matches, but found his form later and should make many runs this year. Late in the season Goodchild became a reliable opening batsman. Lindsay's defence was poor, but he attacked the bowling with some success. Apart from Carris, the soundest batsmen were Collins and Holt. The "out" cricket told another tale. Harrow were a quick and safe fielding side, the returns to the wicket being fast and accurate, and they possessed a quintette of more than useful bowlers. Reunert and Stuart, fast-medium and quick off the pitch, were supported by Carris and Sage, two left-handers who could keep a length, and Watson, too often erratic with his leg-breaks. With Watson, captain, and five other old flannels in Henriques, Holt, Seligman, Stuart and Sage, to form the nucleus, the eleven should soon settle down this vear.

Winchester won an exceptionally large number of club matches and it was gratifying to find so few left drawn. Except for Holme, the captain, who experienced an unlucky year, there was no outstanding batsman, but an enterprising side could score fast and Dixon, a spin bowler, Proud, Wilson and Linton, constituted a varied attack. Adams was the best wicket-keeper Winchester have had for some time and the fielding, or "watching out," reached traditional standard. Holme led the side judiciously and made top score (98) against Eton and (73) against Harrow. Wilson did excellent work as an all-rounder, and Dixon's bowling bore a big part in the victories over Harrow, on their own ground, and Marlborough, for the third successive year. Bird was a delightful strokeplayer and real attacking No. I batsman. The Eton match was drawn, but Winchester nearly always held the initiative and, after leading on the first innings, made 160 for six in two hours and left the visitors to score at the rate of 80 an hour to win. This task proved too severe. The only defeat from a school was suffered at Godalming, where Charterhouse, for whom A. C. Karsten took six wickets for 23 runs, won by six wickets. This year, with Alexander (captain), Proud, Stanning and Dixon staying on, their bowling should cause little anxiety.

In one of the wettest summers in the history of the game, the Rughy batting never really settled down. Time after time the School were put out for small scores, and the bowlers almost pulled the game round. This was the case against the Harlequins, when Bridger, with his spin-bowling, performed the "hat trick," and against M.C.C., when Clark and Kershaw, after the school had been disposed of for 97, nearly brought off a victory. The school matches were unfortunate. Not a ball could be bowled in either of the two fixtures with Clifton; both bowling and batting failed at Repton and against Uppingham, and rain spoiled what promised to be a close game with Marlborough at Lord's. The Old Boys were beaten in an innings, Bridger and Inglis dismissing them cheaply and Marriott (101) and Walford (53) putting up a big stand for the School's seventh wicket. Elliott, who will captain the side this year, was the most consistent batsman and Bridger and Inglis shared the bowling honours. The fielding was good, Walford being brilliant at cover, and Scott, a very useful batsman, showing promise behind the wicket. The prospects for 1937 are bright. In addition to Scott, Elliott will be able to call upon the assistance of five bowlers-Bridger, Inglis, Kershaw, Whitelock and Markland—and Dunnett, who came into the side late.

Marlborough hardly realised expectations. Following a defeat at the hands of Winchester came a draw with Wellington and a reverse from Harrow, who, on a rain-soddened pitch, forced a win

311

thanks to a sound innings by B. D. Carris. Cheltenham had rather the better of a drawn game, and rain spoiled the Rugby match at Lord's. Too much responsibility in batting rested upon Westwood, who played some capital innings, notably 44 and 150 not out v. Marlborough Blues, 63 v. Cheltenham and 52 (out of a total of 76) v. Romany. Anderson could generally be relied upon and Jelf, the wicket-keeper, and Collins made runs, but sudden collapses were always likely. Bailward revealed great promise as a fast bowler, but, unfortunately, he injured his back half-way through the term and could not appear at Lord's. Graham and Fletcher were the stock medium-paced bowlers and Mallinson occasionally looked dangerous. The fielding was generally keen and good, with Westwood, Fletcher and Livingstone outstanding. Besides the four bowlers, Fletcher (captain), Bailward, Graham and Mallinson, Terry, Collins and Comyn are available for this year.

Cheltenham, with Eagar captain for the second year and eight old colours available, to some extent realised the high hopes they entertained, but apart from the weather conditions luck was against them. An epidemic of measles robbed the side of two regular bowlers, Fryer and Geary, a promising young wicket-keeper in Farmer, and two reserves. Not until late in the term, indeed, did Eagar know upon whom he could rely. As in 1935 the team owed much to their captain. If not quite so consistent, Eagar accomplished some exceptional performances, notably against Marlborough, when he made 181 runs for once out and took eleven wickets for 77 runs. Of the four school matches, not one brought a definite result. Pope, with seven wickets for 69 and a partnership of 128 with Bourne, did most to save the Malvern match. The Clifton match was completely washed out and only four hours' play was practicable at Lord's against Haileybury. Eagar kept his side always on their toes and their keenness in the field furnished a real tribute to his captaincy. Outstanding was Stevens, who brought off several wonderful catches at short leg, and the form of the young wicket-keeper, Farmer, who should have three more years in the eleven, was most promising. The batting showed general improvement, with Paget and Britton a well-balanced opening pair. Pope, Stevens, Geary, Bourne, Shelley, Britton, Paget, Farmer and Barry are returning this season, so that Cheltenham's prospects for 1937 are very bright.

Despite the handicap of the weather, Haileybury's expectations of a successful season were to some extent fulfilled. The side was quite up to the average, the batting being solid, the fielding sound and reliable, and the bowling, though not always consistent, capable of being really dangerous at times. Harrison, who will captain the side this year, was outstanding in run-getting, playing an impressive

innings at Lord's. Hildick-Smith, slow-medium right, the most promising bowler, always kept a length. Cantlay, left-hand, gave him great assistance. The games against Eton and Stowe had to be cancelled; little could be done in those with Uppingham and Cheltenham, but Haileybury won a fine victory at Wellington. With Harrison and Hildick-Smith as the mainstays of the eleven and Jupp, Burridge and Barton again available, Haileybury should do well this year.

Clifton suffered more lamentably from the weather than most schools. Rain completely washed out the Rugby match, and not a ball could be bowled against Cheltenham or in the return at Rugby. An improvement towards the middle of June followed a bad start, victories being gained over the Somerset Stragglers, the Old Cliftonians and Gloucestershire C. & G. At Lord's, Clifton stood in a bad position when rain intervened once more. At best, the batting was only moderate; Mutter was very useful, Scott, the captain, showed a considerable advance and Rawsthorne and Smallbones played some good innings, but the "tail" was far too long. Until he made a splendid hundred at Lord's, Eberle was a dismal failure. Of the bowlers, Scott did by far the most effective work, and Firth, medium right-hand, enjoyed a very good spell in the middle of the season, though he failed to adapt himself to the faster conditions at Lord's. A serious weakness in slip-fielding further handicapped the bowlers. Scott, one of the best all-round cricketers in 1936, will continue the captaincy, with Mutter and Gibbs, the wicket-keeper, to assist him.

Tonbridge, winning only three and losing seven of their fifteen engagements, experienced a disappointing season, chiefly because rain prevented any of the inter-school matches being finished. Latham, the wicket-keeper, and Thompson were the most consistent run-getters, but, on the whole, the batting lacked confidence. Parsons played the best innings—68 v. Clifton at Lord's, where Tonbridge held a very favourable position when rain caused the abandonment. Parsons also bowled admirably with clever variation of pace, and he took nearly 50 wickets. The slow bowlers were inaccurate and consequently expensive, though the fielding rose above the average. Cobb, the captain, wisely selected a young side, of whom Thompson, in his fourth year, will succeed him. With Bousfield, an opening batsman, Kidson, a very promising all-rounder, Cox, a left-handed batsman, Wood, a hard hitter, Yeats-Brown, a slow bowler, and Stevens available, a strong eleven should represent the School in 1937.

313

Expected to be a useful all-round side, the Aldenham eleven more than justified this optimism. The record showed six wins, four defeats, and four draws, the last two matches being abandoned owing to rain. Much depended on Blake, the captain, and Oliver, the opening batsman, and one or the other usually helped to give the side a good start. McCorkell found his form towards the end of the season. The majority of the matches were won by exceptionally good fielding. Cryer was a sound and often brilliant wicket-keeper. Four bowlers earned averages of less than 14 runs per wicket. Boaman and Sprent each took over 30 wickets, Oliver (8 for 20 v. Berkhamsted and 7 for 9 v. Old Aldenhamians) came out top and Hobson rendered valuable assistance.

Public School Cricket in 1936.

The weather robbed Ampleforth of two of their school matches and an epidemic played its part in further reducing the time afforded for cricket. Dalglish, an able captain, was in a class by himself. Top of the batting averages, he also took chief bowling honours with 43 wickets for 13 runs apiece. Horner, a colt, slow-medium lefthand, dismissed 38 batsmen for just over 18 runs each. The batting did not reach the same standard as the bowling, but Wells, Redfern and Dalglish all did well. Wells, this year's captain, was the soundest batsman, strong in defence. Redfern, who made the highest score of the season, is also available. The fielding close to the wicket was particularly smart, Lord Mauchline being very safe at cover and Fairhurst, a most efficient wicket-keeper.

With seven old colours left from 1935, it was anticipated that Beaumont would maintain their unbeaten record in school matches for the fourth successive season, but the side failed badly on soft wickets and against spin bowling. They lost to K.C.S., Wimbledon, and to Oratory at Lord's; defeated St. John's, Leatherhead, the Imperial Service College, after a closely-contested game, and, for the first time since 1930, Eton Upper Club 2nd. Burden was far and away the most dependable batsman, scoring 543 runs, including centuries against Douai and the Buccaneers. Cussen and Chamberlain afforded him able support. Ruane, right-arm fast-medium, played a big part in bowling with distinct success, taking 45 wickets for under 12 runs apiece. Goldsmith is the new captain and Pace, Ruane, J. Cashin, H. Cashin (who took Chamberlain's place behind the wicket), de la Mare and Pritchard are also staying on.

Blundell's were fortunate in having only two matches spoiled. Four were won, seven drawn, and three lost. The eleven proved much more successful against strong club sides than against schools. They twice beat North Devon, who fielded several county players, overwhelmed the Old Blundellians, and defeated Heathcoat, for the first time for many years, with the last ball of the match. Devon Dumplings won after the school had made a sporting declaration. The Downside match was ruined by rain; there came an exciting finish against Sherborne after Blundell's appeared to be badly beaten, and Taunton took the honours in two drawn games. The batting was consistently good throughout the season and it is many years since the averages presented such a solid appearance. Drake, the captain and a keen and devoted cricketer, bore the burden of the bowling, but there were too many erratic bowlers on the side. The improvement in cricket at the school was general. The third and fourth elevens enjoyed many evening expeditions over the countryside and always returned triumphant with stories of strange pitches and unbelieveable finishes. Old colours left are Harper, captain, Habgood, Beales, Parsons and Corrigan.

How severely Bradfield suffered from the weather is shown by the fact that no fewer than eleven of their matches were left unfinished, in almost every case owing to rain. Three, including that against Stowe, were abandoned without a ball being bowled. The School defeated Radley (by four runs) and Oriel but lost to M.C.C. and Free Foresters. Some good performances were achieved in the drawn matches, and the side proved strong in batting. On the hard wickets, Heathcote, who has a fine square cut, Wilson and Tucker all looked good. The best innings were played by the captain, Heathcote—154 v. Butterflies and 90 v. Bradfield Waifs; Wilson 80 v. Bradfield Waifs and 69 v. Foresters: and Tucker 75 v. Oriel. Heathcote and G. Paine (54) shared in a partnership of 227 for the fifth wicket against the Butterflies. The bowling was not so strong. but Henshaw, medium-right, should develop effectiveness this year and M. Paine promised well until illness in June kept him out of the field. Templer kept wicket splendidly. With seven old colours under Tucker's captaincy and five others with experience in the first eleven, the team for 1937 should be really good.

Brighton disappointed. They had the makings of a good side, but owing to the weather and an epidemic of mumps never settled down. Two of the eleven matches were won, four lost, and five drawn. The batting was above the average and Sharp, a fine coverpoint and a batsman of high promise with excellent footwork and good wrists, Simmonds, Wallace-Cox and Grose, should have ensured scores of over 200. Hobley and Braybon, both fast-medium, were a capital pair of opening bowlers, but they needed fast wickets and seldom got them. In the school fixtures. Brighton lost by three runs to St. Paul's and beat Epsom by seven wickets, the games with Dulwich, Lancing and Christ's Hospital being left unfinished.

Bromsgrove never recovered from a bad start. Youth and inexperience accounted for many of the batting failures, and the inability of T. L. G. Jones to play regularly made a great difference. Hake, the only batsman of much promise, should do well this season, when he will captain the eleven. He will have the assistance of Gordon-Smith, Bland, Field, Russell and Priest, and, with a little more luck, the team should make up for some of the failures of past years.

canford lost only to I.Z. and M.C.C. and were rather lucky to escape defeat from the Dorset Rangers, but they beat Weymouth College, King's (Bruton), Bournemouth, and R.T.C. (Bovington); rain deprived them of a win over Victoria College, Jersey. Yeomans, in his fifth year in the eleven, proved an excellent captain and all-rounder. The batting, with Powell and Whelon very consistent, and Steed, a left-hand hitter, seldom failed, and Black, really fast, Yorke-Long and Yeomans gave variety to the bowling. The fielding, as in past years, was competent and keen. Only Powell. Pennock and Huggins stay on, but there are some promising colts coming along.

Able to call upon the most powerful team for many years, Charterhouse, in a memorable season, gained victories over Eton, who had not been defeated by any school since 1920, and, for the first time since the War, over Winchester. No result was reached in the matches against Harrow, Westminster and Wellington, the last two being spoiled by rain. Lomas, honoured with the captaincy of the Public Schools eleven against the Army, if not so consistent as in 1935, wound up with 94 not out and 98 not out against Harrow, 129 v. Old Carthusians, and 117 not out v. Westminster. In the course of the last innings he completed his 2,000 runs for Charterhouse. The eleven played together as a side. Among many valuable innings, P. R. Crompton, at No. 3, included a century against I.Z. and fifties against Eton and Winchester. Lubbock, scoring 556 runs, made an excellent debut; he should be of great service to Charterhouse in the future. The batting was reliable all through, and Dunbar, Karsten, Pearce, Lubbock and Hughes, constituted an effective attack. Dunbar was the most consistent, but Karsten's six for 29 against Winchester and Pearce's seven for 39 v. Old Carthusians were outstanding performances. The fielding was good, Lomas setting a fine example and A. H. Beane developing into a capable wicket-keeper. The only match lost was against Trinity, Oxford, when the school declared at 219 for four and the visitors won by three wickets with five minutes to spare. Weeks succeeds Lomas in the captaincy and Hughes, Lubbock, J. A. Crompton, and P. F. Beane also remain.

With a young and inexperienced eleven, **Christ's Hospital** failed to win a match. Terry, despite the cares of captaincy, played many useful innings, and as seven of the side stay on, prospects are brighter for this year. Mason succeeds Terry as captain, and Cotton, Walenn, Dodd, Lilley, llett and Holloway will be available.

Though they won only four matches and lost five, **Cranleigh** showed great improvement. Undefeated in School matches, they beat Mill Hill and Epsom and drew with Christ's Hospital and Highgate. The win over Free Foresters was the outstanding performance in Club matches.

Dover, favoured with better weather than fell to the lot of most schools, won eight of their twelve engagements and lost only to Cranbrook, when the fielding, for once, was at fault. They experienced one great disappointment, Wass, one of the previous year's eleven, after demonstrating his value to the side in the first few matches as an opening fast bowler and free-hitting batsman, leaving to take up an appointment. His successor, Mott, a tall boy of fifteen, did well, he and Marley, slow left-hand, proving a very useful pair. The discovery of the term was Gordon, another young left-hander, who pitched the ball well up and broke from the off sharply in addition to his natural turn from leg. Barrett, who will be captain, Davies, a young player of great possibilities, de M. Bessey, Mott and Gordon should form the backbone of another successful side this year.

Downside, strong in batting, enjoyed a fairly successful season under the captaincy of A. D. Turnbull. Three of the matches were won, five drawn, and three lost. Centuries were put together against Blundell's by Masters, and against King's, Bruton, by Turnbull. Addington hit up 69 in just over an hour against Emeriti and fifties were scored by Pollen, a left-hander, Rawlinson and Radcliffe. The fielding was good and Hemming was an efficient wicket-keeper, but the bowling proved weak until strengthened by the inclusion of Camacho and Sheridan, the last-named a young fast bowler who should do well this year. Masters will captain the side and, as he will have at his disposal Addington, Pollen, Rawlinson, Hawkins, and the two principal bowlers, Camacho and Sheridan, the prospects are cheery.

The record of **Dulwich**—one victory and ten defeats—was poor. The matches against Bedford and St. Paul's were lost and rain interfered with the Tonbridge and Brighton games. The one success was against Mill Hill, when Silkin, Staniforth, Shirreff, and Collingwood scored at a great pace. All eight club matches, mostly against

316

powerful teams, ended in defeat. In an exciting finish against C. S. Marriott's XI, the visitors won by three wickets off the last ball. Silkin played several good innings, but the batting was inconsistent. The bowling possessed strength and variety, Silkin (leg-breaks and googlies), Shirreff (fast-medium), Jones and Staniforth forming a lively quartette. Silkin proved very effective for the Young Surrey Amateurs at the Oval. The fielding improved immensely with hard practice. Shirreff succeeds Silkin in the captaincy and Grav. Staniforth, Collingwood, Williams, Bartlett, a promising left-hander. and Jones are again available.

In common with most other schools, Durham suffered from weather interference which prevented play against Ampleforth and St. Peter's. Giggleswick were beaten on their own ground by 97 runs, and Sedbergh won a most exciting game by two runs. The young Durham side fared better than for some years, the most pleasing feature being a welcome revival of confidence. Buttle, who will be captain in 1937, was the best all-round cricketer, gaining a batting average of over 40. He played a fine innings of 84 at Giggleswick and shared the wickets with Bouchier. Bailey, who has gone up to Oxford, was a useful opening batsman and reliable stumper. Buttle will have six old colours to help him-Hall, Grant, Orwin, Forster, I. S. Turnbull and Bouchier.

Eastbourne, gaining victories over Sussex Martlets, Free Foresters, King's Canterbury, and Lancing, can look back upon a good season. The win over the Foresters was the first in the thirteen vears the match has been played. Craib, who played for Public Schools against The Army, was a very promising fast bowler with a dangerous swing, and a useful batsman. In the match against St. Edward's at Oxford, D. P. Hepburn, who should make many runs this year, put on 50 with Williams for the last wicket. Horton, top of the batting averages, is captain this year and there remain P. F. and D. P. Hepburn, W. H. and M. A. Girling, both left-hand batsmen, and the latter a useful bowler, and the spin-bowler, Empson.

With seven old colours, Eliesmere looked forward to a good season and, after the loss of three of the first four matches, these expectations were realised. Eight of the remaining twelve matches ended in decisive wins. Rigby, the captain, headed the batting figures with an average of 43, his best score being 116, not out, against Merchant Taylors', Crosby, and he topped the bowling with 46 wickets for just over seven runs apiece. He developed considerable speed in his bowling and was an outstanding personality. The development of the younger players augurs well for 1937.

Epsom won three matches, drew five and lost five—a considerably better record than that of the previous season, when nine matches were lost. The team was young and seven of its members will be back at school this summer. The results might well have been better, for the matches against M.C.C. and Christ's Hospital were drawn definitely in the school's favour. In other school matches, Epsom drew with Brighton, Cranleigh, and K.C.S., Wimbledon, and defeated Merchant Taylors' and St. John's, Leatherhead, the lastnamed by one wicket in a thrilling finish. As Hubble and Thompson, the two most successful batsmen, Wilkes, Smyth, Knaggs, Dyball and Johnston remain for this season, the side should do well.

As most of an excellent 1935 team staved on, including G. R. Abbs, the captain, who impressed very favourably at Lord's against the Young Professionals the previous August, Giggleswick hopes ran high. Then unfortunately Abbs, on whom so much of the all-round strength depended, left, and the side appeared to lose confidence. They beat St. Peter's, York, in convincing style, but lost heavily to St. Bees and Durham, two strong school elevens, and to Leeds in an exciting game by one run. Several of the side remain for this season, and provided they reach expectations, prospects are encouraging.

The results of Highgate read: Won 6, lost 6, drawn 5 and tied 1. They beat Mill Hill and Felsted, played favourable draws with Cranleigh and Aldenham, and a tie with King's, Canterbury. Tucker, J. K. G. Webb, and Monk were the mainstays of the batting, all three having averages of over 30. All the others made runs and the batting failed badly only twice in the term. M. H. Webb, Middleton, Thornton and Marton bowled consistently. Outstanding performances were 165 v. Felsted by Tucker, 122, not out, v. Bradfield Waifs by J. K. G. Webb, and seven wickets for 39 by Morton against a very strong Old Boys' team. J. K. G. Webb will captain the side this year with M. H. Webb, Thornton, Morton, Harris, and possibly Chapman to support him.

K.C.S., Wimbledon won seven matches, lost three and drew four. The season was noteworthy for the outstanding performance of Dickinson, who scored 1,000 runs in the term, and assisted The Rest v. Lord's Schools and Public Schools v. The Army. In these two matches, he distinguished himself at first slip by bringing off six brilliant catches. Young, who led the eleven for the third year, took 60 wickets with his leg-breaks and captained the Young Amateurs of Surrey in the week's cricket at the Oval. E. Dann will probably take over the captaincy, and will have the assistance of Dickinson and other members of the eleven. Dickinson, who kept wicket the previous year, developed into a useful opening bowler in 1936, and took many wickets.

Winning two of the inter-school matches, drawing two, and losing one, **King Edward's, Birmingham**, enjoyed a satisfactory season. They also beat the Old Edwardians for the first time for many years. Twiss, an aggressive left-hand batsman and capable wicket-keeper, led the eleven with skill and judgment, and Farr, who played a fine innings against Denstone, became a useful change bowler, but the need of more pace bowling was felt. Wilkins, Drew, a promising young batsman and excellent fieldsman, and Freeman, all did well.

King's, Peterborough, experienced their most successful summer since the War, and two members of the team appeared for the county second eleven. Much credit was due to three players. The captain, R. Laxton, scored 385 runs in eleven innings, with a highest effort of 100 not out, and took 26 wickets at an average cost of 7.65. R. A. Hughes averaged 41.25 for eleven innings, three times not out, and J. M. Fisher claimed 37 wickets, average 6.43.

King's, Rochester, showed "in-and-out" form. The first two matches against the Headmaster's XI and the Royal Marines resulted in decisive victories, the old colours showing their best form and Greenfield, the captain, playing not out innings of 72 and 56. Greenfield followed with another not out innings of 40 against The Mote, but then things went wrong for a time, the newcomers lacking experience. The eleven finished the season by winning five of the last six matches and losing the other by one wicket to St. Edmund's at Canterbury.

Malvern remained unbeaten last year, though they had the worst of a drawn game with Free Foresters when rain stopped play. At Cheltenham, a close struggle ended with honours easy. At Shrewsbury, Farnsworth (3 for 12) and Rogers (3 for 16), dismissed the home side for 69 and the runs were obtained by capital batting for the loss of one wicket. Repton declared their second innings at 198 for six wickets, and left the home side 220 to get in 110 minutes. This they did one minute from time for the loss of five wickets. Maudsley playing a fine innings of 103. Manners, a left-hander who succeeds Greatbatch in the captaincy, was the most successful batsman, averaging 44. Rogers, medium-paced right-arm, who took 22 wickets at a cost of 18 runs each, bore the burden of the bowling. Denton-Thompson, the wicket-keeper, Norton, a slow left-hand bowler, Beeson, a fine field, and Shakespear, a promising all-rounder, will assist Manners this year.

Merchant Taylors' did not have a very successful season, there being a lack of good bowlers and an inability to score quickly when the necessity arose, but the eleven were young and inexperienced and will nearly all be available again this year. The Taylors lost badly to Epsom and Berkhamsted, and drew the remaining School matches, those against King's, Canterbury, Imperial Service College and Aldenham being rather in favour of the School. Kettle, again captain, will have Hart and Roper from last year's colours with him. Fox, Wood, Maxwell, Harold, Wenyon and Lawson, who played in most of the School matches, will also be riper.

Mill Hill, who lost eight matches and drew four, were greatly handicapped by an outbreak of measles at the beginning of term. Considering that they held the upper hand in each of the drawn games and lost to Highgate by no more than one wicket, their record scarcely did the side justice. Young, the captain and most consistent batsman, headed the averages, and Kirk bore the burden of the bowling. Webster, who succeeds Young, will have under him three old colours in Dexter, Goldman, and Carter, the last-named a brother of the Old Millhillian captain.

The Oratory are fortunate that Connaughton, one of the best slow spin bowlers the school has ever had, is to captain the side for another year. He took 71 wickets for just over 12 runs each, and, largely owing to him, only two of the last thirteen matches were lost. Coulston was the mainstay of the batting and Hamel-Smith and M. C. Bodenham often gave able support. Good all-round cricket, keen fielding, and the bowling of R. W. Bodenham and Connaughton brought about the defeat of Beaumont at Lord's. Hurford-Jones and M. C. Bodenham stay on with Connaughton.

The **Oundle** eleven were useful, though hardly so successful as some in recent years. The batting was more enterprising than reliable—against Leys they scored 227 in two hours. The bowling lacked variety, but the fielding was outstanding. The side lost badly to Uppingham and narrowly to Bedford (the latter's first victory over Oundle since the War), beat Leys and drew with Stowe in the annual match at the Oval. Nicholls, most attractive in style, and Lewis were the chief run-getters, and Llewellyn, the captain, Martin, Cowen, a most useful all-rounder, and Butler, did most work in bowling. Butler will probably be captain this year and should have with him Nicholls, Lewis, Ringrose, and Payne.

Radley were a better side than is suggested by their results, two matches won, three lost, eight drawn. They drew with Stowe and Westminster, beat Sherborne by four wickets and lost to Bradfield in an exciting finish by four runs. The match with Lancing could not be played owing to illness. Falkiner, after starting badly, put together a series of big scores; Sell, as he showed against Stowe and Bradfield, could always be depended upon at a crisis, and most of the others made useful scores. The best gifted player on the side, however, was Mackarness, a left-hander with a lovely style, but of uncertain temperament. The attack was steady. Birks, fast-medium, bowled with little luck, and Falkiner, slow-medium, could keep a length for hours, but the fielding, if brilliant at times, lacked consistency, too many catches being dropped. Willcocks, the captain, kept wicket admirably: he dismissed 19 batsmen and gave away only 15 byes during the season.

Birks will captain the side this year, with Mackintosh, a useful left-hand bowler, Mackarness, Sell, Grosvenor, and possibly Falkiner, to help him.

The Repton eleven were rather above the average of recent years, and though they lost to Free Foresters, M.C.C. and Pilgrims, they might well have secured a better record than four wins, four defeats and four draws but for interference by the weather. As regards the school matches, no play took place on the second day against Uppingham, but, at Shrewsbury, Repton won a close match largely because of effective fast bowling by Lowcock, who took eight wickets for 28. At Malvern, Repton declared, leaving their opponents 220 to get in just under two hours, and, after a great display of hitting, Malvern got the runs one over before time, while in the last match Repton beat Rugby. The batting on the whole was sound, Willatt, Hodgkinson and Bagnall being the most consistent scorers. Davenport, fast-medium right-hand, was the most reliable of the bowlers, but quite the most outstanding player on the side was Bagnall, the captain, who showed himself to be a wicketkeeper of really high class. Three old colours remain, Fisher, this season's captain, Barnett and Hughes.

Except for a lamentable period at the beginning of June, when they lost to Sedbergh and Shrewsbury, Rossall fared better than for some years. Of the thirteen matches played, five were won and five lost, a notable victory by 137 runs being gained over Cryptics. The batting honours went to Sharp, who seldom failed to give the side a good start. He played innings of 78 v. Cryptics, 59 and 51 (not out) v. O.R.'s and 50 v. M.C.C. Others who did well were Heaton and Maconchy. Heaton, captain for 1937, made 66 (not out) v. Pirkenhead Park, and 56 v. O.R.'s; Maconchy, who missed

the early part of the season, showed good form in innings of 53 v. Cryptics and 88 v. M.C.C. Hughes bowled his out-swingers well and took 40 wickets at an average cost of 20 runs. He was supported by Hesmondhalgh, fast-medium, and Heaton, left-hand. Heaton will have the assistance this year of K. C. Smith, a promising wicket-keeper and left-hand bat, and Major, a useful batsman.

St. Edward's won five and lost five of their seventeen matches. In thrilling finishes, they defeated Bromsgrove and Eastbourne, but the match with Campbell College, Belfast, was ruined by rain. Greaves, the captain, headed the batting averages and the main burden of the bowling was borne by Godley and Henderson. Godley, who seldom enjoyed conditions that favoured his fast deliveries, took 46 wickets at a cost of just over 11½ runs each, and with good support in the field had much to do with the success of the eleven. Henderson, Ironside, Little, Churcher, Waldron, and Tobin are available for this year.

St. Bees, with their best team for many years, won six and drew three of their twelve matches. A strengthened fixture-list resulted in an improved standard of play. The best wins were gained against Birkenhead Park and Giggleswick School, the latter being beaten on their own ground by eight wickets. Cowen, the captain, a good left-hand bat and medium-pace right-hand bowler, experienced a successful season and Akam, another left-hander, who has gone into the Navy, also did well. Kempston batted brilliantly throughout and, with an aggregate of 580 runs and an average of 40, broke a 25-years-old record. Five members of the eleven remain for this season.

St. Lawrence, whose early form suggested good things to come, did not realise expectations. The failure of their young side on wet wickets was, no doubt, due largely to lack of experience. They lost to Dover and King's, Canterbury, beat St. Edward's, Sutton Valence and Whitgift, and had the better of a drawn two-day match with Berkhamsted. The most consistent scorer was Hambler, and Clark, Gardner and Colley all did well, but the strength of the side lay in the bowling. Colley, the captain, bore the leading part in the attack, with chief assistance from Gardner and Drayson and, in a lesser degree, from James and Larsen. With Colley captain for the second year, and six other old colours, including all the bowlers, there is every prospect of a satisfactory season.

St. Paul's won their first six matches and finished up with ten victories, five defeats and only one unfinished game—a capital record. In the majority of cases, the school batted second and the question of playing for safety never arose. Two players were largely responsible for the success: Yeatman, who opened the innings and scored 650 runs, including three centuries, and Totton, a slow-medium left-hand bowler who took 55 wickets at an average cost of less than nine runs each. Yeatman was well supported by Commings, the captain, Reid and Robinson, and Totton by Russell, a rather faster left-hander (35 wickets for 12.03), Yeatman (28 for 14.6) and Commings (25 for 15.6). The fielding was well up to standard and Mischler, who played for the Colts at Lord's, showed promise behind the wicket. This year, Yeatman will be a tower of strength all round, assisted by Reid, Mischler, Boyden, Smith, Higgens, Totton and Russell.

Of the nine matches St. Peter's, York, were able to play—three, including those against Durham and Worksop, were abandoned through rain—they won three, lost four, and drew two. Both drawn matches should and would have been won had a little more enterprise been shown in the attempt to dislodge a stubborn lastwicket pair. The side did well when beating Ampletorth and Leeds, but collapsed unaccountably against Giggleswick. Lockwood was the mainstay of the side both in batting and bowling, an aggregate of 41 wickets at an average cost of 12.1 in nine matches being an outstanding performance. Newman, the captain, also batted consistently well for an average of 43, hitting a century against Bootham, but these two players received little support from the rest of the side. As all the eleven except Graham (captain) and Davin have left, this season's team is likely to be young and inexperienced.

In startling contrast to that of most of the Schools, Sedbergh again met with marked success, winning nine and losing only one of their twelve engagements. They were lucky enough to start with seven old colours and an unusually fine May enabled the side to settle down early. The outstanding merit of the team lay in fielding. The three school matches were all won, Rossall and Stonyhurst with considerable ease and Durham, after a closely contested game, by two runs. Authentics, Northern Nomads and Grange were also defeated. They were not a side carried by one or two individuals, but a team, admirably captained by Balfour-Paul. Only Watson and Edwards are staying on, but because of the success of the Colts and the second eleven, both of whom won all their matches, the future can be faced without anxiety.

Sherborne enjoyed a successful summer. They beat Blundell's and Downside, headed Tonbridge on the first innings, had much the better of a high-scoring match with Westminster, and lost to Radley by four wickets. The batting was good and enterprising. The bowling, except for Hutton, fast right-hand, was not impressive, but Bashford and Tasker should train on for this year. The fielding, except in the slips, was really good, with Glennie a first-class wicket-keeper. Robinson captained the side well, and despite a damaged shoulder, which prevented him from bowling and throwing, set a splendid example in the field. Hutton, who took 36 wickets for less than 14 runs apiece and made 497 runs in eleven innings, was the best all-round cricketer who has appeared for Sherborne for a long time. Glennie succeeds Robinson in the captaincy and Hodgkinson, Boissier, Basford, Chigwell, and Tasker all return.

Shrewsbury had a young side in 1936. Blagg, the captain, who kept wicket admirably throughout the season, could call upon only two old colours, Pooley, a fast-medium bowler, who fared particularly well towards the end of the term, and Groves, a useful allrounder, very successful with slow-medium swingers. Distinctly good bowling generally succeeded in dismissing the School's opponents for moderate totals, D. H. Crawford and Shaw providing variety. The fielding was generally satisfactory, but it was a bad season for batting, though Blagg, Rothwell (left-hand), Groves, Lane, Shaw, and Bowring played useful innings. M. Crawford, Baird and Kingsford, all under 16, ought to be good this year, when Blagg will again lead the side, which also includes Groves, D. H. Crawford and Bowring.

Stonyhurst had to abandon three matches owing to rain, and of the other eleven, three were won and eight lost. Poor batting was the real cause of the failure, Moreton alone showing consistency, though Spiers, who came late into the team, and Murphy at times revealed promise. In comparison, the bowling was good, and the best performance of the season was the defeat of Liverpool by one run after Stonyhurst had been dismissed on a difficult wicket for 64. Storey bowled excellently, taking 38 wickets for 10 runs each, including seven for 19 v. Liverpool. Murphy and McQuaid supported him soundly. This season's captain will be Moreton, and six others of last year's eleven will be available, including old colours in McQuaid and Kershaw.

The **Stowe** eleven revealed no really weak link. The batting averages show no tail to the side and apart from the chief bowlers, the two Robinsons, every one made runs at one time or another. Langley again had a glorious season and crowned a fine school career

with an innings of 98 (not out) for the Public Schools against The Army at Lord's. Of the others, Sherrard, Hope, Buchanan, Lynch-Staunton, Munro and Earle were consistent scorers. The fielding, under the inspiring captaincy of Langley, was excellent; Spencer again kept wicket with success. The bowling was not always reliable, but the Robinsons, right and left-hand, not related to each other, made a very good opening pair. In school matches, Stowe beat Westminster by an innings and 85 runs and drew with Oundle, while Radley were saved by the clock. Bradfield and Haileybury had to scratch. The match with I.Z. ended in a tie, as mentioned before; five matches were won, two lost, three drawn. Langley is succeeded in the captaincy by Sherrard, and Munro, M. P. Robinson, Buchanan, Earle, and Frankenburg are staying on.

Taunton would probably have improved upon a fair season but for a visitation of mumps which interfered with practice and, in some games, deprived the eleven of several players. R. B. Harris, the one old colour left, disappointed, and not until the end of term did he reach his best, but he handled his bowling cleverly and set a splendid example in the field. He goes into the Air Force. E. R. Hill and P. M. Bennett did best work in run-getting. Two slow spin-bowlers, A. P. Henderson (right) and D. L. Walmsley (left), and a quickish bowler, J. R. E. Evans, all of whom will be back again in 1937, gave variety to the attack. Prospects for this season are bright, because seven of last year's team, most of the successful second eleven and all the colts will be available.

University College School, who won three, lost three, and drew seven of their fixtures, had to rely largely upon two players, Wreford, captain for the third year, and Drury. Wreford obtained three centuries, one against M.C.C., and Drury, a fast-medium bowler, took 43 wickets for just over 14 runs apiece. The climax to a satisfactory season came in an exciting draw with M.C.C., who, at the drawing of stumps, with nine wickets down equalled the school's total of 235. Drakeford, who succeeds Wreford, will have the assistance of Warnock, Asquith and Gibbon.

Uppingham did very well, defeating Shrewsbury, Rugby and Oundle, and drawing with Repton and Haileybury. The batting was never really distinguished, but everybody could make runs and there were some hard hitters capable of helping the side to make recovery. The bowling was steady, especially that of D. W. Gillespie and Pershke, who never once found a wicket to suit them; but the

strength of the side lay in the fielding and the captaincy of D. W. Gillespie. Spencer, at cover point, and Neathercoat, in the slips, stood out, and the team as a whole gave a general impression of alertness. P. Gillespie, the new captain, will have the assistance of Carr, who headed the batting averages, Taylor, and Ellerton and Bland, two change bowlers.

In a depressing season, six of Wellington's seven drawn matches were abandoned without even one innings being completed. Small wonder that the eleven never really settled down into a fighting unit, for all through they were short of match practice. Of the five inter-school matches, those with Marlborough, Bradfield, and Charterhouse were ruined. The Haileybury fixture suffered considerably from the weather, the players being in and out of the pavilion throughout the two days, but it provided an interesting struggle. Put in to bat, Haileybury broke down against the medium-paced off-breaks of Hunter, but they did better in the second innings and Wellington, set 169 to get, collapsed for 39. The Westminster match, won by Wellington by four wickets, was favoured with the one fine day of the season at Wellington. McCall, who gained his colours in 1934, Parker, Pedraza, Eddison and Goodall are probably remaining for this year.

Westminster disappointed, the more so as the side contained some good batsmen. A poor start in the early games resulted in loss of confidence. The Stowe match was a disaster, Westminster being put out for 47 in the second innings, and Wellington won by four wickets a game in which nearly 500 runs were scored in one day. An innings of 138 not out by Gawthorne saved the school from a disastrous defeat at Sherborne, and thanks to a not-out innings of 119 by Richardson, the captain, a favourable draw was played with Radley. The two-day match with Charterhouse, in which J. M. Lomas scored 117 not out for the visitors, was washed out. Stocker succeeds Richardson in the captaincy, and Boyle, Cunliffe, Gawthorne, Wilkinson and Sinclair are also available.

Although Loretto lost all the school matches, they shared in some very close and exciting finishes. The batting of Gillespie, Little and Cavesdale was always consistent, but the "tail" generally failed to rise to the occasion, especially in school games. The slow bowlers proved the most effective, but the bowling as a whole was weak. Little proved a safe wicket-keeper. Gillespie will be this year's captain, and Waterhouse, Lee, McNeill, Bell and Dewar also remain.

OXFORD CAMBRIDGE

Merchiston Castle were fortunate in being able to secure a definite result to all their school matches. They defeated Glenalmond, Loretto and Edinburgh Academy and lost to Fettes and George Watson's. W. W. Yellowlees, now at Edinburgh University, headed the batting averages for the second season and Herd carried off the bowling honours. Ballantyne, Webster and Gruer will be available for this year.

Trinity College, Glenalmond, beat Edinburgh Academy, George Watson's and Glasgow Academy, and narrowly lost close contests with Fettes and Merchiston. The Loretto match could not be played. Gregoire, a fine all-round cricketer, was an excellent captain, and Anderson, his successor, played many delightful innings, being at his best in school matches. Towards the end of term, the batting all through became both sound and aggressive and the fielding good. Tennent kept wicket well. Munro, Douglas, Mann, Browne and Brown are staying on this year.

George Watson's put in the field one of the most successful elevens in the history of the school and, with six old colours left, should again do well. They won eight matches, including those against Merchiston, Fettes and Loretto, and suffered defeats from Edinburgh Academy and Glenalmond. D. H. Dewar, the captain, finished at the top of both tables of averages, scoring 410 runs and taking 47 wickets for 7 runs apiece, including 8 for 15 v. Fettes. Jamieson, who succeeds him in the captaincy, totalled 471, with an average of 33. Cater scored 100 not out against Loretto. Laing took 46 wickets for just over 8½ runs each. In addition to Jamieson and Cater, there remain Stephen, M. R. Dewar, Nimmo and Forrester.

I wish to thank the many friends and correspondents without whose kind assistance these notes could not have been written, and regret the absence of information from one or two schools.

The following are the destinations of some of the members of last year's elevens:—

Eton		 	OXFORD.	CAMBRIDGE. F. G. Mann
			D. H. Macindoe	J. B. Dickson J. B. Jackson R. G. G. Kerrison
Harrow		 	R. C. Goodchild	B. D. Carris P. A. R. Lindsay
Winchest	er	 	D. T. L. Bailey	D. C. Wilson
Rugby		 	C. M. MacLehose	

		OXFORD.	CAMBRIDGE.
Marlborough Cheltenham		H. G. Jelf A. R. W. Livingstone E. D. R. Eagar	J. C. N. Westwood P. F. G. Fane G. L. Reynolds
Haileybury Repton			R. M. Childs H. J. L. Marriott R. L. Lowcock M. Barber J. Davenport J. A. T. Sharp
Malvern		B. Greatbatch	v. 11. 1. 111111 p
Wellington	7	G. T. G. Hunter	S. O. I. O'B. Dawson
Charterhouse Uppingham		J. M. Lomas P. R. Crompton A. H. Beane G. W. E. Ray	D. W. Gillespie
Clifton		A. C. Spencer	I. A. Wallace
Tonbridge		D. H. Lloyd Morgan	T. C. Cobb
Sherborne		G. G. Lilley	
St. Paul's Dulwich	×	J. M. C. Vivian	F. G. Commings F. H. Terry S. C. Silkin
Rossall		J. P. Maconchy	L. J. Hesmondhalgh J. D. Boyd J. R. S. Allatini
Bradfield Stowe Oundle			A. R. G. Meats R. G. Wilson F. E. Templer J. D. A. Langley P. R. Spencer P. S. Cowen
Mill Hill		R. S. S. Young	
St. Lawrence		D. I. A. Hamblen	D. J. V. Clark
Canford			D. R. C. Steed
Eastbourne		J. A. F. Sewell J. S. Tothill	J. D. G. Craib
Radley		J. L. I. Cranston	N. W. Nicholson E. R. J. Richards
St. Bees		T. J. Cowen D. N. F. Kempston	17. II. 9. Initialities
Gigglewick		R. M. Marshall	
Durham		A. J. Bailey	
Stonyhurst Ampleforth		E. M. Murphy J. R. Spiers Lord Mauchline	
Bromsgrove		E. E. Key	T. L. G. Jones

		OXFORD.	CAMBRIDGE.
King's, Rochester			J. A. Clay G. C. Greenfield
K.C.S., Wimbledon	200	D. E. Young	
Epsom			I. N. Darbyshire
Aldenham			J. P. Blake
Merchiston Castle			T. B. Herd
		WOOLWICH.	SANDHURST.
Winchester		M. E. H. Linton	H. A. W. Adams
Malvern		F. L. Rogers	
Tonbridge			M. Latham
Canford			B. L. M. Murphy
Clifton		L. J. B. Firth	
Wellington		E. J. M. Perkins	A. G. Roberts Hon. L. C. F. Shore H. M. Makgill- Crichton
Ampleforth			D. R. Dalglish

E. N. Mooney. J. A. Fuller

To Cranwell: A. M. Murphy (Canford).

Beaumont

# PUBLIC SCHOOL MATCHES IN 1936.

For Eton v. Harrow, Rugby v. Marlborough, Cheltenham v. Haileybury and Clifton v. Tonbridge, see M.C.C. section.

	INDEX.	
Brighton v. St. Paul's Bromsgrove v. St. Edward's,	554   Repton v. Uppingham	548 559 546
Oxford Charterhouse v. Eton Charterhouse v. Winchester Cheltenham v. Malvern Christ's Hospital v. Whitgift	549 Sedbergh v. Rossall 547 Sherborne v. Downside . 548 Sherborne v. Westminster 559 Shrewsbury v. Malvern .	545 561 558 542 553
Downside v. Blundell's Dulwich v. Tonbridge	563 Shrewsbury v. Rossall	546 548 551 549
Harrow v. Charterhouse Harrow v. Winchester Highgate v. Cranleigh King Edward's, Birmingham v.	558 Tonbridge v. Sherborne	542 543 562 557 550
Denstone Marlborough v. Cheltenham Marlborough v. Harrow	552 Wellington v. Charterhouse 544 Wellington v. Halleybury 545 Wellington v. Marlborough 541 Westminster v. Charterhouse	564 560 541 563
Oratory v. Beaumont Radley v. Bradfield Radley v. Sherborne Repton v. Rugby.	564 Westminster v. Stowe	543 555 540

## WINCHESTER COLLEGE v. MARLBOROUGH COLLEGE.

Played at Winchester, Tuesday, May 26.—Winchester, batting consistently, gained a splendid victory by six wickets. Dixon (seven wickets for 61 runs) bowled well for Winchester.

bowled well for winchester.				
MARLEOROUGH P. F. G. Fane c Holme, b Dixon 40 G. D. Anderson c Adams, b Bailey 47 H. G. Jelf c Wilson, b Dixon 26 G. E. Fletcher lbw, b Linton 1 P. N. L. Terry st Adams, b Dixon 23 R. M. Argyle c Bird, b Dixon 11 P. R. W. Wickham lbw, b Holme 11	D. I. Graham not out			
WINCHESTER COLLEGE.				
D. T. L. Bailey lbw, b Mackay 43	W. B. Alexander			

M. W. Holme run out 25 J. Stanning lbw, b Mackay 4 M. E. H. Linton not out 43 D. H. Garrow not out 39 Byes, etc 8	D. T. L. Bailey lbw, b r. A. Bird c Wickham	. b Fletcher	46
M. E. H. Linton not out	M W Holme run out		25
D H Garrow not out 39	T Stanning Ihm h W9	ickav	130
D H Garrow not out 39	M. E. H. Linton not	out	45
Byes, etc	D H Garrow not out		99
	Byes, etc		Ö

W. B. Alexander D. C. Wilson R. B. Proud H. A. W. Adams G. E. Dixon	did not bat.
---	--------------

## MILL HILL SCHOOL V. HIGHGATE SCHOOL.

Played at MILL HILL, Wednesday, May 27.—Highgate won a close match by five runs.

## MILL HILL SCHOOL.

## HIGHGATE SCHOOL

Hononia	ECHOOD:
S. J. Tucker lbw, b Fracis       1         J. K. G. Webb c Fracis, b Kirk       2         L. V. Monk, b Kirk       17         J. K. C. Scott c Kirk b Fracis       0         P. L. Cranford b Kirk       5         K. C. Boosey c Knight, b Young       52         G. G. Harris b Fracis       3	M. H. Webb b Kirk

## WELLINGTON COLLEGE v. MARLBOROUGH COLLEGE.

Played at Wellington, Saturday, May 30.—Hon. L. C. F. Shore batted well for Wellington, but rain spoiled the match.

## WELLINGTON COLLEGE

F. D. B. Eddison b Bailward 34 S. O. I. O'B Dawson c Terry, b Bass 4 H. I. M. Makgill-Chrichton c and b Bass 3 A. G. Roberts c Jelf, b Mackay 16 A. L. McCall b Bailward 40 G. J. W. Pedraza not out 52 Byes, etc 20  Six wkts. dec. 204	J. M. Perkins J. H. L. Parker K. M. Goodall
--	---

## MARLBOROUGH COLLEGE.

P. F. G. Fane not out J. C. N. Westwood b Parker H. G. Jelf not out Byes, etc One wkt.	6 25 10	G. E. Fletcher P. N. L. Terry G. D. Anderson R. C. Bass T. H. Harris P. A. Wickham R. Mackay J. T. Ballward	did not bat.
--	---------------	---	--------------

## TONBRIDGE SCHOOL V. SHERBORNE SCHOOL

Played at Tonbridge, Tuesday, Wednesday, June 2, 3.—Owing to rain it was agreed to decide the match on the first innings. Tonbridge declared with eight men out, but Sherborne rose to the occasion and splendid batting by W. M. Elderton and J. M. Hutton enabled them to win an exciting match by one wicket.

#### TONDRIDGE SCHOOL

LONDKIDGI	s School.
T. C. Cobb c Martin, b Hutton       2         E. C. Bousfield c Glennie, b Hutton       21         B. W. Cox b Hodgkinson       97         B. N. S. Kidson c Adams, b Hutton       0         M. Latham c Robinson, b Chignell       21         P. Corker b Hutton       27         D. H. Lloyd-Morgan b Hutton       19	P. G. C. Wood not out

G. F. N. Hodgkinson c Latham b Cobb 1 C. F. V. Martin c Latham b Parsons 9 J. H. W. Manning hit wkt., b P. G. C. Wood 0	School.   R. F. S. Chignell c Kidson, b Cobb   13   H. C. C. Adams c Parsons, b Cobb   1   M. S. Glennie not out   18   G. G. Lilley not out   2   Byes, etc.   21
W. M. Elderton c E. I. C. Wood, b Cobb 88 S. I. D. Robinson c and b Kidson 15 J. M. Hutton c Cobb b E. I. C. Wood 99 J. C. Finlay b Parsons 5	Nine wkts. 272

## SHREWSBURY SCHOOL V. MALVERN COLLEGE.

Played at Shrewsbury, Wednesday, June 3.-Most of the Shrewsbury batsmen failed and Malvern won by 99 runs.

#### SHREWSBURY SCHOOL.

The state of the s		
A. F. Kingsford c Norton b Farnsworth.  N. H. Bowring b Rogers  M. G. Crawford c Farnsworth b Rogers  D. G. G. Baird b Farnsworth  A. T. G. Groves run out.  R. J. Rothwell c Rogers b Farnsworth.  P. H. Blagg b Rogers  2  G. D. Lane st Denton-Thompson b Shakespear  R. G. Shaw c Beeson b Norton.  J. B. V. Pooley c Manners b Shakespear  D. H. Crawford not out.  Byes, etc.	19	
MALVERN COLLEGE,		
B. Greatbatch c Blagg b Pooley 1 B. L. B. Jacomb c Baird b Lane B. H. Maudsley c Baird b Groves 41 G. I. D. Norton b Pooley	7 95	

B. Greatbatch c Blagg b Pooley 1 B. H. Maudsley c Baird b Groves 41 D. Maclean c Rothwell b Crawford 33 P. D. Manners b Pooley 4 N. W. Beesop c Groves b Lane 9 H. G. W. Shakespear b Lane 2	B. L. B. Jacomb c Baird b Lane G. I. D. Norton b Pooley 25 A. G. Denton-Thompson b Groves 1 W. J. Farnsworth not out 20 Byes, etc 25
F. L. Rogers c Bowring b Lane 0	168

## WESTMINSTER SCHOOL v. STOWE SCHOOL.

Played at Vincent Square, Wednesday, Thursday, June 2, 4.—Much the stronger batting side, Stowe won easily by an innings and 85 runs.

Stronger parents back beauty	
WESTMINSTER	SCHOOL.
P. J. Sutton c Langley b Munro 1	7 — e Buchanan b M. P. Robinson 0
T T Dichardson a Munro h N R KODID-	
607	3 — lbw, b M. P. Robinson 7
J. D. Stocker b M. P. Robinson	2 - c Buchanan b M. P. Robinson 3
D. D. Courthorne e Spencer h N B Robins	
90n 1	9 - c Buchanan b M. P. Robinson 8
T C C Doll e Farle h N B Robinson	0 — c Sherrard b Munro 0
W. J. A. Boyle c Spencer b Munro 3	60 — c Langley b Munro 13
D F Cunliffe c Ruchanan h M. P.	a Spancer h N B Robinson 0
	1 C Spencer b IV. B. Hoolds
	d Langley b Little
	THE DIMINIO
E. A. Sinclair lbw, b M. P. Robinson	0 — not out 5 0 — lbw, b Munro 1
R. B. Stock not out	3 Byes, etc
Byes, etc.	5 Dyes, etc.
14	47
STOWE SC	HOOL.
A. H. P. Hope c Stocker b Richard-	A. C. Lynch-Staunton st Valli b
son	Cunliffe
H. C. Lowcock st Valli b Stock 1	I. C. S. Munro not out
J. D. A. Langley b Stocker 50	Byes, etc.
P. Sherrard lbw, b Cunliffe 92	Eight wkts., dec. 279
P. R. Spencer b Stock 32	Jangaro III and III
A. G. Buchanan e Sutton b Stock 5	M. P. Robinson N. B. Robinson did not bat.
C. D. Earle b Stocker 43	11. 15. 10001111004 )

UPPINGHAM SCHOOL v. HAILEYBURY COLLEGE.

Played at Uppingham, Thursday, June 4.—Only about four hours' play proved possible and in a drawn match Haileybury finished 41 behind with half their wickets in hand. UPPINGHAM SCHOOL.

P. Gillespie c Barton b Hoare       3         G. W. E, Ray b Hildick-Smith       8         R. A. Carr c and b Hoare       0         A. T. W. Taylor lbw, b Hoare       2         D. W. Gillespie lbw (N), b Cantlay       6         W. J. Pershke b Hoare       10         K. M. White c Cantlay b Hoare       15	R. W. V. Neathercoat c Hoare b Marriott 23 E. A. Bland b Hildick-Smith. 11 A. C. Spencer c Hoare b Hildick- Smith. 6 C. A. W. Sandys-Clarke not out. 0 Byes, etc. 91	
HAILEYBURY	COLLEGE.	
N. S. Harrison lbw, b Sandys-Clarke 15 K. P. Bolton c Bland b D. W. Gillespie	E I C Harridge	

HAILEY		(
N. S. Harrison lbw, b Sandys-Clarke	15	
K. P. Bolton c Bland b D. W.		
Gillespie	1	
P. J. Barton run out	4	
R. M. Childs c D. W. Gillespie b	_	
Spencer	5	
J. W. W. Hoare not out	11	
G. C. de Boinville b Spencer	0	
R. D. Jupp not out		
Byes, etc	1	
Titore enlates	50	
Five wkts.	90 [	

F. I. C. Herridge H. J. L. Marriott G. Y. Hildick-Smith	aid	not	bat.
J. A. Cantlay	J		

## DOWNSIDE SCHOOL v. BLUNDELL'S SCHOOL.

Played at Downside, Saturday, June 6.—Both teams showed good batting form in a drawn match. R. L. Masters played a bright innings for Downside and J. E. P. Peirce and G. J. Habgood shared in a capital second wicket stand for Blundell's.

## DOWNSIDE SCHOOL.

R. L. Masters not out. 134 P. A. G. Rawlinson c Corrigan b Beach 11 J. M. H. Pollen b Habgood 5 F. J. S. Symes b Sutcliffe 24 N. H. Ormerod lbw (N), b Parsons 22 M. A. J. Radeliffe c Harper b Parsons 2 A. D. Turnbull not ut 14 Byes, etc. 4	R. T. Addington T. G. Hemming S. R. D. Bell V. E. Camacho	did not bat.
Five wkts., dec. 216		

## BLUNDELL'S SCHOOL.

T. H. Eustace b Bell J. E. P. Peirce not out G. J. Habgood not out One wk	57	J. E. B. Drake C. G. Parsons A. W. D. Beale N. C. R. Williams I. P. Sutcliffe I. Harper J. G. Beach	did not bat.
	i	T. W. E. Corrigan	į

## MARLBOROUGH COLLEGE v. HARROW SCHOOL.

Played at Marlborough, Saturday, June 6.—Splendid bowling by D. W. Stuart, who took seven wickets for 29 runs supported by good batting on the part of B. D. Carris, enabled Harrow to win by six wickets.

#### MARLBOROUGH COLLEGE

P. F. G. Fane Ibw, b Reunert       26         J. C. N. Westwood Ibw, b Stuart       5         H. G. Jelf Ibw, b Reunert       25         P. N. L. Terry Ibw, b Reunert       0         G. E. Fletcher c Lindsay b Stuart       29         G. D. Anderson not out       30         P. R. W. Wickham Ibw, b Stuart       0             D. I. Graham c Reunert b Stuart       2         R. Mackay Ibw, b Stuart       0         J. T. Bailward b Stuart       0         Byes, etc.       12         135

HARROW   HARROW   B. D. Carris not out   S5	A. O. Collins M. D. Watson J. M. Reunert R. M. Seligman D. W. Stuart	did not bat.
Four wkts. 138		

## MERCHANT TAYLORS' SCHOOL v. DOVER COLLEGE.

Played at SANDY LODGE, Saturday, June 6 .- Drawn.

## MERCHANT TAYLORS' SCHOOL.

A. Roper c Dyke b Marley 57	L. R. Stacey c Andrews b Mott 0 I. C. M. Maxwell not out 13
J. L. Starnes c Dyke b Marley 18 H. Harold run out 1	Byes, etc 5
J. L. Hart b Marley	Seven wkts., dec. 188 R. J. B. Fox N. P. Wood did not bat.
N. A. H. Stafford c Marley b Mott 0	N. P. Wood

## DOVER COLLEGE.

A. Dawes not out J. G. Howard c Hart b I. B. Thomson lbw (N) W. R. Barrett not out Byes, etc	Wood b Wood	9 11 5 3	J. Dyke D. S. Andrews R. W. V. Smith C. D. Hatton P. J. Marley D. R. Mott D. S. W. Grist	did not bat.
	Two wats.	:	D. S. W. Grist	)

## SEDBERGH SCHOOL V. ROSSALL SCHOOL.

Played at Sedbergh, Saturday, June 6.—Batting much more consistently Sedbergh declared and won by 100 runs.

#### SEDBERGH SCHOOL.

G. P. S. Macpherson Ibw, b Hesmondhalgh	T. A. Cowdy lbw, b Hesmondhalgh 35 J. M. Donald c Sharp b Hesmond- halgh
D. J. P. Watson b Sharp 20 H. G. Balfour-Paul c Hesmondhalgh b Hughes 80 A. A. S. Scott c Allatini b Hesmond-	A. S. Henderson b Hughes
halgh 20 D. A. Kininmonth b Heaton 10	J. P. Eyre did not bat 215

#### ROSSALL SCHOOL

IMAGOOM	bolloon.
G. Sharp c Watson b Cowdy 57 J. P. Maconchy c Cowdy b Balfour-Paul 1 J. D. Boyd c Edwards b Balfour-Paul 3 J. A. Heaton c Balfour-Paul b Henderson 2 W. Major c Balfour-Paul b Henderson 0 L. J. Hesmondhalgh b Henderson 30	A. R. G. Meats c Gundill b Henderson 8 J. R. S. Allatini b Eyre 1 H. Turnbull not out 0 G. N. Cave b Henderson 0 R. T. T. Hughes c Kininmonth b Henderson 0 Byes, etc. 13  115

## ST. PETER'S SCHOOL, YORK v. GIGGLESWICK SCHOOL.

Played at YORK Saturday, June 6,—St. Peter's School batsmen failed badly and Giggleswick won easily by eight wickets.

## ST. PETER'S SCHOOL, YORK.

R. S. Dixon b Sarsby	J. L. Boden e E. Ainley b D. Ainley 6 R. M. Deas hit with, b D. Ainley 2 P. C. Campbell not out H. Cole b Marshall Byes, etc. 9
V. L. F. Davin Ibw, b Foden 34	101

#### GIGGLESWICK SCHOOL.

E. S. Ainley c and b Lockwood D. N. Ainley not out	55 47
Two wkts.	100

## SHREWSBURY SCHOOL V. ROSSALL SCHOOL.

Played at Shrewsbury, Tuesday, Wednesday, June 9, 10.—Rossall's batting twice broke down and Shrewsbury gained an easy victory by an innings and 48 runs. R. T. T. Hughes bowled well for the losers.

## ROSSALL SCHOOL.

G. Sharp lbw, b Shaw J. P. Maconchy c Blagg b Pooley J. P. Maconchy c Blagg b Pooley J. D. Boyd b Groves J. A. Heaton c Shaw b Groves J. A. Heaton c Shaw b Groves J. J. Hesmondhalgh lbw, (N), b Crawford A. R. G. Meats lbw, b Groves L. J. Hesmondhalgh lbw, (N), b Crawford J. R. S. Allatin B Crawford J. R. S. A	1 4 10 2 11 0 1 1 1	
Byes, etc 10 Byes, etc	 2	
44	00	
44	60	

#### SHREWSBURY SCHOOL.

OZZZYZI II DD OSV	
J. B. V. Pooley b Hughes	L. M. Minford c Hesmondhalgh b  Hughes 9 G. D. Lane c Slack b Sharp 45 R. G. Shaw c Allatini b Hughes 12 D. H. Crawford not out 11  Byes, etc. 11  152

## CHELTENHAM COLLEGE v. MALVERN COLLEGE.

Played at CHELTENHAM, Tuesday, June 9.—A very exciting match ended in a draw, Cheltenham finishing 25 runs behind with one wicket to fall.

#### MALVERN COLLEGE.

B. Greatbatch c Eagar b Pope 53 R. H. Maudsley c Paget b Pope 0 D. Maclean b Eagar 31 P. B. Manners c and b Pope 77 N. W. Beeson lbw, b Eagar 0 F. L. Rogers b Pope 3 B. L. B. Jacomb b Pope 40	R. O. H. Porch b Stevens	
CHELTENHAN	a College.	
7 7-11	0.01.11.11	

E. M. Britton b Rogers	S. Shelley Ibw, b Rogers

## CHARTERHOUSE SCHOOL V. WINCHESTER COLLEGE.

Played at CHARTERHOUSE, Tuesday, June 9.—Clever bowling by A. C. Karsten, who took six wickets for 28 runs, followed by sound batting enabled Charterhouse to win by six wickets.

#### WINCHESTER COLLEGE.

D. T. L. Bailey c A. H. Beane b Karsten 9 T. A. Bird lbw, b Hughes 69 M. W. Holme b Karsten 0 R. B. Proud lbw, b Lubbock 6 M. E. H. Linton c P. F. Beane b	W. B. Alexander b Karsten
Karsten 31	
D. H. Garron c Lubbock b Karsten 1 D. C. Wilson c A. H. Beane b Hughes 3	171

#### CHARTERHOUSE SCHOOL

CHARTERIOO	DE DONOOL.
J. M. Lomas c Adams b Proud . 4 J. A. Crompton c Adams b Wilson 0 P. R. Crompton c Holme b Wilson 53 C. W. S. Lubbock b Alexander . 65 A. K. Hughes not out . 40 P. F. Beane not out . 7 Byes, etc 4  Four wkts, 173	P. C. Weeks G. G. Dumbar A. H. Beane J. L. C. Pearce A. C. Karsten

## STOWE SCHOOL V. RADLEY COLLEGE

Played at STOWE, Wednesday, June 10.—Radley were rather fortunate to save the game, for with one wicket to fall they finished 42 behind.

## STOWE SCHOOL.

b Falkiner	J. D. A. Langley c Mackarness b Falkiner	P. R. Spencer lbw, b Birks 1 M. P. Robinson lbw, b McIntosh 1 N. B. Robinson not out 0
	C. D. Earle low, b Birks 7	208

RADLEY (	College.
F, Falkiner b N. B. Robinson 0 J. L. I. Cranston c Frankenburg b M. P. Robinson	Hon. H. R. Grosvenor st Spencer b Sherrard

## REPTON SCHOOL V. UPPINGHAM SCHOOL.

Played at Repton, Friday, Saturday, June 12, 13.—The match was ruined by rain, no play being possible on the second day. Uppingham finished 15 in front with all their second innings wickets in hand.

#### UPPINGHAM SCHOOL.

P. Gillespie c and b Barnett	28 — not out 4
G. W. E. Ray low, b Davenport	11 — not out 0
D. W. Gillespie lbw (N), b Davenport	24
R. A. Carr c Hodgkinson b Barnett	37
E. A. Bland c Barnett b Lowcock	77
A. T. W. Taylor c Sale b Davenport	
W. J. Pershke c Bagnall b Davenport	Ō
K. M. White b Davenport	
R. W. V. Neathercoat c Sale b Sharp	1 23
A. C. Spencer c Bagnall b Lowcock	19
C. A. W. Sandys-Clarke not out	
Byes, etc.	
Dyes, e.c	6
	164 No wkt. 4

REPTON S	School.
R. M. Bagnall lbw, b D. W. Gillespie 1 W. D. Hodgkinson lbw (N), b Pershke 5 G. L. Willatt c Taylor b Spencer 21 R. L. Lowcock c Pershke b Bland 6 M. Barber lbw, b Bland 2 J. A. T. Sharp c Neathercoat b Pershke 26 B. Pownall c Neathercoat b Pershke 10	R. Sale lbw, b Pershke

## TONBRIDGE SCHOOL V. LANCING COLLEGE.

Played at TONBRIDGE, Friday, Saturday, June 12, 13.—Tonbridge had slightly the better of a drawn game, finishing 118 behind with a full innings to play.

#### LANCING COLLEGE.

H. C. Large c Bousfield b P. Wood 106 - c Thompson b Parsons	12
R. S. Woodward c P. Wood b Kidson 10 - c P. Wood b Parsons	41
P. C. R. Coates c. P. Wood b Kidson 4 — c. P. Wood b Parsons	0
I. M. West c Kidson b Yeats-Brown 4 — c Kidson b Parsons	
J. C. S. Underwood lbw, b Yeats-Brown 17 — b Parsons	47
J. B. Eldridge lbw, b Yeats-Brown 13 — lbw, b Parsons	0
G. A. Wagner lbw, b P. Wood 43 — c Cobb b Parsons	2
B. J. Wheeler not out	2
G. G. T. Fletcher st Latham b Cobb 18 — c and b Kidson	12
J. A. Peppercorn c Kidson b Parsons 3 — st Latham b E. Wood	20
C. Leigh-Pemberton c Thompson b Yeats-	
Brown 2 — st Latham b Kidson	0
Byes, etc 10 Byes, etc	7
248	151

## TONBRIDGE SCHOOL.

10112112002	
J. R. Thompson c Wheeler b Peppercorn 24 T. C. Cobb c Woodward b Fletcher 0 E. C. Bousfield lbw, b Fletcher 21 B. W. Cox c Wheeler b Peppercorn 14 B.N.S. Kidson c Eldridge b Wheeler 44 D. H. Lloyd-Morgan lbw, b Peppercorn	P. G. C. Wood c Fletcher b Coates 37 D. G. W. Yeats-Brown c and b Wheeler 12 J. D. Parsons st Underwood b Large 14 E. I. C. Wood not out 18 Byes, etc. 19

## CHARTERHOUSE SCHOOL V. ETON COLLEGE.

Played at Charterhouse, Monday, June 15.—An exciting match ended in favour of Charterhouse by one wicket. P. R. Crompton batted well and G. G. Dunbar took four cheap wickets for the winners.

#### ETON COLLEGE

ETON C	OLLEGE.
F. G. Mann c Lomas b Pearce	D. H. Macindoe b Dunbar   0

#### CHARTERHOUSE SCHOOL

P. C. Weeks lbw, b Rodwell 21 P. F. Beane b Wild 5 P. R. Crompton b Wild 5 J. M. Lomas lbw, b F. G. Mann 6 C. W. S. Lubbock c Rodwell b Wild 10 A. K. Hughes lbw, b Macindoe 21 J. A. Crompton c Barnardo b Macindoe 1	G. G. Dunbar c England b Macindoe 0 A. H. Beane not out
--	---

## RADLEY COLLEGE V. SHERBORNE SCHOOL.

Played at RADLEY, Monday, Tuesday, June 15, 16 .- Radley, thanks to good bowling by F. Falkiner, who took five wickets for 60 in the first innings, and hard hitting by N. W. Nicholson, won by four wickets.

## SHERBORNE SCHOOL. J. F. N. Hodgkinson c Atkins b Falkiner 0 - run out ...... 3 M. S. Glennie b Birks ...... 18 — c Sell b Birks ..... 1 M. R. Geake c Atkins b Falkiner 3 — Ibw, b Falkiner 13 W. M. Elderton c Willcocks b Falkiner 15 — Ibw, b Birks 31 S. J. D. Robinson c McIntosh b Falkiner 4 — b Falkiner 60 J. M. Hutton c Falkiner b Birks ..... 42 — b McIntosh ..... 25 J. C. Finlay b Birks ...... 5 — run out ..... 5 D. I. C. Bolissier c Falkiner b McIntosh. 2 — b Atkins 28 R. F. S. Chignell st Willcocks b Falkiner 26 — run out 8 Bves, etc. . . . . . . . . . . . . 5 Bves, etc. ..... 7 138 183 RADLEY COLLEGE. J. L. I. Cranston c Hutton b Bashford. 29 — Ibw, b Hutton ..... 0

# 

Byes, etc.

. . . . . . . . . . . . . . 8

Six wkts 103

## Hon, H. R. Grosvenor c Elderton b Adams 7 R. R. G. Atkins lbw, b Bashford J. F. Willcocks b Hutton..... 0

Byes, etc. . . . . . . . . . . 6

## WELLINGBOROUGH SCHOOL v. WORKSOP COLLEGE,

Played at Wellingborough, Wednesday, June 17.—The Worksop batsmen failed badly and Wellingborough won by 32 runs.

WELLINGBORO	UGH SCHOOL.
R. D. H. Reddy b Warburton	C. H. Thomas b Martyn 15 H. G. Pearce-Batten b Warburton 2 C. R. Mallett run out 1 R. A. Henfrey not out 2 Byes, etc. 4  114
A. E. Brown c Kingston b Martyn 9	114

F. A. J. Foster c and b Martyn 20 J. H. Reddy c Hall b Warburton 31 A. E. Brown c Kingston b Martyn 9	Byes, etc4
Worksop (	College.
W. J. P. Walker b Thomas	G. Martyn b Charnock 16 W. D. McConnell b Foster 3 P. E. Rhodes c Brodie b Foster 3 F. E. Warburton not out 0 Byes, etc. 6
The state of the s	02

## EPSOM COLLEGE V. CRANLEIGH SCHOOL.

Played at EPSOM, Wednesday, June 17.—Cranleigh, sound in batting, won by 39 runs.

## CRANLEIGH SCHOOL.

S. I. Brinjes c Smythe b Darbyshire 80         G. K. Neale c Dyball b McVail	P. I. Fry c Dybail b Sinythe 19 J. Turner not out 1 D. C. Baker b McVail 0 M. Krohn not out 5 Byes, etc. 15  Nine wkts., dec. 205
EPSOM Co	OLLEGE.

I. N. Darbyshire c Neale b Skinner E. G. L. Thompson c and b Turner 26 M. W. Hubble c Neale b Baker 21 C. R. D. Knaggs lbw, b Skinner 1 A. A. Grubb lbw, b Hill 36 A. S. Dyball hit wkt, b Hill 1 D. A. Perkins b Turner 37  18  V. D. O. Smythe b Skinner 6 D. J. B. Johnston lbw, b Turner 9 J. C. G. McVail not out 0 Byes, etc. 11  166		
	E. G. L. Thompson c and b Turner 26 M. W. Hubble c Neale b Baker . 21 C. R. D. Knaggs lbw, b Skinner . 1 A. A. Grubb lbw, b Hill 36	D. J. B. Johnston lbw, b Turner  A. G. S. Wilkes c Krohn b Turner  J. C. G. McVail not out  Byes, etc. 11

## TAUNTON SCHOOL v. BLUNDELL'S SCHOOL.

Played at TAUNTON, Wednesday, June 17.—Taunton had easily the best of the game, but Blundell's batted stubbornly after trying for the runs and the match was drawn.

#### TAUNTON SCHOOL.

R. B. Harris e Parsons b Beach       7         G.E.A. Woodward e Beale b Parsons       61         J. W. Andrews run out       2         T. E. R. Hill b Drake       39         R. Maclean b Beach       59         B. E. Stone not out       14         J. R. Evans not out       6         Byes, etc.       8	L. F. Micholson D. L. Walmsley
Five wkts., dec. 221	

## BLUNDELL'S SCHOOL.

T. H. Eustace b Walmsley       18         J. E. Pierce b Cumming       12         G. J. Habgood b Evans       16         J. G. Beach b Evans       1	A.W.D. Beale lbw (N), b Walmsley 9 C. G. Parsons not out 14 I. Harper not out 13 Byes, etc. 7
I. P. Sutcliffe c Harris b Evans 21 N. R. C. Williams c Harris b	Eight wkts 122
Walmsley 11 T. E. B. Drake b Walmsley 0	T. W. E. Corrigan did not bat.

## HARROW SCHOOL v. WINCHESTER COLLEGE.

Played at Harrow, Thursday, June 18.—Only a steady innings by B. D. Carris saved Harrow from complete disaster. M. W. Holme batted well for Winchester, who won by 68 runs.

WINCHESTER	R COLLEGE.
D. T. L. Bailey b Stuart 7	J. Stanning lbw, b Watson 29
T. A. Bird c Carris b Stuart 4	D. C. Wilson b Stuart 0
M. W. Holme c Carris b Stuart 75	H. D. Davy not out
R. B. Proud b Reunert 0	G. E. Dixon b Watson 1
M. E. H. Linton c Collins b Stuart 0	Byes, etc
D. H. Garrow c and b Sage 2	
H. R. Wake-Bowell Ibw, b Watson 19	173
HARROW	
B. D. Carris st Davy b Dixon 67	C T C I T
D. J. Q. Henriques c Wake-Bowell	J. M. Reunert st Davy b Dixon 0
b Proud 4	R. M. Seligman b Dixon 1
W. S. P. Lithgow st Davy b Dixon 4	D. W. Stuart not out
A. O. Collins b Proud 6	D. W. Stuart not out
M. D. Watson st Davy b Bailey 8	The restant is sent to sent the W 105
R. A. I. Holt c Davy b Proud 1	worth a with a sound of the
P. A. R. Lindsay e Wilson b Bailey 4	all a complete the second adverse at a complete at a compl
	STATE OF STATE STATE OF STATE

## MARLBOROUGH COLLEGE v. CHELTENHAM COLLEGE.

Played at Marlborough, Friday, Saturday, June 19, 20.—Despite brilliant all-round work by E. D. R. Eagar, Cheltenham just failed to force a victory, finishing 30 behind with six wickets in hand. In the match Eagar took eleven wickets for 79 runs and scored 181 for once out. No fewer than eight men were l.b.w. in Marlborough's second innings.

MARLBOROUGH COLLEGE.
P. F. G. Fane b Pope 6 — c Stevens b Eagar
G. D. Anderson lbw, b Eagar 20 — lbw, b Eagar 5
J. C. N. Westwood at Bourne b Stevens 63 — lbw (N), b Eagar 14
G. E. Fletcher b Eagar 8 — lbw (N), b Eagar 3
P. N. L. Terry run out
A. R. W. Livingstone b Barry 28 — lbw, b Eagar 0
J. H. Collins low, b Spring 0 — lbw, b Barry 45
H. G. Jen 10w, b Pope 6 — not out 55
D. I. Granam b Pope 9 — lbw, b Spring 7
J. T. Bailward b Eagar
M. S. Mallinson not out 4 — lbw (N), b Eagar 0
Byes, etc
Care to the control of the control o
193
CHELTENHAM COLLEGE.
E. M. Britton Ibw, b Fletcher 3 — Ibw, b Bailward 0
E. M. Britton lbw, b Fletcher 3 — lbw, b Bailward 0 C. J. H. Paget lbw, b Bailward 4 — lbw, b Mallinson 0
E. M. Britton lbw, b Fletcher 3 — lbw, b Bailward 0 C. J. H. Paget lbw, b Bailward 4 — lbw, b Mallinson 9 C. R. Bourne c Collins b Bailward 27 — lbw, b Bailward 0
E. M. Britton lbw, b Fletcher 3—lbw, b Bailward 0 C. J. H. Paget lbw, b Bailward 4—lbw, b Mallinson 9 C. R. Bourne c Collins b Bailward 27—lbw, b Bailward 0 E. D. R. Eagar b Bailward 113—not out.
E. M. Britton lbw, b Fletcher       3 — lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4 — lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27 — lbw, b Bailward       0         E. D. R. Eagar b Bailward       113 — not out       68         H. F. Stevens b Bailward       41 — b Graham       11
E. M. Britton lbw, b Fletcher       3 — lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4 — lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27 — lbw, b Bailward       0         E. D. R. Eagar b Bailward       113 — not out       68         H. F. Stevens b Bailward       41 — b Graham       11         J. M. Pope run out       6 — not out       2
E. M. Britton lbw, b Fletcher       3 — lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4 — lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27 — lbw, b Bailward       0         E. D. R. Eagar b Bailward       113 — not out       68         H. F. Stevens b Bailward       41 — b Graham       11         J. M. Pope run out       6 — not out       3         S. Shelley st Jelf b Mallinson       13
E. M. Britton lbw, b Fletcher       3 — lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4 — lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27 — lbw, b Bailward       0         E. D. R. Eagar b Bailward       113 — not out       68         H. F. Stevens b Bailward       41 — b Graham       11         J. M. Pope run out       6 — not out       3         S. Shelley st Jelf b Mallinson       13         H. M. Mackenzie hit wkt. b Fletcher       0
E. M. Britton lbw, b Fletcher       3 — lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4 — lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27 — lbw, b Bailward       0         E. D. R. Eagar b Bailward       113 — not out       68         H. F. Stevens b Bailward       41 — b Graham       11         J. M. Pope run out       6 — not out       3         S. Shelley st Jelf b Mallinson       13         H. M. Mackenzle hit wkt, b Fletcher       0         C. van R. Barry st Jelf b Graham       5
E. M. Britton lbw, b Fletcher       3       lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4       - lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27       - lbw, b Bailward       0         E. D. R. Eagar b Bailward       113       - not out       68         H. F. Stevens b Bailward       41       - b Graham       11         J. M. Pope run out       6       - not out       3         S. Shelley st Jelf b Mallinson       13         H. M. Mackenzie hit witt, b Fletcher       0         C. van R. Barry st Jelf b Graham       5         J. R. Spring b Mallinson       0
E. M. Britton lbw, b Fletcher       3       — lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4       — lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27       — lbw, b Bailward       0         E. D. R. Eagar b Bailward       113       — not out       68         H. F. Stevens b Bailward       41       — b Graham       11         J. M. Pope run out       6       — not out       3         S. Shelley st Jelf b Mallinson       13       H. M. Mackenzie hit witt, b Fletcher       0         C. van R. Barry st Jelf b Graham       5       J. R. Spring b Mallinson       0         J. S. P. Cohen not out       2       —
E. M. Britton lbw, b Fletcher 3 — lbw, b Bailward 0 C. J. H. Paget lbw, b Bailward 4 — lbw, b Mallinson 9 C. R. Bourne c Collins b Bailward 27 — lbw, b Bailward 0 E. D. R. Eagar b Bailward 113 — not out 68 H. F. Stevens b Bailward 41 — b Graham 11 J. M. Pope run out 6 — not out 3 S. Shelley st Jelf b Mallinson 13 H. M. Mackenzie hit wkt, b Fletcher 0 C. van R. Barry st Jelf b Graham 5 J. R. Spring b Mallinson 0 J. S. P. Coben not out 2 Byes, etc. 12 Byes, etc. 6
E. M. Britton lbw, b Fletcher       3       — lbw, b Bailward       0         C. J. H. Paget lbw, b Bailward       4       — lbw, b Mallinson       9         C. R. Bourne c Collins b Bailward       27       — lbw, b Bailward       0         E. D. R. Eagar b Bailward       113       — not out       68         H. F. Stevens b Bailward       41       — b Graham       11         J. M. Pope run out       6       — not out       3         S. Shelley st Jelf b Mallinson       13       H. M. Mackenzie hit witt, b Fletcher       0         C. van R. Barry st Jelf b Graham       5       J. R. Spring b Mallinson       0         J. S. P. Cohen not out       2       —

FETTES COLLEGE v. GLENALMOND (TRINITY COLLEGE). Played at EDINBURGH, Saturday, June 20.—Despite a gallant effort by N. M. Anderson, Glenalmond suffered defeat by nine runs.		
FETTES   COLLEGE.   W. H. Doughty b Mann   18		
GLENALMOND (TRINITY COLLEGE).   W. S. Tennent b Mitchell		
SHREWSBURY SCHOOL v. REPTON SCHOOL.  Played at Shrewsbury, Tuesday, June 23.—Splendid bowling by R. L.  Lowcock was mainly responsible for Repton winning by 22 runs.		
REPTON SCHOOL.   SCHOOL   Start   School   Sch		
Shrewsbury   School.   P. H. Blagg c Sharp b Lowcock   0   L. M. Minford c Bagnall b Lowcock   0   L. M. Minford c Bagnall b Lowcock   0   J. B. V. Pooley b Davenport   9   9   9   9   9   9   9   9   9		
HIGHGATE SCHOOL v. CRANLEIGH SCHOOL. Played at HIGHGATE, Wednesday, June 24.—Highgate batted consistently, but insufficient time remained for them to force a win.		
S. T. Tucker st Krohn b Skinner		
CRANLEIGH School.  S. I. Brinjes c Boosey b Mori 30   P. I. Fry not out 3   Byes, etc. 9    R. H. F. Hill c Mori b Archer 6   G. C. Daniel b Thornton 25   P. L. N. Hughes c Scott b Thornton 7   M. Krohn   did not bat.		

## BRIGHTON COLLEGE v. ST. PAUL'S SCHOOL.

Played at BRIGHTON, Wednesday, June 24.—Good-length bowling by B. K. Totton, who took eight wickets for 41 runs, accounted for St. Paul's thrilling victory by three runs.

#### ST. PAUL'S SCHOOL.

THE RESERVE OF THE PARTY OF THE	
R. H. Yeatman c Thomas b Braybon 5	R. P. Elliott b Hobley 0
F. G. Commings c Grose b Hobley 6	D. S. Russell b Sharp 15
M. A. T. Burke c Grose b Braybon 22	B. K. Totton run out 15
P. M. Reid b Braybon 8	D. J. Higgens not out 4
M. A. Rahman c Thomas b Sharp 17	
D. C. Reynders b Braybon 41	
F. H. Boyden b Braybon 12	169

## BRIGHTON COLLEGE.

B. H. J. Hammett lbw, b Totton R. H. Warton b Commings A. K. Sharp lbw, b Totton L. E. Grose b Totton I. Wallace-Cox b Totton	9 23 25 6	D. P. P. Joyce c and b Totton . 16 G. G. Arnold c Higgens b Totton 8 P. W. L. Thomas b Totton 6 R. H. Braybon not out 0 Byes, etc. 18
I. Wallace-Cox b Totton C. K. Thompson b Commings V. McD. Hobley b Totton	42	Byes, etc

## BROMSGROVE SCHOOL v. ST. EDWARD'S SCHOOL, OXFORD.

Played at Bromsgrove, Wednesday, June 24.—Good bowling by T. L. G. Jones brought about a collapse, but St. Edward's managed to gain a narrow win by one wicket.

#### BROMSGROVE SCHOOL.

M. G. Manners lbw, b Godley 15 E. E. Key lbw, b Henderson 0	H. M. Green c Trevor b Godley. 4 T. L. G. Jones c Williams b Churcher 8 H. L. Warburton not out 5 R. Holden b Churcher 4 Byes, etc. 20 122
--	--

## ST. EDWARD'S SCHOOL, OXFORD.

R. I. Williams c and b Jones	M. B. Crickmay c Key b Jones
I. F. Trevor c Key b Jones 7 J. L. Churcher b Jones 0	T. C. Henderson did not bat.

## WINCHESTER COLLEGE v. ETON COLLEGE.

Played at WINCHESTER, Friday, Saturday, June 26, 27.—Drawn. Set to get 219 runs to win in about three hours, Eton made no bid for the runs and left off 50 behind with four wickets in hand. Winchester, on Friday, lost their first three batsmen for 28, but Holme and Wilson improved the position. Eton began their reply well, but next day a rain-affected pitch gave bowlers so much help that Eton's nine outstanding wickets fell for 100 runs. Free scoring by Bird, Holme and Wake-Bowell enabled Winchester to declare an hour before tea. F. G. Mann batted brightly when Eton began their second innings, but a definite result never looked likely.

result never looked likely.
WINCHESTER COLLEGE.
D. T. L. Bailey c Boughey b Rodwell 5 — c Macindoe b Rodwell 48 T. A. Bird b Wild
T. A. Bird b Wild
R. B. Proud c Macindoe b Rodwell 1 — not out 9
H. R. Wake-Bowell c Macindoe b J. P.
Mann 20 — not out 50
J. G. Stanning c Barnardo b Macindoe 10 — c Kerrison b J. P. Mann 6
W. B. Alexander b Wild 8 — c England b J. P. Mann 8
M. E. H. Linton c England b Macindoe 13 — c Kerrison b J. P. Mann 11
H. A. W. Adams c England b Macindoe 3
G E Divon st England h I P Mann 0
Byes, etc 11 Byes, etc 4
237 Six wkts., dec. 165
257 SIX WKUS., GCC. 1057
ETON COLLEGE.
F. G. Mann c Adams b Proud 35 — b Wilson
R. G. G. Kerrison c Bird b Proud 3 — lbw, b Bailey 36
J. P. Mann b Proud       41 — c Linton b Wilson       18         F. F. T. Barnardo c Proud b Linton       25 — not out       0
J. B. Dickson c Stanning b Alexander 17
J. F. Boughey c Dixon b Linton 13
T R Tackson e Adams h Proud 19
D. H. Macindoe c Adams b Proud 8 — lbw, b Wilson 6
R. M. England c Alexander b Proud 3 R. H. Rodwell c Alexander b Wilson 5 — c Linton b Bailey 26
V. L. Wild not out
Byes, etc
184 Six wkts. 168
ETON BOWLING.
Overs Mdns. Runs Wkts. Overs Mdns. Runs Wkts.
Wild 19 2 56 2 10 2 40 0
Rodwell 19 7 26 2 8 1 18 1
J. P. Mann 23.2 5 57 2 14 0 69 5 Macindoe 32 12 47 4 12 1 34 0
Macindo
F. G. Mann 6 0 14 0 Boughey 6 1 26 0
Winchester Bowling.
Overs Mdns. Runs Wkts. Overs Mdns. Buns Wkts.
Wilson 22.2 10 36 1 18 5 58 3
Proud 27 7 60 6 7 2 14 0
Linton 8 2 11 2 4 1 11 0
Dixon 14 2 41 0 11 2 30 0  Alexander 3 1 6 1
2 2 2 4 20 4 20 2
$\begin{array}{cccccccccccccccccccccccccccccccccccc$
Umpires: G. M. Lee and C. W. L. Parker.

## RESULTS OF ETON AND WINCHESTER MATCHES.

Parameters.		Court of the Court	The state of the s
1826	Winchester won by 53 runs	1882	Winchester won by an innings
1829	Eton won by four wickets	STANSON OF	and 20 runs
1830	Winchester won by eight wkts.	1883	Winchester won by 224 runs
1832	Eton won by inns. and 10 runs	1884	Eton won by five wickets
1833	Eton won by 14 runs	1885	Drawn
1834			Drawn
	Eton won by 13 runs	1886	Eton won by eight wickets
1835	Eton won by five wickets	1887	Eton won by nine wickets
1836	Eton won by two wickets	1888	Drawn
1838	Winchester won by an innings	1889	Winchester won by 114 runs
	and 34 runs	1890	Drawn
1839	Eton won by 108 runs	1891	Winchester won by five wkts.
1840	Winchester won by 43 runs	1892	
1841			Winchester won by 84 runs
	Winchester won by 109 runs	1893	Eton won by five wickets
1842	Eton won by seven wickets	1894	Eton won by five wickets
1843	Winchester won by eight wkts.	1895	Eton won by inns. and 87 runs
1844	Eton won by 27 runs	1896	Winchester won by eight wkts.
1845	A Tie	1897	Winchester won by 51 runs
1846	Eton won by inns. and 55 runs	1898	Drawn
1847	Eton won by inns. and 78 runs	1899	Eton won by one wicket
1848	Eton won by 65 runs	1900	Drawn
1849			
	Eton won by inns. and 27 runs	1901	Eton won by two wickets
1850	Eton won by five wickets	1902	Eton won by four wickets
1851	Winchester won by 26 runs	1903	Eton won by 43 runs
1852	Winchester won by 30 runs	1904	Winchester won by eight wkts.
1853	Winchester won by 35 runs	1905	Drawn
1854	Winchester won by three wkts.	1906	Drawn
1855	Eton won by 46 runs	1907	Winchester won by nine wkts.
1856	Eton won by inns. and 4 runs	1908	
1857	Eton won by inne and 21 mine	1909	Eton won by inns. and 14 runs
1858	Eton won by inns. and 31 runs		Drawn
	Winchester won by one wicket	1910	Drawn
1859	Winchester won by three wkts.	1911	Eton won by 58 runs
1860	Eton won by 19 runs	1912	Eton won by inns, and 46 runs
1861	Eton won by nine wickets	1913	Eton won by inns, and 47 runs
1862	Eton won by one wicket	1914	Drawn
1863	Eton won by inns, and 194 runs	1919	Winchester won by 69 runs
1864	Eton won by nine wickets	1920	Winchester won by 131 runs
1865	Drawn	1921	Eton won by seven wkts.
1866		1922	
	Eton won by ten wickets		Drawn
1867	Eton won by inns. and 10 runs	1923	Drawn
1868	Eton won by eight wickets	1924	Eton won by inns. and 19 runs
1869	Eton won by inns. and 36 runs	1925	Drawn
1870	Winchester won by one wicket	1926	Drawn
1871	Winchester won by 8 runs	1927	Drawn
1872	Eton won by inns. and 125 runs	1928	Drawn
1873	Eton won by five wickets	1929	Drawn
1874	Eton won by inns. and 202 runs	1930	Eton won by seven wickets
1875			
	Eton won by five wickets	1931	Eton won by two wickets
1876	Eton won by inns. and 99 runs	1932	Drawn
1877	Eton won by inns. and 121 runs	1933	Drawn
1878	Winchester won by six wickets	1934	Drawn
1879	Eton won by 45 runs	1935	Drawn
1880	Eton won by 9 runs	1936	Drawn
1881	Eton won by six wickets	w. Shipping	ANTONIO (LEGIS)
		tab m	wlamed at Tondia but sin - torr
(mb	rom 1826 to 1854 inclusive, the ma	uch was	played at Lord's, but since 1855
(when	the sides met at Eton) the gam	ies nave	taken place alternately on the
Eton	and Winchester grounds.		THE RESERVE THE PROPERTY OF THE PERSON NAMED IN

Eton and Winchester grounds.

Of the 103 matches mentioned above, Eton have won 53 and Winchester 26, one has ended in a tie and 23 have been drawn.

The one-day matches during the War were not reckoned as belonging to the regular series.

## UPPINGHAM SCHOOL v. SHREWSBURY SCHOOL.

Played at UPPINGHAM, Friday, Saturday, June 26, 27.—The Shrewsbury batsmen could do little against the clever bowling of D. W. Gillespie and suffered defeat by 29 runs.

UPPINGHAM SCHOOL.
G. W. E. Ray c Shaw b Pooley 89 — c Groves b Pooley 15
E. A. Bland b Crawford 10
R. A. Carr b Groves
D. W. Gillespie lbw, b Shaw 14 — b Crawford 3
W. J. Pershke lbw, b Pooley 2 — c Bowring b Crawford 10
P. Gillespie c Rothwell b Pooley 22
A. C. Spencer c Shaw b Pooley 14 — b Crawford 3
A. T. W. Taylor c Kingsford b Groves 2 — not out 6
R. W. V. Neathercoat c Minford b Lane 18 — lbw, b Pooley
F. R. Charles b Shaw 0 — b Pooley 0
F. R. Ellerton not out
Byes, etc 14 Byes, etc
Bycs, etc
204 Seven wkts., dec. 94
SHREWSBURY SCHOOL.
A. F. Kingsford c Ray b Pershke 8 — st Taylor b Spencer 28
N. H. Bowring c Taylor b Charles 38 — c Taylor b Pershke 15
N. H. Bowring c Taylor b Charles
N. H. Bowring c Taylor b Charles
N. H. Bowring c Taylor b Charles       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W.       0 — not out       2
N. H. Bowring c Taylor b Charles       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W.       0 — not out       2
N. H. Bowring c Taylor b Charles       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W.       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gil-       2
N. H. Bowring c Taylor b Charles.       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W. Gillespie       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gillespie       15 — lbw, b Spencer       15
N. H. Bowring c Taylor b Charles.       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W.       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gillespie       15 — lbw, b Spencer       15         R. J. Rothwell b Charles.       22 — lbw, b D. W. Gillespie       19
N. H. Bowring c Taylor b Charles.       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W. Gillespie       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gillespie       15 — lbw, b Spencer       15         R. J. Rothwell b Charles       22 — lbw, b D. W. Gillespie       15         P. H. Blagg b D. W. Gillespie       22 — b D. W. Gillespie       0
N. H. Bowring c Taylor b Charles.       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W. Gillespie       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gillespie       15 — lbw, b Spencer       15         R. J. Rothwell b Charles.       22 — lbw, b D. W. Gillespie       19         P. H. Blagg b D. W. Gillespie       22 — b D. W. Gillespie       0         L. M. Minford b D. W. Gillespie       0 — b D. W. Gillespie       0
N. H. Bowring c Taylor b Charles.       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W. Gillespie       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gillespie       15       lbw, b Spencer       15         R. J. Rothwell b Charles       22 — lbw, b D. W. Gillespie       19         P. H. Blagg b D. W. Gillespie       22 — b D. W. Gillespie       0         L. M. Minford b D. W. Gillespie       0 — b D. W. Gillespie       0         R. G. Shaw b D. W. Gillespie       0 — c Charles b Pershke       57
N. H. Bowring c Taylor b Charles.       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W. Gillespie       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gillespie       15 — lbw, b Spencer       15         R. J. Rothwell b Charles.       22 — lbw, b D. W. Gillespie       19         P. H. Blagg b D. W. Gillespie       22 — b D. W. Gillespie       0         L. M. Minford b D. W. Gillespie       0 — b D. W. Gillespie       0         R. G. Shaw b D. W. Gillespie       0 — c Charles b Pershke       0         J. B. V. Pooley c Pershke b Ellerton       5 — lbw, b D. W. Gillespie       0
N. H. Bowring c Taylor b Charles.   38 - c Taylor b Pershke   15
N. H. Bowring c Taylor b Charles.       38 — c Taylor b Pershke       15         M. G. Crawford lbw (N), b Ellerton       3 — b Ellerton       2         G. D. Lane c Neathercoat b D. W. Gillespie       0 — not out       2         A. T. G. Groves c Taylor b D. W. Gillespie       15 — lbw, b Spencer       15         R. J. Rothwell b Charles.       22 — lbw, b D. W. Gillespie       19         P. H. Blagg b D. W. Gillespie       22 — b D. W. Gillespie       0         L. M. Minford b D. W. Gillespie       0 — b D. W. Gillespie       0         R. G. Shaw b D. W. Gillespie       0 — c Charles b Pershke       57         J. B. V. Pooley c Pershke b Ellerton       5 — lbw, b D. W. Gillespie       0         D. H. Crawford not out       0 — b Pershke       0
N. H. Bowring c Taylor b Charles.   38 - c Taylor b Pershke   15

## EPSOM COLLEGE v. ST. JOHN'S SCHOOL, LEATHERHEAD.

Played at EPSOM, Saturday, June 27.—Clever bowling by A. W. Jackson almost earned victory for St. John's, but Epsom won the match by one wicket. Continuing their innings, Epsom gained a lead of 24.

ST. JOHN'S SCHOOL,	LEATHERHEAD.
P. B. Mitchell b McVail 4	E. R. M. Saunders b Smythe 13
O. E. B. Hughes c Smythe b McVail 7	J. D. Rosser c Darbyshire b Smythe 10
D. W. H. Davies c Thompson b	B. W. Wilks b McVail 4
Darbyshire	C. O. P. Trimble not out 0
P. C. Lindsey b McVail 2	Byes, etc 7
P. A. G. Learmond c Dyball b Smythe 0	Towards Widmonth Lobrati A to -
A. W. Jackson c Wilkes b McVail 30	128
M. F. Skittery b Perkins 0	
EPSOM CO	
TOTAL TO A ALL THE A AGE	To A Dealine Timber 1 To almost 0

M. F. Skittery b Perkins 0	A. D. Stocker a and by College
EPSOM	COLLEGE.
. N. Darbyshire c Lindsey b Hughes 16	D. A. Perkins c Lindsey b Jackson 8
E. G. L. Thompson c and b Saunders 21	V. D. O. Smythe b Jackson 2
M. W. Hubble lbw, b Jackson 27	
H. F. Steele-Smith b Hughes 1	A. G. S. Wilkes c Rosser b Mitchell 17
A. A. Grubb b Jackson 1	J. C. G. McVail not out 25
C. R. D. Knaggs lbw, b Jackson 15	Byes, etc
	A K V Nagasaka radio da la
	152

## HARROW SCHOOL V. CHARTERHOUSE SCHOOL,

Played at Harrow, Monday, Tuesday, June 29, 30.—Set to get 149 runs to win following a sporting declaration by the Charterhouse captain, Harrow just failed in their task and the match was left drawn.

CHARTFRHOUSE SCHOOL.
J. M. Lomas not out
P. C. Weeks b Stuart 0 — c Reunert b Stuart 2
P. R. Crompton b Carris
C. W. S. Lubbock b Reunert 14 — c Stuart b Carris 8
A. K. Hughes lbw, b Reunert 2 — b Carris 3
P. F. Beane c Seligman b Stuart 1 — b Watson 26
J. A. Crompton c Seligman b Reunert 8 — c Lindsay b Reunert 0
G. G. Dunbar e Lindsay b Carris 3
J. L. Pearce b Carris 0 — c Carris b Sage 6
M. H. C. Morris c Carris b Sage 10 — not out
A. C. Karsten b Stuart 0
Byes, etc
_
179 Seven wkts., dec. 151
HAPPOW SCHOOL
HARROW SCHOOL,  B. D. Carris Ibw (N) b Dunbar 12 — c Dunbar b Lubbock 25
B. D. Carris lbw (N), b Dunbar 12 — c Dunbar b Lubbock 25
B. D. Carris lbw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Henriques b Hughes       8 — c Pearce b Lubbock       7
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Henriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Henriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3
B. D. Carris Ibw (N), b Dunbar         12 — c Dunbar b Lubbock         25           P. A. R. Lindsay b Karsten         4 — b Karsten         31           D. J. Q. Heariques b Hughes         8 — c Pearce b Lubbock         7           M. D. Watson b Dunbar         68 — c Pearce b Karsten         7           R. A. Holt b Lubbock         7 — not out         3           R. C. Goodchild b Lubbock         0 — c Lomas b Dunbar         9
B. D. Carris lbw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Henriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3         R. C. Goodchild b Lubbock       0 — c Lomas b Dunbar       9         A. O. Collins c Pearce b Hughes       42 — c J. A. Crompton b Dunbar       38
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Hegriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3         R. C. Goodchild b Lubbock       0 — c Lomas b Dunbar       9         A. O. Collins c Pearce b Hughes       42 — c J. A. Crompton b Dunbar       38         C. J. Sage b Dunbar       11
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Heariques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3         R. C. Goodchild b Lubbock       0 — c Lomas b Dunbar       9         A. O. Collins c Pearce b Hughes       42 — c J. A. Crompton b Dunbar       38         C. J. Sage b Dunbar       11         R. M. Seligman c Beane b Dunbar       14 — not out       1
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       5         D. J. Q. Henriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3         R. C. Goodchild b Lubbock       0 — c Lomas b Dunbar       9         A. O. Collins c Pearce b Hughes       42 — c J. A. Crompton b Dunbar       38         C. J. Sage b Dunbar       11         R. M. Seligman c Beane b Dunbar       14 — not out       1         J. M. Reunert not out       2
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Hegriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3         R. C. Goodchild b Lubbock       0 — c Lomas b Dunbar       9         A. O. Collins c Pearce b Hughes       42 — c J. A. Crompton b Dunbar       38         C. J. Sage b Dunbar       11         R. M. Seligman c Beane b Dunbar       14 — not out       1         J. M. Reunert not out       2         D. W. Stuart b Dunbar       2 — b Karsten       4
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       5         D. J. Q. Henriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3         R. C. Goodchild b Lubbock       0 — c Lomas b Dunbar       9         A. O. Collins c Pearce b Hughes       42 — c J. A. Crompton b Dunbar       38         C. J. Sage b Dunbar       11         R. M. Seligman c Beane b Dunbar       14 — not out       1         J. M. Reunert not out       2
B. D. Carris Ibw (N), b Dunbar       12 — c Dunbar b Lubbock       25         P. A. R. Lindsay b Karsten       4 — b Karsten       31         D. J. Q. Hegriques b Hughes       8 — c Pearce b Lubbock       7         M. D. Watson b Dunbar       68 — c Pearce b Karsten       7         R. A. Holt b Lubbock       7 — not out       3         R. C. Goodchild b Lubbock       0 — c Lomas b Dunbar       9         A. O. Collins c Pearce b Hughes       42 — c J. A. Crompton b Dunbar       38         C. J. Sage b Dunbar       11         R. M. Seligman c Beane b Dunbar       14 — not out       1         J. M. Reunert not out       2         D. W. Stuart b Dunbar       2 — b Karsten       4

## SHERBORNE SCHOOL V. WESTMINSTER SCHOOL.

Played at Sherborne, Tuesday, Wednesday, June 30, July 1.—Outstanding batting performances were frequent in a high-scoring match which ended in a draw. Westminster, with five wickets to fall, finished 44 ahead. J. F. N. Hodgkinson and M. S. Glennie put on 183 for Sherborne's first wicket while Glennie and Hutton added 174 for the second stand. P. P. Gawthorne and F. F. Richardson did well for Westminster,

WESTMINSTER SCHOOL.
F. F. Richardson b Lilley
D. L. Wilkinson b Hutton 29 — b Hutton 9
W. J. A. Boyle e Glennie b Hutton 7 — st Glennie b Hodgkinson 42
P. P. Gawthorne not out
J. D. Stocker c and b Lilley 28 — c Lilley b Bashford 27
D. F. Cunliffe b Tasker
K. S. Andrews run out
J. C. S. Doll lbw, b Lilley 0
E. A. Sinclair c Glennie b Bashford 7
J. W. Woodbridge b Tasker 0
R. B. S. Instone run out 0  Byes, etc. 7 Byes, etc. 2
Byes, etc
247 Five wkts. 220
24/ TIVE WAUS. 220

#### SHERBORNE SCHOOL.

J. F. N. Hodgkinson run out 78 M. S. Glennie run out 176 J. M. Hutton run out 132 S. J. D. Robinson b Boyle 11 G. H. W. Manning not out 15 D. I. C. Boissier b Cunliffe 6 Byes, etc. 5	R. F. S. Chignell M. R. Geake H. J. C. Bashford A. L. A. Tasker G. G. Lilley	did not bat.
Five wkts., dec. 423		

## CHRIST'S HOSPITAL V. WHITGIFT SCHOOL.

Played at Horsham, Wednesday, July 1.—Sound batting by D. H. F. Graves enabled Whitgift to win a close match by three wickets.

## CHRIST'S HOSPITAL.

F. H. Terry c Bird b Bangs 5 J. S. G. Walenn c Bangs b Graves 27 A. G. Lang lbw (N), b Foster	J. A. Cotton c Bird b Bangs       2         R. F. Lilley c Graves b Foster       5         N. L. Hett b Bangs       1         S. G. Watson not out       2         G. E. Dodds b Bangs       6         Byes, etc.       12
G. K. Mason c Graves b Hornsby 19	12 146

WHITGIFT	SCHOOL.
D. H. F. Graves b Cotton	S. E. Lovatt not out 1 P. O. V. Green not out 6 Byes, etc. 13
W. H. Bangs b Cotton	T. R. Foster M. C. Hornsby  Seven wkts. 149  did not bat.

## RUGBY SCHOOL v. UPPINGHAM SCHOOL.

Played at Rugby, Wednesday, July 1.—Uppingham outplayed Rugby and won by eight wickets.

#### RUGBY SCHOOL.

R. D. Clark lbw (N), b Pershke 9	A. K. Markland b Pershke 4
D. G. Clark lbw, b Spencer 5	J. R. Bridger b Ellerton 11
D. P. G. Elliot b D. W. Gillespie 37	M. E. Whitelock c Neathercoat b
D. M. Scott lbw, b Spencer 5	Spencer 10
P. A. H. Marriott b Ellerton 0	R. J. E. Inglis not out 9
A. Kershaw b Pershke 7	Byes, etc 5
D. de G. Walford b Pershke 3	
	105

#### TIPPINGULAM SCHOOL

OPPIN	GHAM	SCHOOL.	
G. W. E. Ray not out E. A. Bland Ibw, b Inglis R. A. Carr c Walford b Bridger P. Gillespie not out Byes, etc. Two wkts.	0 40 5 11	W. J. Pershke D. W. Gillespie A. C. Spencer A. T. W. Taylor R.W.V. Neathercoat F. R. Charles F. R. Ellerton	did not bat

## KING EDWARD'S SCHOOL, BIRMINGHAM v. DENSTONE COLLEGE

Played at BIRMINGHAM, Thursday, July 2.—R. F. K. Innes, taking six wickets for 23 runs, brought about a collapse by King Edward's and Denstone won by five wickets.

KING EDWARD'S S N. H. Wilkins lbw, b Innes 7 J. Drew c Watson b Innes 3 E. F. Twiss b Innes 0 E. W. Farr b Innes 50 T. G. Freeman b Innes 2 J. J. Smith not out 23 R. A. McIlveen run out 4	OHOOL, BIRMINGHAM.   J. A. Downes c Innes b Pegler   O P. B. Ansell lbw, b Innes   O R. D. Williams lbw, b Pegler   O R. S. Pike lbw, b Pegler   O Byes, etc.   6
DENSTONE	COLLEGE.  E. P. Wardell B. H. Pegler J. Rogers F. G. Dixon

## WELLINGTON COLLEGE v. HAILEYBURY COLLEGE.

Played at Wellington, Friday, Saturday, July 3, 4.—Splendid bowling by G. Y. Hildick-Smith, who took five wickets for 19 runs in the second innings, brought about a startling Wellington collapse and Haileybury won by 129 runs,

HAILEYBURY COLLEGE.	
N. S. Harrison c Eddison b Parker 15 — c Roberts b Goodall	51
G. C. de Boinville c McCall b Hunter 0 — c Eddison b McCall	0
J. W. W. Hoare b Hunter 0 — b Pedraza	
R. M. Childs b Hunter 0 — b Pedraza	
F. I. C. Herridge st Perkins b Goodall 16 — c Perkins b McCall	5
H. J. L. Marriott b Hunter 5 — b Pedraza	0
R. D. Jupp c Gell b Parker 18 — b Parker	
D. F. W. Hallitet Ibw (17), b Lanker 1	10
G. Y. Hildick-Smith c Goodall b Hunter 27 — lbw, b Pedraza	
D. N. Cornock Taylor c Perkins b Hunter 0 — c Eddison b Parker	8
J. A. Cantiay not out	9
Byes, etc 3 Byes, etc	9
$\overline{98}$	.88
90	.00
WELLINGTON COLLEGE.	
F. D. B. Eddison c Jupp b Hildick-Smith 22 — b Hoare	0
S. O. I. O'B. Dawson b Hildick-Smith 2 — b Hildick-Smith	2
A. L. McCall c Jupp b Harrison 34 — lbw, b Hildick-Smith	5
G. J. W. Pedraza c Cornock Taylor b Hoare 3 — c Marriott b Hildick-Smith	5 3 3
A. G. Roberts c de Boinville b Harrison 23 — c and b Hildick-Smith	3
G. T. G. Hunter not out	
Hon. L. C. F. Shore b Hildick-Smith 0 — c Hanmer b Harrison	12
C. W. M. Gell c Hanmer b Hoare 3 — c and b Hoare	0
J. M. Perkins b Hildick-Smith 6 — hit wkt, b Cantlay	1
K. M. Goodall c and b Hoare 1 — not out	1
Byes, etc 5 Byes, etc	
118	39

## Public School Matches.

## SHERBORNE SCHOOL v. DOWNSIDE SCHOOL.

Played at Sherborne, Saturday, July 4.—A fine hundred by J. M. Hutton was chiefly responsible for Sherborne winning by four wickets.

#### DOWNSIDE SCHOOL.

R. L. Masters b Lilley	R. T. Addington c Robinson b Tasker T. G. Hemming b Bashford 8 V. E. Camacho not out 0 R. G. Sheridan Ibw, b Bashford Byes, etc. 6 190
SHERBORNE	SCHOOL.
J. F. N. Hodgkinson lbw, b Sheridan 7         M. S. Glennie b Sheridan	H. J. C. Bashford A. L. A. Tasker G. G. Lilley

#### RADLEY COLLEGE V. BRADFIELD COLLEGE.

Played at Radley, Tuesday, July 7.—Excellent bowling by H. A. Collins, who took eight wickets for 60 runs, enabled Bradfield to win a thrilling match by four runs.

## BRADFIELD COLLEGE.

DIRECTION	Common
M. D. Tucker c and b Richards 19 D. C. Pothecary st Willcocks b Falkiner 51 R. G. Wilson c and b Richards 6 T. I. D. Heathcote b Richards 6 P. J. Cave-Bigley st Willcocks b	F. E. Templer c Nicholson b Birks       23         J. D. L. Boyle lbw, b Richards       20         N. S. P. Evans b Sell       16         H. A. Collins not out       0         Byes, etc.       3
McIntosh 2	160
R. E. Henshaw c Mackarness b Birks 7	The state of the s
G Paine e Willeneks h Richards 7	

#### RADLEY COLLEGE.

J. G. Mackarness c and b Collins 17 D. N. Sell c Henshaw b Collins 45 N. W. Nicholson run out 7 D. T. M. Birks c Tucker b Collins 11 M. F. Wynne-Willson c Paine b  E. R. J. Richards lbw, b Henshaw H. W. McIntosh not out 19 J. F. Willcocks c Henshaw b Collins Byes, etc. 19 Byes, etc. 19			
Comms	J. L. I. Cranston c Evans b Collins 26   J. G. Mackarness c and b Collins 17   D. N. Sell c Henshaw b Collins	Collins	) ) .

Public School Matches.

## UPPINGHAM SCHOOL v. OUNDLE SCHOOL.

Played at Uppingham, Tuesday, July 7.—Thanks to a brilliant hundred by R. A. Carr, Uppingham were able to declare with five wickets down, and they won by 166 runs.

## UPPINGHAM SCHOOL

G. W. E. Ray lbw (N), b Llewellyn 4 E. A. Bland b Wilson 6 R. A. Carr c Butler b Wright 113 D. W. Gillespie b Cowen 55 P. Gillespie b Llewellyn 32 A. Bainbridge not out 19 R. W. V. Neathercoat not out 29 Byes, etc. 17	W. J. Pershke A. C. Spencer A. T. W. Taylor F. R. Ellerton	did not bat.
--	---	--------------

### OUNDLE SCHOOL.

J. M. H. Lewis b Bland	M. F. Llewellyn not out J. M. B. Butler b Ellerton R. H. Martin lbw (N), b Ellerton A. Y. Wilson absent hurt Byes, etc.
T. S. Ringrose lbw, b D. W. Gillespie 14	10:

## REPTON SCHOOL v. RUGBY SCHOOL.

Played at Repton, Tuesday, July 7.—Declaring with seven men out, Repton dismissed Rugby a few minutes before the end and won by 100 runs.

## REPTON SCHOOL.

R. M. Bagnall c Kershaw b Bridger 64	J. J.
W. D. Hodgkinson c Whitelock b	F.
Kershaw 30	F
J. A. T. Sharp b Markland 22	
G. L. Willatt c and b Bridger 13	
R. L. Lowcock e D. G. Clark b Bridger 0	A.
M. Barber c Inglis b Whitelock 9	J. 1
L. D. Hall not out 46	

J. Davenport lbw, b Kershaw	0
F. F. Fisher not out	
Byes, etc.	11
	_
Seven wkts., dec. 2	11
A. H. Barnett J. H. Hughes did not bat.	

## RUGBY SCHOOL

R. D. Clark c Hodgkinson b Barnett	21
D. G. Clark c Fisher b Davenport	0
D. P. G. Elliot e Bagnall b Lowcock	3
D. M. Scott c Bagnall b Barnett	5
P. A. H. Marriott lbw, b Hughes	0
A. Kershaw b Hall	30
D. de G. Walford lbw, b Davenport	16

onoon.	
A.K.Markland c Sharp b Davenport	
	7 2
R. J. E. Inglis lbw, b Davenport	ō
Byes, etc.	11

## WESTMINSTER SCHOOL v. CHARTERHOUSE SCHOOL.

Played at Westminster, Saturday, July 11.—J. M. Lomas, the Charterhouse captain, played splendidly for his not-out hundred, but rain held up the game for an hour and the match was left drawn.

## CHARTERHOUSE SCHOOL.

J. M. Lomas not out	A. K. Hughes	
P. C. Weeks b Boyle 15	P. F. Beane	
P. R. Crompton b Sutton 46	J. A. Crompton	14 7 -4
C. W. S. Lubbock not out 41		l not bat.
Byes, etc 6	J. L. C. Pearce	
— I	G. G. Dunbar	
Two wkts., dec. 226	A. C. Karsten	

## WESTMINSTER SCHOOL.

F. F. Richardson lbw, b Dunbar D. L. Wilkinson b Karsten W. J. A. Boyle not out Byes, etc Two wkts.	8 0 1 —	P. P. Gawthorne J. D. Stocker P. J. Sutton J. C. S. Doll D. F. Cunliffe K. S. Andrews J. W. Woodbridge R. B. S. Instone	did not bat.
---	------------------	---	--------------

## DULWICH COLLEGE v. TONBRIDGE SCHOOL.

Played at Dulwich, Saturday, July 11.—Owing to rain, little cricket took place.

#### DULWICH COLLEGE.

J. C. Bartlett c Thompson b Parsons J. W. Drury b Parsons A. C. Shirreff c Stevens b Parsons S. C. Silkin not out G. S. Staniforth b Parsons Byes, etc.  1	E. B. Thornton P. A. Dickson G. R. T. Williams	did not bat.
Four wkts. 11	16	

TONBRIDGE SCHOOL:—T. C. Cobb, J. D. Parsons, J. R. Thompson, D. H. Lloyd-Morgan, E. C. Bousfield, B. W. Cox, B. N. S. Kidson, M. Latham, D. G. W. Yeats-Brown, P. G. C. Wood, and P. R. Stevens.

## ORATORY SCHOOL v. BEAUMONT COLLEGE.

Played at Lord's, Saturday, July 25.—Although J. D. Ruane took five wickets for 19 runs, and P. A. Burden batted well, Beaumont lost to Oratory by 26 runs.

#### ORATORY SCHOOL.

D.M.Hamel-Smith c Brown b Burden   5	A. P. Pettit c and b Cussen 19 J. M. Connaughton c H. Cashin b Ruane 5 E. M. Binyon run out 12 C. A. Bodenham not out 23 Byes, etc. 11
--------------------------------------	--

#### BEAUMONT COLLEGE.

J. Cashin b R. W. Bodenham 9 P. Brown b Connaughton 6	M. Hetreed c Hurford-Jones b R. W. Bodenham 5
N. Pace b Connaughton 0 P. A. Burden c Hurford-Jones b	E. Mooney not out 7
R. W. Bodenham 53	H. Cashin b R. W. Bodenham 0 J. D. Ruane c R. W. Bodenham b
W. D. Cussen b Connaughton 11 M. A. Chamberlain c M. C. Boden-	Connaughton 0
ham b Binyon 6	Byes, etc 5
•	102

## WELLINGTON COLLEGE v. CHARTERHOUSE SCHOOL.

Played at Wellington, Saturday, July 25.—Owing to heavy rain, only half an hour's cricket proved possible.

#### WELLINGTON COLLEGE.

F. D. B. Eddison not out	A. G. Roberts G. J. W. Pedraza H. I. M. Makgill-Crichton Hon. L. C. F. Shore J. M. Brunskill G. T. G. Hunter J. H. L. Parker H. B. Goodall	did not bat.
--------------------------	--	--------------

CHARTERHOUSE SCHOOL:— J. M. Lomas, P. R. Crompton, A. H. Beane, P. C. Weeks, G. G. Dunbar, A. K. Hughes, C. W. S. Lubbock, J. A. Crompton, A. C. Karsten, P. F. Beane, and J. L. C. Pearce.

71

July 7, Wimbledon	M.C.C	238*for 6 214 for 8	ensuar Lucia	Drawn.
July 8, 9, Fleetwood	Rossall School M.C.C.	238 276	136 104 for 4	Won by 7 wickets.
July 8 Motspur Park	University of London M.C.C.	194 166 for 9	pi <del>a zrog</del> u	Drawn.
July 9, Chiswick	M.C.C	in in the man	<u> </u>	Apandoned owing to rain.
July 9, Felsted	M.C.C	133 for 3	_	Drawn.
July 9, Windsor	M.C.C	=	=	Abandoned owing to rain.
July 9, Highgate	M.C.C. Highgate	n=015.1	=	Abandoned owing to rain.

M.C.C. Matches.

#### ETON V. HARROW.

Played at LORD'S, Friday, Saturday, July 10, 11.—Drawn. The 107th match between Eton and Harrow was almost entirely ruined by the weather. The Lord's ground suffered severely from unremitting rain, and cricket was restricted to no more than three hours and forty minutes. One has to go back as far as 1922 to find a meeting of Eton and Harrow affected by the weather to anything like the same extent; on that occasion rain prevented any play on the first day but only an hour was lost on the Saturday. In the circumstances, it was surprising that so many people patronised the game at present under review. On Friday the attendance was officially returned as 14,000 and on Saturday, when play was limited to 55 minutes before lunch, there were 11,000 people on the ground.

Only diligent work by the ground staff made a start possible at two o'clock, lunch having been taken early. Naturally, the pitch remained very soft and the outfield was treacherous, but despite these wretched conditions the boys carried on cheerfully. Harrow won the toss and Eton began their bowling with Wild, a left-arm fastish bowler, and Rodwell (right-arm, medium pace). Neither of these bowlers causing much trouble to batsmen, Macindoe was put on with 14 scored, and, making the ball swing late and awkwardly from the off, he quickly bowled Goodchild, while Wild accounted for Henriques, who did not appear to sight a plain straight ball at which no stroke was offered. When Carris and Lindsay showed signs of settling down, another bowling change-J. P. Mann for Wild—was tried with successful results, for Carris, having batted steadily for about an hour, lifted a short ball and was taken at cover. Worse followed for Harrow, as Lindsay, hitting out, fell at 56, but then Holt and Watson, after surviving some anxious moments, gained confidence against some erratic bowling and took part in a valuable fifth wicket stand which realised 86 in 65 minutes before Holt was out. He "ducked" to avoid a rising delivery, but the ball struck his bat and went into the hands of a slip fieldsman. The next ball dismissed Collins. After the tea-interval Watson completed 50 in 85 minutes, but with that individual feat accomplished rain intervened and the day's play ended with Harrow's score 161 for six wickets, Watson being 57.

Nothing could be done until quarter-past twelve on Saturday and then Harrow, risking everything to force runs quickly, lost their four remaining wickets in half an hour for the addition of 19. Eighth out at 179, when he attempted a big hit and was bowled, Watson batted with much enterprise and revealed natural ability. His off-driving was splendid and anything short of a length he pulled severely. Eton bowled at him for an hour and fifty minutes. The dead pitch gave the attack no assistance and considering the conditions Macindoe accomplished a praiseworthy performance in taking six wickets for just over eight runs apiece. Eton maintained a very high standard of fielding and the excellent wicket-keeping of England was an outstanding feature.

Going in at one o'clock, Eton had only twenty-five minutes batting before rain stopped the game for good. During that time, F. G. Mann, the Eton captain, watched the bowling with marked care, and Boughey, chiefly by neat deflections

to leg, made runs in good style. Together, they scored 26.

#### HARROW

Mr. C. J. Sage c Jackson b Macindoe 3 Mr. J. M. Reunert c England b Macindoe

Mr. F. G. Mann not out 6 Mr. J. F. Boughey not out 20	Mr. V. L. Wild Mr. J. P. Mann	Year I was to
mi. s. F. Boughey not out 20	Mr. D. H. Macindoe	ermelle total
No wkt. 26	Mr. J. B. Jackson	Frmall RASI
distant religion of Sint of Sint .	Mr. J. A. B. Dickson	did not bat,
nor our period " Eastle	Mr. F. F. T. Barnardo	SPARENT ISSUE
THE BLOD WOR BY WILLIAM	Mr. R. M. England	condit sage
today when wen by this wickers	Mr. R. H. Rodwell	STATE STATE

## ETON BOWLING.

	Overs	Mdns.	Runs	Wkts.
Wild	15	2	43	2
Rodwell	6	1	19	0
Macindoe	28.5	9	50	6
J. P. Mann	15	1	35	2
Boughey	2	0	4	0
F. G. Mann	5	1	21	0

## HARROW BOWLING.

Stuart	5	3	13	0
Reunert	5	0	10	0
Carris	0.3	0	3	. 0

Umpires: J. Hardstaff and J. Newman.

73.

	RESULTS OF ETON ANI	HARF	ROW MATCHES.
1805	Eton won by an inns. and 2 runs	1881	Harrow won by 112 runs
1818	Harrow won by 13 runs	1882	Drawn
1822	Harrow won by 87 runs	1883	Drawn
1823	Eton won by inns. and 33 runs	1884	Drawn
	Eton won by nine wickets	1885	Harrow won by three wickets
1824	Eton won by nine wickets	1886	Eton won by six wickets
1825	Eton won by seven wickets	1887	Eton won by five wickets
1827	Eton won by six wickets	1888	Harrow won by 156 runs
1828	Eton won by six wickets	1889	Harrow won by nine wickets
1832	Eton won by inns. and 156 runs	1890	Drawn
1833	Harrow won by eight wickets	1891	Harrow won by seven wickets
1834	Harrow won by 13 runs	1892	Harrow won by 64 runs
1835	Eton won by 165 runs	1893	Eton won by nine wickets
1836		1894	Drawn
1837	Eton won by eight wickets	1895	Drawn
1838		1896	Drawn
1839		1897	Drawn
1840	Eton won by 31 runs		Harrow won by nine wickets
1841		1898	Drawn
1842	Harrow won by 65 runs	1899	Harrow won by one wicket
1843	Harrow won by 20 runs	1900	Harrow won by ten wickets
1844	Eton won by inns, and 69 runs	1901	Harrow won by eight wickets
1845	Eton won by inns. and 174 runs	1902	Eton won by inns. and 154 runs
1846		1903	Eton won by inns. and 12 runs
1847		1904	
1848	Harrow won by 41 runs	1905	Eton won by four wickets
1849	Harrow won by 77 runs	1906	Harrow won by 79 runs
1850	Eton won by seven wickets	1907	Harrow won by 79 runs
1851	Harrow won by eight wickets	1908	Harrow won by ten wickets
1859	Harrow won by 71 runs	1909	Drawn
1853		1910	Eton won by nine runs
1854	Harrow won by 98 runs	1911	Eton won by three wickets
185	Harrow won by inns. & 66 runs	1912	Eton won by six wickets
1858	Harrow won by inns, and 7 runs	1913	Eton won by nine wickets
1859		1914	Eton won by four wickets
186		1915	to 1918. No regular match
186	1 Drawn		during the war
186		1919	Eton won by 202 runs
186	3 Drawn	1920	Eton won by nine wickets
186	4 Harrow won by inns. & 66 runs	1921	Eton won by seven wickets
186	5 Harrow won by inns. & 51 runs	1922	Drawn
186		1923	Drawn
186	7 Drawn runs	1924	Drawn
186	8 Harrow won by seven wickets	1925	Drawn
186	9 Eton won by inns. and 19 runs	1926	Drawn
187	0 Eton won by 21 runs	1927	Drawn
187	1 Eton won by inns. and 77 runs	1928	Eton won by 28 runs
187	2. Eton won by six wickets	1929	Drawn
187	3 Harrow won by five wickets	1930	Eton won by eight wickets
- 187		1931	
187	5 Drawn	1932	
187		1933	
187	7 Drawn	1934	
187		1935	
187	'9 Drawn	1936	Drawn
188		THE CASE	
200			

M.C.C. Matches.

Of the 107 matches played, Eton have won 42, Harrow 35, and 30 have been drawn. This is the generally published record, but Harrow men object very strongly to the game in 1805 being treated as a regular contest between the two schools, contending that it is no more correct to count that than the fixture in 1857 which has been rejected.

The one-day matches between the two schools during the War are not reckened as belonging to the regular series.

Thirty-three three-figure innings have been played in matches between the two schools, as follows :-

183 D. C. Boles (in 1904), Eton	112 A. W. Allen (in 1931), Eton
173 G. Wilson (in 1913), Harrow	109 K. F. H. Hale (in 1929), Eton
159 E. W. Dawson (in 1923), Eton	109 N. S. Hotchkin (in 1932), Eton
158 I. Akers-Douglas (in 1928), Eton	108 C. J. Ottaway (in 1869), Eton
153 N. S. Hotchkin (in 1931), Eton	108 R. B. Hoare (in 1888), Harrow
152 E. Bayley (in 1841), Eton	104 R. Pulbrook (in 1932), Harrow
142 T. G. O. Cole (in 1897), Harrow	103 L. G. Crawley (in 1921), Harrow
137 C. H. B. Blount (in 1912), Harrow	102*P. H. Stewart-Brown
135 J. Atkinson-Clark	(in 1923), Harrow
(in 1930), Eton	101 H.C.Pilkington (in 1896), Eton
135 A. K. Watson (in 1885), Harrow	100 E. Crawley (in 1885), Harrow
131 M. C. Bird (in 1907), Harrow	100 E. N. S. Crankshaw
124 J. H. Stogdon (in 1895), Harrow	(in 1903), Eton
120 B.J.T.Bosanquet (in 1896), Eton	100*M. C. Bird (in 1907), Harrow
117 A. W. Ridley (in 1871), Eton	100 R. H. Cobbold (in 1923), Eton
114 C. P. Foley (in 1886), Eton	100*P. V. F. Cazalet(in 1926), Eton
113 W. F. Forbes (in 1876), Eton	100 A. N. A. Boyd (in 1934), Eton
112*A. W. T. Daniel (in 1860), Harrow	100*P. M. Studd (in 1935), Harrow

In making his 183 Boles set up a new record for the match, beating the 152 obtained in 1841 by Emilius Bayley, afterwards the Rev. Sir John Robert Laurie. M. C. Bird in 1907, by scoring 100 not out and 131, performed a feat without precedent in the match. N. S. Hotchkin played the following innings: 1931, 153; 1932, 109 & 96; 1933, 88 & 12.

\* Signifies not out.

July 11, Aldenham	M.C.C	1st inns. 78 for 3	2nd inns.	Result.
July 11, Hampstead	M.C.C	94 for 5	nes vysát o salalaman	Drawn,
July 11, Beaconsfield	M.C.C	121 9 for 0	-70 <u>—</u> 2 mark a —254 (2)	Drawn.
July 13, Raeburn Place	M.C.C Edinburgh Academy			Abandoned owing to rain.
July 13, Lord's	Royal Artillery Royal Engineers	216 337	141 for 1	Drawn.
July 14, Colinton	Merchiston Castle M.C.C	79 208	range (W. Jan San <del>g</del> penjula Sangan	Won by 129 runs.
July 14, New Beckenham	Midland Bank M.C.C.	218*for 9 179 for 8	A r≟isho Ji H≟ino v	Drawn.

### CLIFTON v. TONBRIDGE.

Played at Lorn's, Monday, Tuesday, July 27, 28.—Drawn. Tonbridge had established a definite mastery when rain set in at lunch-time on Tuesday and put an end to the game. Clifton owed almost everything to a brilliant not-out hundred by Eberle. Against the fast-medium bowling of Parsons, Clifton began by losing four men for 45, but Scott, scoring well all round the wicket, helped Eberle to put on 96. After Scott left, Eberle received little assistance, but he hit hard to leg and revealed sound off-side strokes; his figures included thirteen 4's. When Tonbridge, despite a fine innings by Thompson, had six men out for 83, they rallied in grand style. A stand of 48 by Latham and Lloyd-Morgan started the recovery and Tonbridge finished the day 38 behind with three wickets in hand. On Tuesday, Lloyd-Morgan continued his careful defensive innings and is partinerships with Wood and Parsons yielded 50 and 44 respectively, while Parsons and Stevens added 53 for the last wicket. Hitting with rare power, and registering three 6's and eight 4's, Parsons scored his 68 in 75 minutes. Faced with a deficit of 72, Clifton opened deplorably and in fifty minutes lost four wickets for 21 runs before the rain came and saved them from the anxiety of fighting to avoid defeat.

CLIFTON.
Mr. A. B. Mutter b Stevens ... 20 — lbw (N), b Parsons ... 10
Mr. J. P. Smallbones b Parsons ... 8 — not out ... ... 5

Mr. G. B. Rawsthorne b Parsons	
Mr. I. A. Wallace c Latham b Parsons	
Mr. E. K. Scott c Cox b Cobb	42 — b Stevens 0
	106 — not out 0
Mr. S. G. Greenbury c Stevens b Parso	
Mr. R. R. S. Fisher c Kidson b Parson	s 3
Mr. G. A. Gibbs c Wood b Stevens	0
Mr. L. J. B. Firth c Kidson b Cobb	2
Mr. J. S. Perry st Latham b Cobb	
B 8, 1-b 2, w 2	12 L-b 1 1
	206 Four wkts. 21
	BRIDGE.
Mr. T. C. Cobb b Perry 0	
Mr. J. R. Thompson b Mutter 46	
Mr. E. C. Bousfield lbw (N), b Perry 0	
Mr. B. W. Cox c Perry b Scott 16	
Mr. D. G. W. Yeats-Brown b Scott 0	
Mr. B. N. S. Kidson c Fisher b Firth 17	B 8, 1-b 3, w 1, n-b 4 16
Mr. M. Latham c Greenbury b Firth 30	
	278
Tonbridge	E BOWLING.
	Wkts. Overs Mdns. Runs Wkts.
Parsons 30 14 53	5 8 2 12 2
Cobb 19.5 6 32	3 7 2 8 0
Stevens 15 6 30	$\begin{array}{cccccccccccccccccccccccccccccccccccc$
Kidson 8 1 28	$0 \dots 1  1  0  0$
Yeats-Brown 4 0 20	ai a 0 store the back or is a comme
Wood 6 3 21	the total and the control of the control of
Thompson 2 1 10	to Office alread stranger and by Terrana
CLIFTON	Bowling.
Perry 20 2 84	2 2 de la company de la compan
Scott 40 11 65	the 4 of the body bondered guinorita
Firth 25 3 87	to 2 the second to the analy declared the constant
Mutter 7.3 2 14	The 2 state and marked thank in the market
Rawsthorne 4 1 8	alla of little snew sound solder organily burger
Fisher 3 2 4	on the state of th
Umpires : D. H. Trege	ear and E. H. Sweetland.
	The same are the constitution of the same are the same ar

## RESULTS OF CLIFTON AND TONBRIDGE MATCHES.

1899 Clifton won by eight wickets	1924	Abandoned—rain
	1925	Drawn
	1926	Drawn
1014 Clifton won by nine wickets		Clifton won by 11 runs
		Tonbridge won by ten wickets
		Tonbridge won by one wicket
		Drawn
		Drawn
1919 Tonbridge won by nine wickets		Drawn
1920. Tonbridge won by nine wickets	1933	Clifton won by seven wickets
1021 Tophridge won by 141 runs	1934	Tonbridge won by 173 runs
1022 Clifton won by inns and 13	1935	Tonbridge won by one wicket
runs	1936	Drawn
1923 Drawn		
		1900   Drawn   1925   1901-13   No Matches   1926   1926   1914   Clifton won by nine wickets   1927   1915   Drawn   1928   1916   Drawn   1929   1917   Drawn   1930   1918   No Match   1919   Tonbridge won by nine wickets   1921   Tonbridge won by 141 runs   1921   Tonbridge won by 141 runs   1932   1932   1932   1933   1935   1936

## Played at Lord's in 1914 and from 1919.

Of the 24 matches Clifton have won 5 and Tonbridge 7. Eleven have been drawn, and one abandoned.

July 28, 29, Belfast	M.C.C	1st inns. 64	2nd inns. 91	Result. Lost by nine wkts.
	Irish Cricket Union's XI	144	12 for 1	
July 28, East Acton	Shepherd's Bush M.C.C	76 for 3	=	Drawn.
July 28, 29, Guernsey	M.C.C	325 113	150	Won by an inns. & 62.
July 29, East Grinstead	East Grinstead M.C.C	36 for 1	= .	Drawn.

## RUGBY v. MARLBOROUGH.

Played at LORD'S, Wednesday, Thursday, July 29, 30.—Drawn. With Wednesday's play limited to two and a half hours there never existed much chance of a definite result but a grand struggle developed for first innings lead. Before the soft pitch became difficult under the influence of sunshine, Scott and Kershaw scored 41 for Rugby's opening stand, but three wickets fell while the total rose to 49 and a complete collapse appeared probable when a heavy rainstorm flooded the ground. After a delay of three hours Bridger and Scott, batting on a lifeless pitch, carried the score to 99 and soon afterwards further rain ended play for the day. Next morning Walford hit out spiritedly and the Rugby total reached 161. Inglis, the last man, was run out in a curious way. He lifted a ball to Graham who held the ball momentarily before dropping it. Several of the players began walking to the payllion, but the umpire did not leave his position and on appeal gave "not out." Then the ball was thrown to the wicket-keeper who, before Inglis regained his crease, put down the wicket. Although Westwood batted well for Marlborough, six wickets fell for 61 but a seventh-wicket stand of 51 between Collins and Graham carried the side to within 19 of their opponents' score, and when Mallinson, the number eleven, joined Comyn nine runs were still wanted for the lead. After a snick for three and three byes there followed a series of maiden overs, but eventually Comyn put his side ahead. Bridger bothered the Marlborough batsmen with his leg breaks and eleverly disguised his googtics.

## RUGBY.

Mr. A. Kershaw b Mallinson 13	not out 64
Mr. D. M. Scott Ibw, b Comyn 51	- st Jelf, b Mallinson 4
Mr. D. P. G. Elliot b Graham 2	- c Jelf b Graham 40
Mr. R. D. Clark st Jelf b Mallinson 1	- not out 17
Mr. J. R. Bridger c Fletcher b Livingstone 28	
Mr. W. H. D. Dunnett b Mallinson 5	
Mr. P. A. H. Marriott c Westwood b Comyn 6	
Mr. D. de G. Walford c Comyn b Graham 31	
Mr. A. K. Markland c Westwood b Graham 7	
Mr. M. E. Whitelock not out 2	
Mr. R. J. E. Inglis run out 2	
B 1, 1-b 2, w 4, n-b 6 13	L-b 2, w 1, n-b 1 4
NAME OF TAXABLE PARTY.	_
161	Two wkts. 129

#### MARLBOROUGH.

Mr. G. D. Anderson b Bridger 10	Mr. D. I. Graham c Scott b White-
Mr. A. R. W. Livingstone b Mark-	lock
land 27	Mr. P. F. G. Fane run out 1
Mr. J. C. N. Westwood hit wkt, b	Mr. D. Comyn b Bridger 10
Bridger	Mr. M. S. Mallinson not out 2
Mr. H. G. Jelf lbw, b Inglis 2	B 10, l-b 9, w 1 20
Mr. G. E. Fletcher b Inglis 2	140
Mr. P. N. L. Terry b Bridger 8	169
Mr. J. H. Collins b Whitelock 39	

### MARLBOROUGH BOWLING.

	Overs	Mdns.	Runs	Wkts.	Overs	Mdns.	Runs	Wkts.
Comyn	17	5	35	2	 11	0	19	0
Fletcher	5	0	13	0	 5	2	14	.0
Graham	17.1	9	22	3	 6	0	22	1
Mallinson	14	0	58	3	 14	2	24	1
Livingstone	9	3	20	1	 3	0	12	0
			Wes	twood	 6	0	34	0

#### RUGBY BOWLING.

Inglis	28	12	42	2
Whitelock	26	15	29	2
Bridger	15.2	3	42	4
Markland	7	1	22	1
Kershaw	3	0	14	0

Umpires: D. H. Tregear and E. H. Sweetland.

#### RESULTS OF RUGBY AND MARLBOROUGH MATCHES. 1855 Rugby won by ten wickets, at 1893 Drawn Lord's 1894 Rugby won by an innings and 1856 Rugby won by five wickets, at 82 runs Lord's 1895 Rugby won by 70 runs 1857 Rugby won by an innings and 1896 Rugby won by an innings and 83 runs, at Oval 35 runs Rugby won by an innings and 1897 Marlborough won by three wkts 50 runs at Lord's 1898 Drawn Marlborough won by an innings 1862 1899 Marlborough won by 225 runs and 17 runs, at Lord's 1900 Rugby won by nine wickets 1863 Rugby won by 83 runs, at Oval Marlborough won by five wkts. 1901 1864 Rugby won by an innings and 1902 Rugby won by 29 runs 83 runs, at Islington 1903 Drawn 1865 Rugby won by nine wickets, at 1904 Marlborough won by nine wkts. Lord's 1905 Drawn Drawn, at Lord's 1866 1906 Rugby won by 227 runs 1867 Rugby won by six wickets. at 1907 Rugby won by 84 runs Oval 1908 Marlborough won by 200 runs 1868 Rugby won by an innings and 1909 Marlborough won by six wkts. 133 runs, at Rugby 1910 Rugby won by an innings and Rugby won by 179 runs, at 1869 7 runs Lord's 1911 Rugby won by 193 runs 1870 Rugby won by five wickets, at 1912 Marlborough won by eight wkt. Marlborough 1913 Rugby won by ten wickets 1871 Marlborough won by 68 runs 1914 Rugby won by five wickets 1872 Marlborough won by nine wkts. 1915 Rugby won by nine wickets 1873 Rugby won by eight wickets 1916 Rugby won by eight runs 1874 Rugby won by five wickets 1917 Rugby won by four wickets Rugby won by an innings and 1875 1918 Marlborough won by an innings 35 runs and 94 runs 1876 Marlborough won by five wkts. 1919 Marlborough won by six wkts. Marlborough won by 196 runs 1877 1920 Drawn Rugby won by an innings and 1921 Drawn 24 runs 1922 Marlborough won by ten wkts. 1879 Rugby won by 97 runs 1923 Marlborough won by ten wkts. 1880 Rugby won by an innings and 1924 Rugby won by three wickets 120 runs 1925 Drawn Rugby won by two wickets 1881 1926 Rugby won by 112 runs Marlborough won by five wkts. 1927 Drawn 1883 1928 Drawn 1884 Marlborough won by eight wkts. 1929 Drawn 1885 Drawn 1930 Marlborough won by nine wkts. 1886 Rugby won by 37 runs 1931 Marlborough won by seven wkts. 1887 Marlborough won by 217 runs 1932 Drawn 1888 Abandoned. No play. 1889 Marlborough won by six wkts. 1933 Rugby won by 168 runs 1934 Rugby won by nine wkts 1890 Marlborough won by 145 runs 1935 Drawn 1891 Drawn 1936 Drawn 1892 Marlborough won by an innings and 78 runs

M.C.C. Matches.

Of the 79 matches Rugby have won 37 and Marlborough 24. Seventeen have been drawn and one abandoned.

		1st inns.	2nd inns.	Result.
July 30, Sion Mills	The President of the North West Cricket Union's XI M.C.C.	114 140		Won by 26 runs.
July 30, Guernsey	M.C.C. Guernsey	145*for 3 93	_	Won by 52 runs.
July 31, August 1, Jersey	Jersey Island M.C.C.	193*for 7 159 for 6	-	Drawn.
July 31, Leatherhead	M.C.COld Johnians	-		Abandoned owing to rain

## CHELTENHAM V. HAILEYBURY.

Played at Lord's, Friday, Saturday, July 31, August 1.-Drawn. This was another match ruined by the weather. Not a ball could be bowled on Friday and on Saturday the cricket was restricted to four hours. Although the bowlers were handicapped by the dead pitch, batsmen, apart from Harrison who played a fine innings for Haileybury, failed to impress. The fielding, however particularly that of Cheltenham-reached a high standard. In two and a half hours before lunch, Cheltenham showed some degree of consistency in scoring 142 runs for the loss of seven wickets, but rain intervened and the game was not resumed until five o'clock. Meanwhile Eagar declared. Halleybury were left with 90 minutes' batting and lost Burridge at 22, but Harrison dominated the play. He scored so readily with well-timed leg side strokes that he obtained all but 10 of the next 64 runs and was unbeaten when the match was given up with Haileybury 56 behind and eight wickets in hand.

CHELTI	ENHAM.
Mr. E. M. Britton e Barton b Hoare 5 Mr. C. J. H. Paget b Cantlay 12 Mr. C. R. Bourne c Childs b Harrison 10 Mr. E. D. R. Eagar c Barton b Marriott 25 Mr. H. F. Stevens lbw, b Herridge 22 Mr. J. M. Pope c Hildick-Smith b Harrison 23 Mr. S. Shelley not out 23	Mr. G. L. Reynolds b Hildick-Smith 18 Mr. C. Van R. Barry not out 0 Mr. P. G. Geary Mr. S. C. S. Farmer B 3, 1-b 1 4  Seven wkts., dec. 142

HA	TILE.	YBURY.	
Mr. N. S. Harrison not out Mr. P. Burridge c Farmer b Geary Mr. J. W. W. Hoare c Eagar b Geary	13 6	Mr. H. J. L. Marriott Mr. F. I. C. Herridge Mr. P. J. Barton	
Mr. R. M. Childs not out L-b 2, n-b 2	14	Mr. R. D. Jupp Mr. G. Y. Hildick-Smith	did not bat.
Two wkts.	86	Mr. D. N. Cornock-Taylor Mr. J. A. Cantlay	

1893 Drawn

HAIL	EYBUR	Bowl	ING.	
	Overs	Mdns.	Runs	Wkts.
Hoare	11	3	33	1
Hildick-Smith	. 14	4	26	1
Harrison	14	1	84	2
Cantlay		1	20	1
Marriott	. 5	1	14	1
Herridge	. 6	2	11	1
CHEL	IENHAN	1 Bowl	NG.	
Pope	12	5	30	0
Stevens	2	0	8	0
Geary		5	10	2
Barry	6	2	23	0
Eagar	3	1	8	0
Bourne	3	1	3	0

M.C.C. Matches.

## Umpires: D. H. Tregear and E. H. Sweetland. RESULTS OF CHELTENHAM AND HAILEYBURY MATCHES.

1094 Cheitennam won by 1 Iun	allu 2
1895 Drawn	1914 Drawn
1896 Drawn	1919 Chelter
1897 Haileybury won by 238 runs	1920 Drawn
1898 Haileybury won by seven wkts.	1921 Chelter
1899†Haileybury won by an innings	1922 Drawn
and 45 runs	1923 Drawn
1900 Haileybury won by 116 runs	1924 Chelter
1901 Hailevbury won by three wkts.	1925 Drawn
1902 Cheltenham won by 186 runs	1926 Drawn
1903 Cheltenham won by 49 runs	1927 Hailey
1904 Haileybury won by an inns. and	and 3
41 runs	1928 Drawn
1905 Cheltenham won by eight wkts.	1929 Chelter
1906 Cheltenham won by 167 runs	1930 Hailey
1907 Cheltenham won by an innings	1931 Chelter
and 51 runs	1932 Hailey
1908 Drawn	and 40
1909 Drawn	1933 Hailev
1910 Cheltenham won by an innings	1934 Hailey
and 3 runs	1935 Chelter
1911 Haileybury won by six wickets	1936 Drawn

1912 Haileybury won by 11 runs

1894 Cheltenham won by 1 run

1913	Haileybury won by an innings and 217 runs
1914	Drawn
	Cheltenham won by eight wkts,
	Drawn
1921	Cheltenham won by 66 runs
	Drawn
1923	Drawn
1924	Cheltenham won by eight wkts
	Drawn
1926	Drawn
1927	Haileybury won by an innings
1928	Drawn
1929	Cheltenham won by 185 runs
1930	Haileybury won by 12 runs.
1931	Cheltenham won by 161 runs
	Haileybury won by an innings
	and 40 runs
1933	Haileybury won by ten wickets
1934	Haileybury won by eight wkts.
	Cheltenham won by 189 runs
1936	Drawn

Of the 40 matches Cheltenham have won 13 and Haileybury 14, the other 13 being left drawn.

## † Played at the Crystal Palace.

August 1, 3, 4, Dublin	Gents of Ireland M.C.C.	1st inns. 296 124	2nd inns. 228*for 9 115	Result. Lost by 285 runs.
August 1, Teddington	M.C.C	117 for 3	arbormo metritor	Drawn.
August 3, Chorley Wood	M.C.C	124 84	_	Won by 40 runs.
August 3, Blackheath	Blackheath M.C.C.	106 143 for 9		Won by 37 runs.

## LORD'S SCHOOLS V. THE REST.

Played at Lord's, Monday, Tuesday, August 3, 4.—The Rest won by seven wickets. A brilliant innings by Lomas, The Rest's captain, provided the best feature on Bank Holiday. A fluent stroke player, his cutting and off-driving were beautifully done and when fourth out at 174 he had batted faultlessly for nearly three hours. Holme, using his long reach to advantage, helped Lomas to put on 104, but of the remaining batsmen, Bagnall alone punished the bowling. Macindoe, who generally commanded respect with good length in-swingers, took Macindoe, who generally commanded respect with good length in-swingers, took five wickets for just over 10 runs apiece. The Lord's Schools, apart from Eagar the captain, revealed little enterprise and in two hours scored 79 for three wickets. Rain affected the pitch and next morning Craib, the fast bowler, wrought havoc Taking the last three wickets in four balls, he altogether dismissed six men for 26 runs, and Dickinson, a brilliant slip fielder, made four catches. Following on, Lord's Schools gave a much better display, and Westwood hit well to leg, but at seven minutes to six Eagar caused much surprise by declaring and leaving The Rost 55 minutes to make 94 to win. In thrilling cricket The Rest went boldly for the runs; hitting at nearly every ball, Bagnall and Maudsley scored 45 in twenty-five minutes for the opening stand. Once the side were in front of the clock the batting became steadier and the runs were hit off with eight nightes to spare. minutes to spare. THE REST.

Mr. J. M. Lomas (Charterhouse) c Scott

Mr. J. M. Lomas (Charternouse) e Scott
b Macindoe
Mr. G. Sharp (Rossall) lbw (N), b Macindoe 2
Mr. J. D. A. Langley (Stowe) c and b Pope 20 — c Bridger b Pope 9
Mr. M. W. Holme (Winchester) run out. 47
Mr. P. J. Dickinson (K.C.S., Wimbledon)
Mr. R. H. Maudsley (Malvern) b J. P. Mann 12 — not out
Mr. R. M. Bagnall (Repton) c Parsons b Macindoe 37 — b Pope
b Macindoe
Mr. J. D. G. Craib (Eastbourne) c Scott
b Parsons 1 — not out 8
Mr. B. K. Totton (St. Paul's) b Macindoe 4
Mr. G. A. F. Ramsden (Wrekin) not out 3
B 11, 1-b 3, n-b 1
511,100,101
256 Three wkts. 94
Taunta Gamana
Lord's Schools.
Mr. F. G. Mann (Eton) run out 5 — c Maudsley b Hutton 15
Mr. B. D. Carris (Harrow) c Dickinson
b Craib
b Craib
Mr. E. D. R. Eagar (Cheltenham) c
Dickinson b Hutton
Mr. J. P. Mann (Eton) c Dickinson b Craib 34 — c and b Craib
Mr. E. K. Scott (Clifton) c Bagnall
b Hutton 1 — c Bagnall b Totton 29
Mr. J. M. Pope (Cheltenham) b Totton 16 — c Bagnall b Craib 29
Mr. J. R. Bridger (Rugby) c Dickinson
b Craib 9 — Ibw, b Craib 36
Mr. H. G. Jelf (Marlborough) lbw, b Craib 2 — not out
Mr. D. H. Macindoe (Eton) c Hutton
b Craib 0
Mr. J. D. Parsons (Tonbridge) not out 0
B 1, 1-b 4 5 B 3, 1-b 5, n-b 1 9
134 Eight wkts., dec. 215

1.	C.	C.	Matches.
L .	U.	U.	LE CHOTTES.

		LORD	's Scho	OLS. E	BOWLI	NG.			
Macindoe		Mdns. 12	Runs 53	Wkts.		Overs	Mdns.	Runs 34	Wkts.
Pope	14	6	30	1		7	0	35	2
Parsons	15	2	34	2		5	0	23	- 0
Scott	23	3	63	0					
Bridger	3	0	19	0					
Eagar	4	0	12	0					
J. P. Mann	8	0	30	1					
		TH	IE REST	Bown	LING.				
Craib	24.1	12	26	6		32.5	11	75	3
Hutton	23	8	36	2		37	17	59	3
Totton	26	15	25	1		25	14	39	1
Ramsden	9	0	36	0		6	0	33	1
Dickinson	2	1	6	0					

Umpires: D. H. Tregear and E. H. Sweetland.

August 4, Slough	Slough	1st inns. 89 157 for 9	2nd inns.	Result. Won by 68 runs.
August 5, Bishop's Stortford	Bishop's Stortford M.C.C	156 117		Lost by 39 runs.
August 5, Cuckfield	M.C.C	46 86	102*for 4 65 for 3	Lost by seven wkts.
August 5, Lewes	M.C.C	115 32	80 i	Won by an nns. & 3 runs.

## THE ARMY v. THE PUBLIC SCHOOLS.

Played at Lord's, Wednesday, Thursday, August 5, 6.—Drawn. Although Bean, with a 6 and eight 4's in 50 runs, hit well, The Army lost their first six wickets for 92. Then Oeborne-Smith, square cutting and driving cleverly, scored rapidly and Melsome and Cole also punishing some weak bowling, the last four wickets yielded 164. With the exception of Langley the Schools' batsmen were baffled by the medium pace bowling of Cole. Langley revealed a fine array of strokes, with special aptitude for the off-side, and was unfortunate to miss a century. He was 93 at the close of Wednesday's play and next day Stephenson took the remaining three wickets for seven runs. Rain caused several stoppages on Thursday, and eventually put an end to the match. The Schools' fielding was brilliant; Dickinson, J. P. Mann, Craib, Macindoe and Hutton all made superb slip catches and Craib also held a very hard return by Melsome.

M.U.U. Matches.									
THE ARMY.									
Lt. R. E. H. Hudson (R.A.) c Dickinson b Hutton	38								
Lt. I. A. Robertson (Seaforth Highlanders)									
run out	16								
macindoe 0 — c Craib b J. P. Mann									
Lt. J. W. A. Stephenson (Middy Regt)	16								
c Dickinson b Hutton	n 8								
b Macindoe 7 — c Craib b Macindoe	20								
Lt. R. G. W. Melsome (Northampton Regt.) st Bagnall b J. P. Mann 36 — c and b Craib	14								
Lt. E. S. Cole (Royal Signals) c J. P. Mann									
Lt. R. E. Osborne-Smith (Northampton									
Regt.) not out	7								
Macindoe	9								
b Hutton 7 — not out	6								
B 14, n-b 4 18 B 3, 1-b 3, n-b 3	9								
256	175								
Mr. J. M. Lomas (Charterhouse) b Cole 10 — c Stephenson b Cole .	of Guerry								
M. F. G. Malin (Elon) low, b Cole									
Mr. J. D. A. Langley (Stowe) not out 98 — c Hudson b Stephenso Mr. E. D. R. Eagar (Cheltenham) c	n 4								
Mr. J. C. N. Westwood (Marlborough)	17								
c Cole b Osborne-Smith									
Mr. J. P. Mann (Eton) c Hugonin b OSmith									
OSmith Mr. P. J. Dickinson (K.C.S., Wimbledon) c Hudson b Cole 13									
Mr. R. M. Bagnall (Repton) lbw, b Cole. 0 — not out	37								
Mr. J. M. Hutton (Sherborne) c Bean b Stephenson									
Mr. J. D. G. Craib (Eastbourne) b Stephen-									
Mr. D. H. Macindoe (Eton) b Stephenson 0									
B 3, 1-b 4 7 B 1, n-b 2	3								
179 Two w	kts. 62								
THE PUBLIC SCHOOLS BOWLING. Overs Mdns. Runs Wkts. Overs Mdns. Run	s Wkts.								
Craib 18 1 66 1 13 4 42	2								
Macindoe 26 8 50 3 21.4 9 58 Hutton 19.1 5 41 3 14 6 34									
J. P. Mann 10 1 49 2 8 0 32									
Eagar 8 1 32 0	9								
THE ARMY BOWLING.									
Stephenson 16.5 5 39 3 13 3 30									
Cole 21 8 59 5 12.4 2 29 Osborne-Smith 8 2 34 2	1								
Melsome 7 0 19 0									
Orton 4 0 21 0									
Umpires: D. H. Tregear and E. H. Sweetland.									
I STORY TO STORY THE STORY									

# AVERAGES.

The name of the Captain is marked thus †
Innings marked thus \* are not outs.

## ALDENHAM SCHOOL.

## BATTING.

Not outs Runs Highest inns

	TYOU OUUS		Trums	TELLOSO IIII	LiDe	TIACTOR		
B. H. McCorkell	. 13	 2		301		82*		27.36
J A. R. Oliver		 0		376		104		26.85
†J. P. Blake		 0		330		87		23.57
J. P. O. Green		 2		118		31*		11.80
A. P. Bowman		 2		139		28		11.58
R. D. Heaton-Smith		 $\frac{2}{2}$		119		28*		10.81
F. I. Watson		 0		142		39		10.14
J. G. Yates		 2		105		37*		9.54
R. A. Sprent		 2		65	• •	17	• •	9.28
		BOW	LING.					
	Overs	Maiden	ıs	Runs		Wickets		Average
J. A. R. Oliver	. 98	 14		266		23		11.56
	. 174	 39		391		30		13.03
R. A. Sprent		 28		418		30		13.93
J. P. O. Green		 9		200		10		20.00

## ALLEYN'S SCHOOL.

## BATTING.

	Innings		Not or	its	Runs	Hi	ghest in	ns.	Average
R. Allsop	. 10		1		353		126		39.22
C. D. Pennington .			1		157		50*		19.62
J. Alexander			ō		97		63		19.40
C. V. Powell			2		154		52*		19.25
R. G. R. Jones			1		117		40		16.71
			1	• •	81		37	1000	16.20
	. 10		0		112	• •	48	- 510	11.20
G. H. M. Riddell .		٠.	- 1		85		32	• •	10.62
A. Allen	. 9	• •	1	• •	00	• •	0,20	• •	10.02

## BOWLING.

	Overs	I	Maider	S	Runs	Wickets	Average
R. G. R. Jones	98		11		272	 21	 12.95
B. C. R. Smith			18		224	 14	 16.00
G. H. Clark	77.4		16		235	 14	 16.78
T. E. Jones	101		16		284	 15	 18.93

### ALLHALLOWS SCHOOL.

### BATTING.

Innings	3	Not ou	ts	Runs	н	ighest inr	ıs.	Average
R. G. K. Evens 12		4		280		62*		35.00
†J. A. S. Boyce 15		2		349		57		26.84
G. Langton 16		2		291		77*		20.78
C. G. T. Viner 12		3		144		46		16.00
A. T. Hill 13		4		131		49		14.55
R. D. Sprake 7		0		96		37		13.71
P. G. Tyler 11		1		131		37*		13.10
R. G. Clarke 8		2		54		12		9.00
		BOW	LING	<del>1</del> .				
Overs		Maiden	S	Runs		Wickets		Average
R. G. K. Evens 97		9		360		26		13.46
C. G. T. Viner 32		1		226		12		18.83
G Langton 130		13		516		25		20.64
H. B. Bell-Syer 50		2		247		10		24.70

### AMPLEFORTH COLLEGE.

### BATTING.

	Innings		Not ou	ts	Runs	Hi	ghest in	ns.	Average
†D. R. Dalglish			1		228		51*		25.33
P. J. Wells			1		267		55		24.27
T. E. Redfern			1		264		91*		24.00
H. N. Garbett	. 8		0		149		56		18.62
H. C. Mounsey			0		163		58		13.58
R. N. Cardwell	. 8		2		76		23		12.66
Lord Mauchline	. 11	٠.	0		135		55		12.27
B. B. Considine	. 10		1		72		16*		8.00

### BOWLING.

	Overs	]	Maider	ns	Runs	Wickets	Average
D. R. Dalglish	200		34		567	 43	 13.18
J. M. Horner			16		708	 38	 18.63
R. N. Cardwell	85		14		288	 12	 24.00

### ARDINGLY COLLEGE.

### BATTING.

					-5				
	Innings	3	Not ou	its	Runs	H	ighest in	ıs.	Average
	. 10		1		240		101*		26.66
D. S. Kinder			1		277		105*		25.18
P. G. Gadd			0 5		251		61		22.81
L. N. Ford				• •	129		43*		21.50
H. Craggs	. 9		0		143		44		15.88
S. R. Taunton			1	• •	148		58	• •	14.80
TC. A. Christie	. 8	• •	0	• •	109	• •	38		13.62
			BOW	LING	<del>}</del> .				
23-2 LG V	Overs		Maiden	S	Runs		Wickets		Average
D. S. Kinder			20		451		28		16.10
W. E. Lamphigh .	. 59		8		258		16		16.12
L. N. Ford P. C. Hann		• •	8		268		21		17.52
P. C. Hann	. 60		7	• •	227		12		18.91

### BANCROFT'S SCHOOL.

### BATTING.

	Innings		Not out	S	Runs	Hi	ghest inr	IS.	Average
R. E. Lindsay			0		306		112		27.81
R. E. Haddock			0		229		56		20.81
B. W. Smeaton			1		91		28		13.00
N. Jones			0		69		51		11.50
R. C. Pearson			1		69		25*		9.85
J. A. McKerrow	. 10	• •	3		67		18	٠.	9.57
			BOW	LIN	G.				
	0	,		10	T		TTT 1 /		14 20 10 10

	Overs	Maider.	ıs	Runs	Wickets	Average
R. E. Lindsay		45		436	 40	 10.90
R. P. Spencer		 32		414	 25	 16.56
K. M. McLeod	64	 10		259	 14	 18.50

### BEAUMONT COLLEGE.

### BATTING.

	Innings	Not ou	ıts	Runs	H	ghest in	ns.	Average
P. A. Burden	. 14	 1		543		102		41.76
W. D. Cussen	. 13	 1		394		79		32.83
†M. A. Chamberlain	13	 1		216		88		18.00
W. J. Goldsmith	. 14	 4		161		58*		16.10
P. Brown	. 14	 0		164		36		11.71
N. Pace	. 14	 0		139		25		9.92
J. D. Ruane	. 7	 1		57		23		9.50

#### BOWLING.

	vers	M	aidens	1	Runs	Wickets	Average
J. D. Ruane			45		536	 45	 11.91
M. Hetreed			14		382	 28	 13.64
W. D. Cussen			17		385	 18	 21.38
P. A. Burden	148.4		23	• •	439	 18	 24.38

## BEDFORD MODERN SCHOOL.

#### BATTING.

	Ir	nings		Not ou	its	Runs	Hi	ghest in	ns.	Average
		8		1				101*		45.85
E. B. Litchfield		8	• •	0		154	• •	54		19.25
				DOTT	T TAT	7				

	Overs	1	<b>faider</b>	ıs	Runs	Wickets	Average
D. W. Jacobs	90		27		137	 27	 5.07
D. C. Barnwell			8		192	 16	 12.00
B. H. Darlow			3		163	 10	 16.30

### BEDFORD SCHOOL.

#### BATTING.

lnni	ngs Not	outs	Runs	Highe	st inns.	Average
C. L. Oakley 1	1	2	375	12	25*	31.25
A. E. Cook 1	١,,	5	158	(	34	26.33
A. H. Holladay 15	2	1	287	(	33	26.09
D. Milman 1-	1	2	258	[	64*	21.50
†P. H. Cook 13	3	1	233	11	3*	19.41
H. L. Donovan 14	1	0	223		79	15.92
A. C. Fitt 10	)	3	95	9	35	13.57
J. B. H. Daniel 13	3	0	153	8	33	11.76
	В	OWLING				
Ove			Runs	Wic	ekets	Average
T. J. Cooke 63	3.4 1	5	100		7	11.35
P. H. Cook 10	5 1	1	150		30	15.10
A. C. Fitt 11:	3.5 2	5	355		18	19.72
A. E. Cook 14		9	FOO		22	22.72

### BELVEDERE COLLEGE, DUBLIN.

#### BATTING.

	Innings	Not ou	ts	Runs	His	thest in	ns.	Average
†G. Quinn		 1		404		58		31.07
S. Keenan		 0		247		72		20.58
J. A. Byrne		 0		197		40		14.07
C. Nolan	. 11	 0		153		53		13.90
B. Millar	. 14	 1		140		47*		10.76
		DOTT	T T37					

#### BOWLING.

	Overs	Maiden	ıs	Runs		Wickets	Average
B. Millar		23		256		38	 6.73
C. Nolan	152.3	 32		339		49	 6.91
W. McCullagh	68.3	 17		144		16	 9 00
G. Quinn	151	 45		286	16.0	29	 9.86

### BERKHAMSTED SCHOOL.

# BATTING.

	1	2	270	 92*		30.00
M. J. H. Collins	9	1	147	 63		18.37
R. D. McE. Hart 1	0	0	138	 35		13.80
K. A. Lee-Emery 1		2	104	 36*		13.00
J. R. Edwards 1	12	2	117	 41		11.70
N. E. W. Pepper 1	10	0 .	113	 32		11.30
	12	0	770	 41		9.66
		BOWLI	NG			
	ers M	aidens	Runs	Wickets		Average
	33	10 .	215	 11		19.54
	57.5	24		 28	.*.	20.57
J. R. E. Dixon 19	22.2	27 .	390	 16		24.37
P. N. Dix 19	95	36 .	628	 22		28.54

### BISHOP'S STORTFORD COLLEGE.

### BATTING.

	Inning	gs N	ot out	S	Runs	Hi	ghest in	ns.	Average
G. J. Adams	12		2		457		106*		45.70
L. E. McLean	12		1		323		93		29.36
†A. S. Tee	12		1		206		34		18.72
J. D. P. Stirling .	12		0		201		43		16.75
C. G. Smith	9		2		101		32		14.42
P. W. Meen			0		114		50		11.40
			BOW	LING	¥.				

	Overs	3	Taiden		Runs	Wickets	Average
P. W. Meen			9	ıs	183	 16	 11.43
J. D. P. Stirling	107		12		333	 26	 12.80
J. A. Harris	47		10		134	 10	 13.40
E. Ll. H. Jones	86.3		5		272	 18	 15.11

### BLUNDELL'S SCHOOL.

#### BATTING.

	Innings	Not ou	ts	Runs	§ Hi	ghest in	ns.	Average
J. G. Beach	. 12	 1		433				39.36
T. H. Eustace	. 13	 1		406		-		33.83
J. E. P. Peirce	. 10	 2		232		manufact.		29.00
G. J. Habgood	. 14	 3		315		-		28.62
N. C. R. Williams .	. 10	 2		181		-		22.62
†J. E. B. Drake	. 10	 2		174		-		21.75
I. P. Sutcliffe	. 9	 0		187				20.77
I. Harper	. 12	 1		200				18.18
A. W. D. Beale		 1		117				11.70
C. G. Parsons		 3		79		-		11.28

#### BOWLING.

Overs	SI	Maiden	S	Runs	Wickets	Averag
J. E. B. Drake 186.5		-		649	 35	 18.54
G. J. Habgood 100		*****		369	 14	 26.35
T. W. E. Corrigan 95.1		********		362	 13	 27.84
J. G. Beach 105		-		384	 12	 32.00
C Details not eveilable						

### § Details not available.

### BRADFIELD COLLEGE.

	Innings	Not ou	its	Runs	Hi	ghest in	ns.	Average	
T. I. D. Heathcote .	. 12	 0		370		154		30.83	
R. G. Wilson	. 12	 1		323		80		29.36	
†M. D. Tucker	. 12	 0		274		79		22.83	
G. Paine	. 11	 3		170		54*		21.25	
R. E. Henshaw	. 12	 0		232		45		19.33	
P. J. Cave-Bigley	. 9	 0		159		58		17.66	
M. Paine		 1		72		26		12.00	
F. E. Templer	. 11	 2		103		27*		11.44	

			BOW	TIV	ж.			
	Overs	1	Iaiden	S	Runs	Wickets	Average	
R. E. Henshaw	187.4		40		498	 27	 18.44	
M. Paine	108		18		315	 16	 19.68	
H. A. Collins	120.1		25		348	 15	 23.20	
T. I. D. Heathcote	142.4		25		486	 22	 22.09	

## BRIGHTON COLLEGE.

			BAT	TING	À.				
	nnings		Not ou	ts	Runs	B	ighest in	ıs.	Average
A. K. Sharp	11		0		427		109		38.81
W. H. C. Simmonds	9		1		220		56		27.50
I. Wallace-Cox	11		1		260		60		26.00
L. E. Grose	10		0		197		41		19.70
C. K. Thompson	9		1		151		42		18.87
R. H. Warton	8		1		103		52		14.71
D. P. P. Joyce	11	• •	3		116		41*		14.50
			BOW	LING	7.				
	Overs		Maiden	S	Runs		Wickets		Average
R. H. Braybon	153.5		34		441		25		17.64
V. McD. Hobley	121.3		19		526		26		20.23
I. Wallace-Cox	75.4		12		280		11		25.45
	-4	-							

### BROMSGROVE SCHOOL.

			BAT	TING	ł.					
	ings	Not	outs		Runs	H	ghest in	ns. A	verage	
G. J. G. Hake	12		1		348		79*		31.63	
P. J. Hewitt	10		0		187		65		18.70	
†E. E. Key	12		0		216		97		18.00	
W. F. Russell	9		1		118		41		14.75	
E. J. H. Williams	11		1		112		35		11.20	
R. A. Gordon-Smith	8		0		82		54		10.25	
D. G. F. Bland	8		0		73		30		9.12	
R. Holden	10	• •	3		59		20	• •	8.42	

	BOW	LINC	<del>,</del>		
Overs	Maider	18	Runs	Wickets	Average
R. Holden 105.5	 20		257	 23	 11.17
G. J. G. Hake 76	 13		198	 12	 16.50
T. L. G. Jones 88	 3		504	 28	 18.00
D. A. Field 121.3	 11		410	 17	 24.11
D. G. F. Bland 82	 9		278	 10	 27.80

# CAMPBELL COLLEGE, BELFAST.

				TING					
	Inning	S	Not ou	ts	Runs	Hi	ghest in	ns.	Average
†W. J. Hurst			3		464		133*		38.66
J. H. Lytle			1		500		133		38.46
W. G. McNeill	11		4		213		56		30.42
W. H. G. Robinson	16		2		404		80		28.85
J. S. Pollock	16		1		419		92		27.93
D. G. Paul	14		5		145		43		16.11
C. A. Odlum			2		100		54*		14.28
G. F. Carter	11		1		104		27		10.40
H. W. Laird	7		2		38		14		7.60
J. T. Shepherd	6		1		37		20*		7.40

		BOM	LIN	i.		
	Overs	Maider	as	Runs	Wickets	Average
W. J. Hurst		 13		80	 10	 8.00
D. G. Paul		 39		425	 44	 9.65
J. S. Pollock		 13		130	 12	 10.83
G. F. Carter		 22		201	 18	 11.16
H. W. Laird	136.2	 33		400	 32	 12.50

## CANFORD SCHOOL.

### BATTING.

	Innings	Not outs		Runs		ghest in	Average	
G. N. E. Powell		 3		325		68		36.11
J. P. R. Whelon		 1		457		74		35.15
D R. C. Steed				362		83		27.84
J. D. York-Long		 2		191		59		23.87
†G. R. Yeomans	. 14	 0		290		59		20.71
		DOT	TT TATA	7				

#### BOWLING.

	Overs	Maiden	s	Runs	Wickets	Average
S. R. Black				347	 24	 14.45
J. D. York-Long		20		387	 25	 15.48
G. R. Yeomans	. 90.2	 4		423	 22	 19.22

## CHARTERHOUSE SCHOOL.

### BATTING.

	Innings	Not outs				ghest in	ns.	Average	
†J. M. Lomas	. 15	 3		660		129		55.00	
C. W. S Lubbock .	. 15	 3		554		106*		46.16	
P. R. Crompton		 0		469		100		31.26	
P. F. Beane		 3		244		63*		27.11	
A. K. Hughes		 2		291		66		26.45	
G. G. Dunbar		 3		100		36*		20.00	
P. C. Weeks	. 13	 0		205		58		15.76	
J. A. Crompton	. 10	 1		134		83		14.88	

### BOWLING.

	Overs	Maiden	s	Runs	Wickets	Average
A. C. Karsten		 24		302	 23	 13.13
G. G. Dunbar		 42		540	 33	 16.36
J. L. C. Pearce	64.4	 5		319	 14	 22.78
C. W. S. Lubbock	106.2	 25		476	 18	 26.44

### CHELTENHAM COLLEGE.

### BATTING.

	Innings	Not ou	te	Runs	H	ghest in	ns.	Average
†E. D. R. Eagar	. 14	 2		491		113		40.91
J. M. Pope	. 13			289		88		28.90
H. F. Stevens	. 14	 1		265		52*		20.38
S. Shelley		 3		200		64		20.00
C. J. H. Paget		 1		223		101*		18.58
C R. Bourne				209		71		14.92
E. M. Britton		 0		207		45		14.78
G. L. Reynolds	. 9	 0		97		33		10.77

	Overs	Maidens	3	Runs	Wickets	Average
E. D. R. Eagar	139.5	 31		379	 26	 14.57
H. F. Stevens		 19		205	 14	 14.64
P. G. Geary				242	 15	 16.13
J. M. Pope	257.4	 90		647	 37	 17.48

## CHRIST'S HOSPITAL.

### BATTING.

In	nings	Not ou	ts	Runs	Hi	ghest inn	s.	Average
†F. H. Terry	15	1		282		62		20.14
R. W. E. Bynoe	10	1		159		51*		17.66
J. S. G. Walenn	15	1		210		52		15.00
N. L. Hett	13	4		120		24*		13.33
J. A. Cotton	12	4		104		26		13.00
A. G. Lang	9	1		104		33*		13.00
G. R. Mason	13	0		165		57		12.69
B. J. Holloway	13	1		149		28		12.41
J. W. Dunning	5	0		58		24		11.60
R. F. Lilley	10	2		64	2.	16*		8.00
		BOW	LING					
0	vers	Maiden	s	Runs		Wickets		Average
G. R. Mason	80	15		286		16		17.87
J. A. Cotton	203	33		648		32		20,25
N. L. Ilett	117.3	17		395		14		28.21
G. E. Dodd	140	16		541		12		45.09

### CITY OF LONDON SCHOOL.

		BAT	TING					
In	nings	Not or	its	Runs	H	ighest inn	is.	Average
†D. M. Chapman	15	1		367		114		26.21
L. M. Keye	8	1		162		65*		23.14
J. P. McGlashan	15	0		342		66		22,80
J. W. P. Gummer	14	1		148		67*		11.38
M. D. Dale	12	1		110		37		10.00
D. G. Harman	5	0		49		26		9.80
J. R. Sinton	9	2		65		24		9.28
H. P. Hawken	11	0		84		18		7.63
E. A. Kernthaler	14	3		82		22		7.45
L. M. Walker	12	3		67		13*		7.44
		BOY	VLING	t.				
0	vers	Maider	ns	Runs		Wickets		Average
J. W. P. Gummer 2	229.2	48		575		52		11.05
R. A. Shaddick 1	184.4	32		650		34		19.11
M. D. Dale 1	14.4	16		433		22		19.68

### CLIFTON COLLEGE. BATTING.

	Innings	Not ou	ts	Runs	H	ghest in	ns.	Average
A. R. Mutter	15	 2		391		110		30.07
†E. K. Scott	. 13	 0		277		97		21.30
J. L. Eberle	. 11	 2		168		106*		18.66
J. P. Smallbones	. 15	 4		202		55*		18.36
G. B. Rawsthorne	. 14	 2		198		41		16.50
R. R. S. Fisher	. 11	 1		118		25*		11.80
		BO	WLIN	rG.				

		BOA	A TIN	G.		
Overs	M	faiden	s	Runs	Wickets	Average
E. K. Scott 270.4		60		586	 55	 10.65
L. J. B. Firth 121		17		354	 23	 15.39
G. B. Rawsthorne 111.3		21		343	 12	 28.58

### CRANLEIGH SCHOOL,

### BATTING.

ARRESTS.	Innings	Not out	ts	Runs	Hi	ghest in	ns.	Average
R. H. F. Hill		 3		449		87*		40.81
G. R. Skinne		 3		203		54		22.55
†S. I. Brinjes		 0 .		314		106		20.93
P. Hunt				161		36		17 88
G. C. Daniel		 2		183		55*		16.63
P. L. N. Hughes		 0		214		59		16.46
P. I. Fry		 2		85		22*	)	12.14
J. Turner		 4		74		23		9.25
G. K. Neale		 0		97		31		8.81

### BOWLING.

	 Overs	Maiden	S	Runs	Wickets	Average
J. Turner	 169.3	 15		684	 36	 19.00
G. R. Skinner .	 143.2	 16		584	 26	 22.46
M. N. Ward	 78.1	 8		320	 14	 22.85
R. H. F. Hill .		 10		424	 18	 23.55

# DEAN CLOSE SCHOOL, CHELTENHAM.

### BATTING.

	Innings	Not ou	ts	Runs	Hi	ghest in	nns.	Average
†J. D. Wakeling	. 8	 2		214		57		35.66
H. E. O. Hughes .	. 6	 1		99		34		19.80
J. P. Crawford	. 7	 0		132		48		18.85
W. K. Struthers	. 6	 0		85		50		14.16
J. L. Wigley	. 6	 0		81		44		13.50
W. A. MacFarlane .		 0		91		36		13.00
		BOW	LING	¥.				

	Overs	Maidens			Runs		Wickets		Average	
J. L. Wigley	. 53		11		119		11		10.81	
W. H. R. Jones	. 45		3		194	-	14		13.85	
B. E. Jones	. 86		16		270		18	• •	15.00	

### DENSTONE COLLEGE.

	Innings		Not ou	ts	Runs	Hi	ghest in	ns.	Average
M. P. Jones	. 13		4		400		81		44.44
A. F. Campbell	. 11	٠.	3		326		87		40.75
A. Christmas					217		48		21.70
B. H. Pegler			0		81		25		16.20
J. M. Campbell			-1		97		26		10.77
R. M. Watson			1		53		27		10.60
F. J. P. Wardell			0		50		28		10.00
D. H. Burrow			0		55		22		9.16
			BOW	LIN	ž.				
							****		

	Overs	Maidens		Runs		Wickets	Averag		
R. F. K. Innes	95.3		29		208		18		11.55
P. M. White	138.5		12		464		36		12.88
B. H. Pegler			26		348		20		17.40
J. Rogers			17		328		15		21.86

Public	School	Averages.

### DOVER COLLEGE.

BA	TTING
----	-------

	Innings	Not ou	its	Runs	His	hest in	ns.	Average
A. Dawes	. 13	 2		393		66		35.72
†W. R. Barrett	. 13	 1		387		79		32.25
J. Dyke	. 13	 4		247		51		27.44
J. G. Howard		 1		232		71		21.09
R. W. V. Smith		 3		172		50		19.11
I. R. Thomson		 4		112		23*		16.00
J. de M. Bessey	. 8	 1		89		24		12.71

#### BOWLING.

				200				
		<b>Taiden</b>	ıs	Runs		Wickets		Average
		4		100		15		6.66
 175.5		31		556		44		12.63
 164.2		44		455		36		12.63
 62.4		15		155		10		15.50
	175.5 164.2	Overs 39.4 175.5 164.2 62.4	39.4 4 175.5 31 164.2 44	39.4 4 175.5 31 164.2 44	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	39.4 4 100 15 175.5 31 556 44 164.2 44 455 36

### DOWNSIDE SCHOOL.

BA'	$\Gamma T I$	N	ż
-----	--------------	---	---

	Innings	Not ou	ts	Runs	Hi	ghest in	ns.	Average	2
R. T. Addington		 1		236		69*		33.71	
R. L. Masters		 1		330		134*		33.00	
†A. D. Turnbull	. 10	 1		247		112		27.44	
J. M. H. Pollen	. 10	 1		229		53		25.44	
P. A. G. Rawlinson	10			230		57		23.00	
N. H. Ormerod	. 10	 2		152		38		19.00	
M. A. J. Radcliffe .	. 11	 1		183		52		18.30	
R. G. T. Hawkins .	. 7	 1		96		31		16.00	
T. G. Hemming	. 7	 **		44		12		7.33	

#### BOWLING.

	Overs	1	<b>Laiden</b>	S	Runs	Wickets	Average
V. E. Camacho	 111		27		250	 18	 13.88
J. M. H. Pollen	 53.1		2		257	 10	 25.70
R. T. Addington	 90		11		323	 10	 32.30

### DULWICH COLLEGE.

#### BATTING.

	Innings	Not ou	ts	Runs	Hi	ghest in	ns.	Average
†S. C. Silkin	. 13	 3		297		64*		29.70
H. P. Gray	. 13	 3		185		55*		18.50
G. S. Staniforth	. 12			164		53*		16.40
P. A. Dickson	. 11			169		38		15.36
A. C. Shirreff		 2		174		26		14.50
B. E. Collingwood .	. 13	 0		153		37		11.76
J. W. Drury	. 6	 1		56		32*		11.20
		BOW	TIN	Z.				

4 0 01 - 0				
A. C. Shirreff 201	36 .	. 696	 38	 18.31
S. C. Silkin 145	10 .	753	 36	 20.91

### DURHAM SCHOOL. BATTING.

Innings	3	Not outs		Runs	H	ighest inn	s.	Average
W. R. Buttle 11		1		403		84		40.30
J. W. Grant 10		4		148		36*		24.66
†A. J. Bailey 11		0		255		60		23.18
D. J. N. Hall 11		1		178		57		17.80
E. W. Davies 10		0		133		27		13.30
I. S. Turnbull 8		1		83		24		11.85
E. D. T. Barff 8		1		83		24*		11.85
D. R. Forster 8		0		88		38		11.00
W. D. Orwin 9		1		82		44		10.25
		BOWL	IN	G.				
Overs		Maidens		Runs		Wickets		Average
D. J. N. Hall 46.1		6		143		16		8.93
W. R. Buttle 100.5		15		294		21		14.00
J. Bourchier 117		20		346		20		17.30
D. R. Forster 70.5		11		220		11		20.00
W. D. Orwin 102		17		310		15		20.66

## EASTBOURNE COLLEGE.

		DALLIN	ur.				
	nnings	Not outs	Runs	Hi	ghest in	ns.	Average
P. C. Horton	12	 0	413		101		34.41
D. P. Hepburn	12	 3	247		68*		27.44
J. A. F. Sewell	12	 0	302		92		25.16
P. F. Hepburn	12	 2	249		109*		24.90
†J. D. G. Craib	10	 1	211		105		23,44
W. H. Girling	12	 0	188		46		15.66
M. A. Girling	9	 2	98		41		14.00
L. D. Empson	10	 2	99		34*		12.37
D. A. Williams	8	 1	71		24		10.14
		BOWLIN	G.				

			DOW	TITL	u.		
	Overs		Maidens		Runs	Wickets	Average
J. D. G. Craib	155.5		27		417	 33	 12.63
D. A. Williams					362	 25	 14.48
A. G. Simpson	47.5		4		199	 13	 15.30
L. D. Empson	64.3		4		273	 13	 21.00
		-		-			

### EDINBURGH ACADEMY

	וענינ	TAD	OTIO	II U	CADE	AT T .			
			BAT	TING	ł.				
	Inning	s :	Not or	its	Runs	H	ighest inr	ıs.	Average
†G. D. Bonner	22		5		467		50		27.47
	22		0		532		91		24.18
I. C. Henderson	19		2		326		51		19.17
D. K. Swan			0		378		60		17.18
G. M. Hector	9		$\frac{2}{3}$		114		36*		16.28
	17				212		52*	•	15.14
C. J. R. Mair	21		3		200		30		11.11
T. B. M. Bell-Sco			1		217		25		10.85
D. R. Kerr			2		96		30*		7.38
A. F. Davidson	10		0		72		16		7.20
			BOW	VLIN	J.				
	Overs	7	Maider		Runs		Wickets		Average
I. C. Henderson	165.3		47		439		32		13.71
T. B. M. Bell-Sco			2		224	-	15		14.93
A. F. J. Maloney			55		601		36		16.69
G. D. Bonner			38		385		20		19.25
A. F. Davidson			30		371		18		20.61
	149.5		30		521		23		22.65

### EMANUEL SCHOOL.

### BATTING.

	Innings	Not out	s	Runs	Hig	hest inns	3.	Average
L. H. Thornton	16	 0		421		87		26.31
D. J. Allcock	17	 2		312		68		20.80
J. W. Davies	14	 1		242		35*		18.61
P. A. Roddis		 1		87		64*		14.50
F. G. Thompson	11	 4		78		17*		11.14
J. L. Darnell	16	 3		142		21		10.92
R. Burrows	6	 1		45		17*		9.00
W. L. Page	13	 3		89		17		8.90
S. G. Gandar		 0		136		42		8.50
†G. E. Elkins	14	 2		81		24*		6.75
		BOW	LIN	G.				
	Overs	Maidens	,	Runs		Wickets		Average
R. Burrows	27.1	 3		95		12		7.91
W. L. Page	240	 34		675		67		10.07
F. G. Thompson	97	 22		221		21		10.52
J. L. Darnell		 19		361		29		12.44
J. E. Halligan		 13		245		14		17.50

### EPSOM COLLEGE.

			BAT	TING	ł				
	Innings		Not or	ts	Runs	H	ighest in	is.	Average
M. W. Hubble	. 14		0		363		87		25.92
E. G. L. Thompson	14	٠.	0		321		90		22.92
C. R. D. Knaggs	. 13		2		220		68*		20.00
†I. N. Darbyshire .	. 14		0		269		44		19.21
A. G. S. Wilkes	. 10		3		98		28		14.00
D. A. Perkins			2		159		50*		13.25
J. C. G. McVail	. 12		3		118		40		13.11
			BOW	LINC	₹.				
	Overs		Maider	as	Runs		Wickets		Average
J. C. G. McVail	. 234	٠.	44		658		41		16.04
A. G. S. Wilkes	. 115.5		23		388		21		18.47
D. J. B. Johnston .			13		340		14		24.28
V. D. O. Smythe .	. 106.4	٠.	23		327		12		27.25

## ETON COLLEGE.

		BATT	ING.					
Inni	ngs	Not ou	ts	Runs	H	ighest inn	ıs.	Average
J. P. Mann	9	1		436		103*		54.50
†F. G. Mann 1	3	2		330		82		30.00
F. F. T. Barnardo 1	0	3		194		49		27.71
R. G. G. Kerrison 1	2	1		226		36		20.54
J. F. Boughey 1	0	1		133		25		14.77
J. B. Dickson 1	1	. 0		140		37		12.77
J. B. Jackson	9	0		83		29		9.22
D. H. Macindoe	9	1		64		18		8.00
		BOW	LING					
Ove	ers	Maiden	S	Runs		Wickets		Average
D. H. Macindoe 19	0.5	52		424		28		15.14
V. L. Wild 16	9	31		519		26		19.96
J. P. Mann 8	8	6		372		15		24.80

### FELSTED SCHOOL.

### BATTING.

SERVICE CO.	Innings		Not ou	ts	Runs	H	ighest inn	IS.	Average
P. H. Palmer			0		236		78		21.45
J. V. Sorrell		٠.	3		122		48*		20.33
M. J. Lambs	. 7		0		135		58		19.28
E. R. G. Sandys	. 8		0		137		59		17.12
R. F. Godden	. 11		0		146		43		16.27
	. 11		0		166		50		15.09
E. A. S. Manners .	. 8		1		65		36*		9.28
E. W. A. Bostock .			0		74		37		9.25
C. R. Young	. 11		2		82		24*		9.11
P. W. Tyrrell	. 6		1		44		14		8.80
			BO	WLI	NG.				
	Overs		Maiden	s	Rung		Wickets		Average
J. Bullough	. 51		8		241		11		21.90
P. H. Palmer	. 116		17		445		18		24.72
C. R. Young	. 71		6		284		11		25.81
J. V. Sorrell	. 112.3		15		452		16		28.25
R. F. Godden	. 90		11		335		10		33.50

### FETTES COLLEGE.

BATTING.										
Innings		Not outs	Runs	H	ighest inns.	Average				
†P. McMillan 15		1	402		85*	28.71				
G. A. Turner 10		0	221		59	00 10				
D. D. Mitchell 15	٠.	0	323		74	21.53				
J. A. D. Fordyce 15		0	302		61	20.13				
A. D. M. Gunn 13		4	137		27	15.22				
D. A. Smith 14		3	149		26*	13.54				
W. B. Brown 12		1	144		35	13.09				
W. H. Doughty 9		0	88		26	9.77				
G. M. Mowat 14		2	111		26	9.25				
		BOWLING								
Overs		Maidens	Runs		Wickets	Average				
P. McMillan 167		22	631		45	14.02				
D. D. Mitchell 143		29	387		26	14.88				
A.,D. M. Gunn 162		30	481		31	15.51				

# GIGGLESWICK SCHOOL.

		BATTING					
Innir	ngs No	ot outs	Runs	Hi	ghest inr	ıs.	Average
R. E. Foden 11		2	206		73		22.88
D. N. Ainley 11		1	198		55*		19.80
†R. M. Marshall 9		1	158		65		19.75
E. S. Ainley 11		1	175		67*		17.50
D. T. Cox 10		1	154		34		17.11
D. S. Park 8		0	123		64		15.37
F. W. Cook 8		1	49		21*		7.00
	I	BOWLING					
Over		idens	Runs		Wickets		Average
R. E. Foden 140	.4	39	305		25		12.20
G. P. Roberts 35	.4	4	161		11		14.63
H. M. Raffan 81	.3	15	287		17		16.88
D. N. Ainley 73	.5	7	335		18		18.61

### GLASGOW ACADEMY.

#### BATTING.

Innin	gs	s Not outs		Runs	Hignest inns.		ıs.	Average
J. R. Henderson 14		3		409		106*		37.18
tW. C. McDowall 14		3		216		51*		19.63
W. D. Hendry 14		3		211		46*		19.18
J. M. Denholm 14		0		213		55		15.21
D. M. Duncan 13		1		148		52*		12.33
		BOW	LIN	ł.				
Overs	3 .	Maiden		Runs		Wickets		Average
W. D. Hendry 175.	4	52		384		37		10.37
D. G. Balls 68		14		167		16		10.43
J. M. Denholm 103.	1	23		260		23		11.30
J. R. Henderson 114		29		302		23		13.13

# GLENALMOND (TRINITY COLLEGE).

#### BATTING.

	Innings	Not ou	ts	Runs	H	ighest inn	s.	Average
N. M. Anderson	. 16	 3		680		150*		52.30
†J M. Gregoire		 1		468		79		33.42
W. S. Tennent		 0		271		58		18.06
W. H. Munro		 3		192		45*		16.00
I. McDowall		 0		217		46		15.50
J. Brown		 1		77		36		12.83
I. R. R. Gillespie		 2		93		24		10.33
D. A. Mann	. 9	 4		50		35*		10.00
I. W. V. Browne		 1		71		19		7.10
		BOW	LINC	ł.				
	Overs	Maider	ıs	Runs		Wickets		Average
W. J. Douglas	. 148.1	 15		581		39		14.89
	. 194.5	 12		687		44		15.61
I. McDowall		 19		426		25		17.04
D. A. Mann		 9		341		18	• •	18.94

### HAILEYBURY COLLEGE.

#### BATTING.

Not outs Puns Highest inne

	Innings	Not ou	ts .	Runs	H	gnest min	is.	Average	
N. S. Harrison	. 13	 2		473		140		43.00	
H. J. L. Marriott	. 7	 1		163		82*		27.16	
G. Y. Hildick-Smith	10	 5		135		47*		27.00	
†R. M. Childs		 2		231		62*		21.00	
F. I. C. Herridge .	40	 1		173		74*		19.22	
J. W. W. Hoare		 2		192		64		19.20	
R. D. Jupp		 1		171		33		17.10	
P. J. Barton		 1		129		55		16.12	
D. F. W. Hanmer .	-	 0		58		40		11.60	
G. C. de Boirville .	. 7	 0		56		21		8.00	
		BOW	LINC	<del>}</del> .					
	Overs	Maiden	s	Runs		Wickets		Average	
G. Y. Hildick-Smith		 30		467		37		12.62	
J. A. Cantlay		 8		310		21		14.76	
J. W. W. Hoare		 22		402		23		17.47	
	. 109	 20		352		19		18.52	

### HARROW SCHOOL.

				TING	ł.				
	Innings		Not or	its	Runs	H	ighest in	as.	Average
†B. D. Carris	12	٠.	1		394		85*		35.81
A. O. Collins	11	٠.	3		265		59*		33.12
R. C. Goodchild			0		130		80		26.00
M. D. Watson	10		0		256		68		25.60
R. A. Holt			3		215		53		23.88
D. J. Q. Henriques			2		223		104*		20.27
P. A. R. Lindsay	12		0		222		47		18.50
			BOW	LING	<del>.</del>				
200	Overs		Maiden	S	Runs		Wickets		Average
D. W. Stuart		٠.	23		482		22		21.90
J. M. Reunert	155		25		484		22		22.00
M. D. Watson			3		291		13		22.38
B. D. Carris	93		25		260	200	10	-	26.00

### HIGHGATE SCHOOL.

#### BATTING.

In Table 1	nnings	Not ou	ts	Runs	Hi	ghest in	ns.	Average
†S. J. Tucker	16 .	 0		573		165		35.81
L. V. Monk	14 .	1		407		84		31.30
J. K. G. Webb	16 .	 1		457		122*		30.46
P. L. Cranford	15 .	1		276		43		19.71
J. K. C. Scott	15 .	2		234		53		18.00
R. H. Chapman	11 .	2		102		45		11.33
R. Middleton	11 .	2		96		25		10.66
M. H. Webb	8 .	2		56		17*		9.33
R. S. Thornton	0	2	• •	50		20*		8.33
		BOW	TING		• •	20	• •	0.00

Overs		Maider	ıs	Runs	Wickets	Average
J. A. A. Morton 41.2		1		162	 12	 13.50
M. H. Webb 121.5		18		396	 27	 14.66
R. Middleton 221		27		712	 37	 19.24
R. S. Thornton 200.2	٠.	25		587	 29	 20,24
J. S. Archer 126.4		. 17		430	 14	 30.71

# KING'S COLLEGE SCHOOL, WIMBLEDON.

	nnings		Not ou	ts	Runs	Hi	ghest in	ns.	Average	
P. J. Dickinson	13		5		948		173*		118.50	
†D. E. Young	14		0		397		68		28.35	
L. A. Murray	11		0		225		81		20.45	
I. K. Murray E. Dann	6		1	٠.	88		32		17.60	
E. Dann D. A. Wise	14		1		178		45		13.69	
	11		1	• •	85		31		12.14	
M. C. V. Newsome	10	٠.	2		97		22		10.77	
F. H. Carruthers	10		0		63		15		10.50	
J. G. Lansdale	8	٠.	1		99	• •	40		9.90	
o. G. Manifelle	G	• •	T		64	• •	29		9.14	
			BOW	LING	ř.					

	Overs		Maidens	Runs	Wickets	Average
M. R. S. Downham	64.5		13	 168	 14	 12.00
D. E. Young			20	 813	 61	 13.32
P. J. Dickinson	. 105.3	• •	14	 327	 22	 14.86
J. G. Lansdale	. 112.4		17	 417	 15	 27.80

# KING EDWARD'S SCHOOL, BIRMINGHAM.

P	A	T	T	TN	TG.

Innings	Not outs	Runs	H	ighest inn	s.	Average
J. J. Smith 9	 3	140		37		23.33
†E. F. Twiss 11	 1	223		40		22.30
J. Drew 10	 2	158		51*		19.75
N. H. Wilkins 10	 1	147		48		16.33
E. W. Farr 11	 0	122		50		11.09
T. G. Freeman 11	 1	97		32	• •	9.70
	BOWLING					
Overs	Maidens	Runs		Wickets		Average
R. S. Pike 76	 11	278		19		14.63
E. W. Farr 51	 	198		13		15.23
T. G. Freeman 146	 29	445		25		17.80

## KING'S COLLEGE, TAUNTON.

### BATTING.

	Innings		Not ou	its	Runs	Hi	ghest in	ns.	Average
T. H. E. Goldie	. 9		1		535		156*		66.87
†J. L. Ellis	. 8		1		207		73		29.57
H. G. K. Leech			2		181		73* 51*		25.85 17.88
B. D. B-Cavanagh .			1	• •	161		40		14.50
J. A. D. Robinson .	. 8	٠.	0		116 79		29*		13.16
M. D. F. Ramsey .	. 8	٠.	1		78		31		13.00
B. E. C. Hopwood .	. 0	• •	. 4	• • •	,0		7.	17.	

#### BOWLING.

	vers	<b>La</b> iden	s	Runs	Wickets		Average
M. D. F. Ramsey	 64.5	 3		298	 30		9.93
B. E. C. Hopwood		8		175	 16		10.93
H. G. K. Leech .		15		271	 19	• •	14.26

# KING'S SCHOOL, BRUTON.

### BATTING.

	Innings	. 7	Not ou	ts	Runs	Hi	ghest in	ns.	Average
†G. G. L. Hebden .		V.	0		439		93*		39.90
D. H. D. Sladen			3		343		78*		38.11
D. B. McMorland .			0		283		129*		31.44
G. L. Holland			-	•	366		97		30.50
P. C. Pinton			-		76		21		15.20
J. H. Norman			4		90		24*		15.00
R. R. H. Miller			0		166		61		13.83
F. A. C. Gyles		::	-		106		36		11.77
			7		95		33		10.55
A. I. Lindsay	-		2	• •	55		21		7.85
J. H. Hooper	. 9		4	• •	00				
			residence and						

#### BOWLING.

(	Overs	Maidens		Runs	Wickets		Average
A. I. Lindsay	224.4	 44		623	 38		16.39 26.10
D. H. D. Sladen			• •	496	 19 16	• •	32.75
G. G. L. Hebden	136	 16		524	 10		02.10

# KING'S SCHOOL, ELY.

### BATTING.

	Innings	Not ou	ts	Runs	His	thest in	ns.	Average
†A. C. Genders	. 13	 2		388		70*		35.27
J. B. Sharp	. 12	 1		247		86*		22.45
C. W. Wragg	. 13	 2		189		47*		17.18
L. J. Rowell	. 12	 2		133		44		13.30
B. M. Broker	. 11	 1		116		61*		11.60

#### BOWLING.

	Overs	1	Maider	ıs	Runs		Wickets	Average
J. B. Sharp	72.3		24		143		12	 11.91
R. S. Black	107		20		329		25	 13.16
A. C. Genders	63.3		6		307	٠.	14	 21.92

## KING'S SCHOOL, PETERBOROUGH.

### BATTING.

	Innings	Not ou	ts	Runs	Hi	ghest in	ns.	Average
R. A. Hughes	. 11	 3		330		100*		41.25
†R. Laxton	. 11	 1		385		100*		38.50
W. Barrett	. 9	 1		176		44		22,00
J. M. Fisher	. 8	 1		137		46		19.57
W. A. Dyson	. 11	 1		126		37		12.60
J. D. Jeffery	. 9	 0		99		26		11.00

### BOWLING.

	Overs	1	Maider	ıs	Runs	Wickets	Average
J. M. Fisher	117.2		34		238	 37	 6.43
R. Laxton	90.3		23		199	 26	 7.65
G. E. Rae	28		4		94	 12	 7.83

# KING'S SCHOOL, ROCHESTER.

### BATTING.

	Innings	Not or	uts	Runs	Hi	ghest in	ns.	Average
J. A. Clay	. 15	 4	1 5 6 4	363		68		33.00
†G. C. Greenfield .	. 15	 2	RE- MILOS CO	311		72*		23.92
G. W. Lees	. 14	 . 0	7.00	266		56		19.00
J. W. Main	. 13	 3		145		31*		14.50
L. M. Gill	. 12	 5		101		23*		14.42
A. Wright	. 11			106		31*		13.25
T. F. Bayntun	. 15			190		34		12.66
F. W. Armstrong		 0		174		45		12.42
E. Bell	. 13	 3		93		17		9.30

			DO	TITTI	4.				
	Overs	J	Maiden	ıs	Runs		Wickets		Average
F. W. Armstrong	87.1		23		245		25		9.80
T. F. Bayntun	37.5		,7		147		15		9.80
G. W. Lees	77		17		238		23		10.34
A. Wright	162.2		38		531		43		12.34
E. Beil	125		32		343		25		13.72
J. A. Clay	115		36		311		16		19.43
	F. W. Armstrong T. F. Bayntun G. W. Lees A. Wright E. Beil	T. F. Bayntun 37.5 G. W. Lees 77 A. Wright 162.2 E. Bell 125	F. W. Armstrong 87.1 T. F. Bayntun 37.5 G. W. Lees 77 A. Wright 162.2 E. Beil 125	F. W. Armstrong         Overs 37.1         Maider 23           T. F. Bayntum         37.5         ,7           G. W. Lees         77         17           A. Wright         162.2         38           E. Beil         125         32	F. W. Armstrong 87.1 23 T. F. Bayntun 37.5 ,7 G. W. Lees 77 17 A. Wright 162.2 38 E. Beil 125 32	F. W. Armstrong     87.1     23     245       T. F. Bayntun     37.5     ,7     147       G. W. Lees     77     17     238       A. Wright     162.2     38     531       E. Bell     125     32     343	F. W. Armstrong         87.1         23         245           T. F. Bayntun         37.5         ,7         147           G. W. Lees         77         17         238           A. Wright         162.2         38         531           E. Beil         125         32         343	F. W. Armstrong         0vers 87.1         23         245         25           T. F. Bayntun         37.5         ,7         147         15           G. W. Lees         77         17         238         23           A. Wright         162.2         38         531         43           E. Beil         125         32         343         25	F. W. Armstrong         87.1         23         245         25           T. F. Bayntun         37.5         ,7         147         15           G. W. Lees         77         17         238         23           A. Wright         162.2         38         531         43           E. Beil         125         32         343         25

19.05

19.40

7.50

### KINGSWOOD SCHOOL.

	BAT'	ring					
Innings   J. B. Ashley   7   7   8   4   1   1   1   1   1   1   1   1   1	  ot out 1 1 0	:: ::	Runs 141 142 128	Hig	thest in 49 43 38	ns.	Average 23.50 20.28 21.33
	BOW	LIN	ł.				
D. C. Wright 42.5 L. A. Scott-White 68.2 D. K. Parker 88.3	 aiden 10 12 23	s 	Runs 103 198 186	:: '	Wickets 15 17 14		Average 6.86 11.64 13.28

## LANCING COLLEGE.

	IN	

	Innings		Not ou	ts	Runs	H	ighest inn	s.	Average
W. O. T			1		282		106		28.20
H. C. Large			2		332		70		27.66
J. C. S. Underwood.			2		183		58		26.14
G. A. Wagner	. 9		ĩ		285		89		23.75
†L. M. West	. 13			• •	195		53*		21.66
T A. Peppercorn .	. 12						50		20.58
R. S. Woodward	. 13		1		247			• •	16.66
P. C. R. Coates	. 13		1		200		55	• •	
R. J. Wheeler	. 11		3		132		28		16.50
R. J. Wheeler			1		100		40*		11.11
J. B. E. Bridge			0		61		18		7.62
G. G. T. Fletcher	. 0		O	• •		-			
			BOW	LIN	₹.				
	Overs		Maider	S	Runs		Wickets		Average
			17		449		26		17.26
R. J. Wheeler			42		613		30		20.43
J. A. Peppercorn .		• •			417		17		24.52
G. G. T. Fletcher	. 125		18	• •	355		10		35.50
P. C. R. Coates			4	• •	300	••	10		00.00

# LEEDS GRAMMAR SCHOOL.

#### BATTING.

Innings		Not outs	Runs	H	ighest inn	s.	Average
E. Webster 13		3	311		83*		31.10
†D. Warburton 11		0	242		77		22.00
R. Kite 12		0	137		44		13.70
P. V. Wadsworth 8		e e	74		28		12.33
		0	101		43*		11.22
	• •	0	135		43		10.38
T. D. MOLICOR		1	83		21		7.54
A. Carter 12		1	00	• •			
		BOWLIN	G.				
Overs		Maidens	Runs		Wickets		Average
P. V. Wadsworth 137.2		22	391		36		10.86
		99	391		33		11.84
	• •	5	203		10		20.30
J. F. Daykin 68.1		13	284		11		25.81
R. Kite 103.2		10	WO'T				

### LEYS SCHOOL. BATTING

44 0 77 1 7 11	Innings		Not ou	ıts	Runs	Hi	ghest ir	ıns.	Average
†A. S. Kelshall			0		309		81		28.09
D. M. Witherington	13		2		279		49		25.36
D. A. Skinner	. 12		0		210		67		17.50
A. M. Brown	. 11	٠.	0		193		45		17.54
T. S. Rogers	10		2		118		42		14.75
G. Newsholme	12		2		138		23		13.80
A. J. Witherington	13		ī		164		52	• •	13.66
E. Martin	10		ā		77	• •	20		
M T Doto	-	• •	-				40		12.83

#### BOWLING.

M. E. Bate ..... 11

10. <u> </u>	Overs		Maiden	s	Runs	Wickets	Average
A. S. Kelshall	113.3		23		334	 17	 19.64
D. A. Skinner	211.2		28		658	 34	 19.34
A. J. Witherington	260		48		963	 47	 20.48
J. C. Callow	85	• •	21		274	 10	 27.40

# LORETTO SCHOOL.

			DAL	TIME	x.				
** ** ** *** **	Innings		Not or	ts	Runs	H	ighest in	ıs.	Average
M. R. C. Gillespie	18		3		497		58*		33.13
T. G. Coverdale	19		3		503		91*		31.43
M. M. Little		٠.	2		552		88*		30.66
J. C. R. Waterhouse	19		3		350		63*		21.87
R. E. Billington	15		1		256		81		18.28
†F. J. Stewart	18		2		221		56*	• •	13.81
A. G. Lee	15		5		111		20*		11.10
G. D. McNeill	13		3		99		30*		9.90
K. I. Geddes	11		0		86		21	••	7.81
			BOW	LINC				•••	1.01
	Overs		Maiden		Runs		Wickets		A
T. W. Dewar			8		492		30		Average
A. G. Lee	91		10		361				16.40
G. D. McNeill	207.4		29		577	• •	19		19.00
R. E. Billington	56			• •			30		19.23
			6	• •	236		10		23.60
F. J. Stewart	87	• •	18	* 1	291		11		26.45
	75	• •	4		320		12		26.66
M. R. C. Gillespie	134	٠.	12		459		15		30.60

### MALVERN COLLEGE.

485

W. J. Farnsworth . . 115.2 . . 28 G. I. D. Norton . . . 112.5 . . 12

			TING	ł.				
D D 35	Innings	Not ou	ts	Runs	H	ighest inr	ıs.	Average
P. D. Manners		 2		311		80		44.42
R. H. Maudsley	10	 1		297		103		33.00
D. Maclean	10	 1		189		46		21.00
B. L. B. Jacomb	9	 1		164		50		20.50
F. L. Rogers		 0		169		50		18.77
†B. Greatbatch G. I. D. Norton	9	 0		154		53		17.11
N. W. Beeson	8	 2		93		58		15.50
N. W. Beeson	9	 0		121		38		13.44
		BOW	LING	ł.				
F. L. Rogers	Overs	Maiden		Runs		Wickets		Average

Public School Avera	iges.
---------------------	-------

### MARLBOROUGH COLLEGE.

#### BATTING.

Innings	- 1	Not ou	ts	Runs	H	ighest inn	s.	Average
†J. C. N. Westwood 10		1		442		150*		49.11
G. D. Anderson 11		2		276		76		30.66
H. G. Jelf 11		1		209		55*		20.90
J. H. Collins 7		õ		110		45		15.71
A. R. W. Livingstone 6		Ö		88		28		14.66
P. N. L. Terry 10	::	ő		140		40		14.00
R. C. Fletcher 11		1		121		29		12.10
P. F. G. Fane 12	٠.	1		132		40		12.00
	• •	2		90		18	1. 1	11.25
D. I. Graham 10			• •	60		19	• •	10.00
J. T. Bailward 6		0		35.53		10		10.00
		BOW	LING	ł.				
Overs		Maiden	s	Runs		Wickets		Average
J. T. Bailward 82		13		274		15		18.26
D. I. Graham 131		20		402		15		26.80
M. S. Mallinson 80		3		325		11		29.54

# MERCHANT TAYLORS' SCHOOL.

### BATTING.

In	nings N	ot outs	Runs	His	ghest inns	Average
J. L. Hart	13	3	303			 30.30
	14	2	361		89*	 30.08
	12	2	226		51	 22.60
	14	1	285			 21.92
L. R. Stacey	11	1	107		39*	 10.70
		BOWLING	ŧ.			
0	vers M	aidens	Runs		Wickets	Average
N. P. Wood		26	440		22	 20.00
I. C. M. Maxwell	124	9	452		21	 21.52
R. J. B. Fox	85 -	14 .	353		10	 35.30

MEDCHICHON	CLA COTT TO	TOOTION
MERCHISTON	CASTLE	SCHOOL.

## BATTING.

Inning	S	Not out	S	Runs	H	ighest inn	s.	Average
W. W. Yellowlees 20		2		597		108*		33.16
D. B. S. Farnie 10		0		295		73		29.50
P. C. Donald 15		2		271		59		20.84
†T. B. Herd 16		2		265		58*		18.92
R. F. R. Duncan 15		3		183		27		15.25
W. F. M. Webster 19		0		267		66		14.05
D. Yellowlees 20		2		247		40		13.72
W. M. Harper 15		1		159		56		11.34
		BOW	LINC	<del>1</del> .				
Overs		Maiden	s	Runs		Wickets		Average
T. B. Herd 257.	5	65		625		43		14.53
W. W. Yellowlees 80.		14		302		18		16.77
K. T. Gruer 238.	2	50		712		37		19.24
W. M. Harper 81		11		290		12		24.16

### MILL HILL SCHOOL.

### BATTING.

innings	Not of	its Runs	H19	nest inns.	Average
†R. S. S. Young 12	0	394		100 .	. 32.83
A. F. Crick 12	2	300		61 .	. 30.00
J. M. Dean 12	0	259		49 .	. 21.58
G. A. Webster 8	0	140		46 .	. 17.50
R. E. Dexter 9	1	139		57 .	. 17.37
J. M. Kirk 10	3	104		28 .	. 14.85
A. I. F. Goldman 11	1	120		57 .	. 12.00
D. E. Knight 11	4	79		25 .	. 11.28
P. A. Catesby 12	1	103		25 .	. 9.36
	BOV	VLING.			
Overs	Maider	ns Runs	, ,	Wickets	Average
J. M. Kirk 156.5	32	404		23 .	. 17.56
R. S. S. Young 107	10	381		19 .	. 20.05
C. Barlow 116	12	413		19 .	. 21.73

### MONKTON COMBE SCHOOL.

### BATTING.

	Innings	Not ou	its	Runs	Hi	ghest in	ns.	Average
H. B. Biddell	. 9	 2		154		37*		22,00
S. P. Pert	. 11	 0		235		52		21.36
R. C. Taylor	. 8	 0		162		63		20.25
R. F. Bell	. 11	 1		157		49*		15.70
J. C. Royds	. 8	 2		92		50*	10000	15.33
J. A. Wedgwood	. 11	 0		128		51		11.63
P. C. Wood	. 11	 0		88		24	200	8.00
		BOW	LING	ł				

	Overs	Maiden	S	Runs	Wickets	Average
H. G. Jameson	140.4	 46		324	 37	 8.75
R. C. Taylor				296	 27	 10.96
H. D. W. Powell	52	 5		182	 •13	 14.00

### ORATORY SCHOOL.

### BATTING.

	Innings	Not ou	ts	Runs	Hi	ghest in	ns.	Average	
J. C. Coulston	. 17	 3		471		89*		33.64	
D. M. Hamel-Smith	17	 0		288		71		16.94	
M. C. Bodenham	. 15	 2		200		29*		15.38	
C. A. Bodenham	. 15	 3		169		37		14.08	
G. C. ffennell-Smith	16	 2		181		43		12.92	
R. W. Bodenham .	. 12	 4		103		24		12.87	
P. G. Hurford-Jones	17	 0		194		48		11.41	
A. P. Pettit	. 17	 1		173		44		10.81	
†J. M. Connaughton	16	 2		135		32		9.64	
E. M. Binyon	. 14	 2		109		23		9.08	
		DOW	TINI	4					

#### ROWLIN

	Overs	. 11	Maiden	S	Runs	Wickets	Average
J. M. Connaughton	242.2		52		859	 71	 12.09
R. W. Bodenham	114.3		27		309	 23	 13.43
C.A. Bodenham	118.1		16		416	 16	 26.00

## OUNDLE SCHOOL.

			BATT	INC	ł.				
I	nnings		S	Runs	H	ighest inns	8.	Average	
P. B. Nicholls	13		0		394		116		30.30
J. M. H. Lewis	14		2		363		61		30.25
P. S. Cowen	14		2		322		61		26.83
T. S. Ringrose	9		1		183		49		22.87
A. Y. Wilson	11		3		173		50		21.62
C. P. Payne	13		1		248		62		20.66
J. S. Curl	9		1		149		44		18.62
†M. F. Llewellyn	11		3		117		46		14.62
J. M. B. Butler	10		0		97		34		9.70
			BOW	LIN	G.				
	Overs		Maidens	3	Runs		Wickets		Average
R. H. Martin	150		24		488		25		19.52
J. M. B. Butler	53		0		353		17		20.76
P. S. Cowen	133		22		414		20		20.70
M. F. Llewellyn	225		48		642		25		25.68

### RADLEY COLLEGE.

		BAT	TING					
Innings	3	Not ou	ts	Runs	H	ighest in	ns.	Average
D. N. Sell 12		4		278		61*		34.75
F. Falkiner 15		0		473		98		31.53
N. W. Nicholson 15		2		396		89*		30.46
D. T. M. Birks 14		0		319		85		22.78
J. G. Mackarness 15		2		270		50*		20.76
J. L. I. Cranston 15		0		310		61		20.66
Hon. H. R. Grosvenor 7		1		102		25		17.00
M. F. Wynne-Willson 14		2		182		38*		15.16
		BOW	LING	1.				
Overs		Maider	ıs	Runs		Wicket	3	Average
E. R. J. Richards 49		15		131		14		9.35
F. Falkiner 320.4		72		903		46		19.63
H. W. Mackintosh 207		41		607		25		24.28
D. T. M. Birks 220.3		50		693		22		31.50

### REPTON SCHOOL.

			BAI	LING					
	Innings		Not out	ts	Runs	H	ighest in	ns.	Average
L. D. Hall	. 12		5		219		56		31.28
W. D. Hodgkinson .	. 11		0		280		51		25.45
G. L. Willatt			1		330		129*		25.38
M. Barber			1		207		46		23.00
†R. M. Bagnall			ō		309		64		22.07
J. A. T. Sharp	. 11		0		200		85		18.18
R. L. Lowcock			Ö		237		60		16.92
F. F. Fisher			1		65		29		13.00
J. Davenport			4		102		26		11.33
A. H. Barnett			3		67		33		9.57
		-	-						
			BOW	LING					
	Overs		Maiden	S	Runs		Wickets		Average
J. Davenport	. 160.1		27		548		36		15.22
R. L. Lowcock	. 141.4		17		518		25		20.72
			7		236		11		21.45
A. H. Barnett			17		355		16		22.18
R. L. Lowcock J. H. Hughes	. 141.4	::	17	•••	$\frac{518}{236}$		25 11	::	20.72 21.45

## ROSSALL SCHOOL.

### BATTING.

	Innings	Not ou	ts	Runs	Hi	ghest in	ns.	Average
G. Sharp	. 16	 1		569		78		37.93
J. A. Heaton		 1		337		66*		22.46
J. P. Maconchy	. 11	 0		231		88		21.00
W. Major	. 15	 1		254		65		18.14
J. D. Boyd		 2		208		58*		16.00
tL. J. Hesmondhalgh	1 15	 0		233		79		15.53
K. C. Smith	. 12	 1		153		61		13.90
E. B. S. Slack	. 12	 3		87		31		9.66

### BOWLING.

	Overs	D	Iaiden	IS	Runs	Wickets	Average
J. A. Heaton	144.1		22		425	 27	 15.74
R. T. T. Hughes	270.4		51		914	 46	 19.86
I. J. Hesmondhalgh	228.1		39		642	 29	 22.13

# ROYAL HIGH SCHOOL, EDINBURGH.

### BATTING.

	Innings	Not ou	its	Runs	Hi	ghest in	ns.	Average
†F. O. Thomas	. 13	 1		354		92		29.50
J. McVie	. 13	 5		158		48*		19.75
E. C. Moss		 3		118		40*		16.85
R. B. Laing	15	 2		190		37		14.61
D. Ford		 0		204		50		14.57
D. J. Williamson	10	 4		82		31		13.66
D. B. Wiseman	13	 1		112		28		9.33
B. S. Nisbet	9	 1		58		23		7.25
		DOW	TING	1				

	Overs	1	Iaiden	s	Runs	Wickets	Average
F. O. Thomas	153		41		329	 49	 6.71
C. G. Thomson	74		22		160	 12	 13.33

# RUGBY SCHOOL.

### BATTING.

	Innings	Not ou	ts	Runs	H	ighest in	ns.	Average
D. P. G. Elliot	. 12	 0		312		75		26.00
A. Kershaw	. 12	 3		187		64*		20.77
D. M. Scott	. 9	 1		159		68		19.87
P. A. H. Marriott .	. 8	 0		156		101		19.50
†R. D. Clark	. 10	 1		109		21		12.11
D. de G. Walford .	. 11	 0		127		53		11.54
M. E. Whitelock	. 11	 2		84		30		9.33

	Overs	Maiden	s	Runs	Wickets	Average
J. R. Bridger	115.5	 15		432	 24	 18.00
R. J. E. Inglis	120.4	 34		347	 19	 18.26
M. E. Whitelock	130	 38		353	 16	 22.06

BATTING.

### RYDAL SCHOOL.

### BATTING.

Inni	ngs N	Tot ou	ts	Runs	H	ighest inn	ıs.	Average
†K. D. Downes 11		3		263		65		32.87 32.22
G. Wooller 9		0		290		80		
D. A. Howarth 11		1		322		112*		32.20
J. K. Radcliffe 10		0		122		55		12.20
N. B. Ranns 7		1		58	• •	18	• •	9.66
		BOW	LINC	<del>;</del> .				
Ove	rs M	Iaiden	s	Runs		Wickets		Average
J. K. Radcliffe 68	3	12		225		17		13.23
G. P. S. Mellor 146	3.1	27		444		17	* *	26.11
J. G. Costain 150		19		461	٠.	13		35.46

# ST. EDMUND'S SCHOOL, CANTERBURY.

### BATTING.

Innin	gs N	Not outs		Runs	Highest inns.			Average
J. A. Peace 14		3		414		101*		37.63
†A. F. Taylor 14		0		329		92		23.50
W. T. Armstrong 14		1		288		91		22.15
G. Riley 14	,	0		267		60		19.07
W. E. Davies 13		1		186		54*		15.50
A. S. D. Forder 12		3		138		45		15.33
A. D. Walden-Jones 12		5		107		32		15.28
J. T. Owen 7		1		43		13	· .	7.16
M. R. Davies 10		2		56		20*		7.00
		BOWI	ING					
			32210			**** * 4		Amonogo
Over	rs M	aidens		Runs		Wickets		Average
W. E. Davies 178	3.5	20		718		58		12.37
P. N. Screeton 207	.1	32		640		34		18.82
W. T. Armstrong 99	).2	10		403		14		28.78

# ST. EDWARD'S SCHOOL, OXFORD.

		BAT	TING	ł				
	Innings	Not ou	ts	Runs	High	nest in	ns.	Average
E. T. Greaves		 3		374		85*		28.76
A. N. E. Waldron .	. 14	 1		289		65		22.23
J. L. Churcher	. 15	 -		196		41		19.60
H. C. W. Ironside .				257		63		18.35
I. F. Trevor	. 12	 1		180		38		16.36
R. G. Jellard		 1		243		62		16.20
H. Little	. 17			229		52		14.31
R. I. Williams	. 12	 0		149		41		12.41
		BOW	TIN	Ĵ				

#### BOWLING.

	(	Overs	A	<b>Laiden</b>	S	Runs		Wickets	Average
V. G. T. Godley .				21		533 588	• •	46 29	 $\frac{11.58}{20.27}$
T. C. Henderson . J. L. Churcher		89.5		33		391		13	30.07
J. D. Churcher		00.0				OUL			

### ST. JOHN'S SCHOOL, LEATHERHEAD.

	nnings		Not ou	ts .	Runs	Hi	ghest inn	S.	Average
O. E. B. Hughes	16		3		245		32		18.84
†E. R. M. Saunders	15		1		216		44		15.42
D. W. H. Davies	16		1		200		51		13.33
P. A. G. Learmond	12		0		152		31		12.66
P. B. Mitchell	16		3		150		43*		11.53
A. W. Jackson	15		0		172		30		11.46
M. F. Skittery	6		1		50		20		10.00
G. O. P. Trimble	15	٠.	3		100		21		8.33
J. D. Rosser	14		0		115		23		8.21
P. C. Lindsey	14		0		110		28		7.84
			BOW	LING					
	vers		Maiden	S	Runs		Wickets		Average
P. A. G. Learmond	41.3		0		159		11		14.45
E. R. M. Saunders	230.5		40		652		43		15.16
	185		40		512		31		16.51
O. E. B. Hughes	85.4		3		350		19		18 42

### ST. LAWRENCE COLLEGE, RAMSGATE.

			TING					
Inning	gs I	Not ou	ts	Runs	H	ighest in	ns.	Average
D. I. A. Hamblen 13		2		278		45		25.27
H. B. C. Gardner 13		1		295		61		24.58
†G. F. Colley 13		0		274		66		21.07
D. J. V. Clark 10		1		184		50		20.44
G. N. Cornish 11		1		178		51		17.80
G. H. Melville-Jackson 13		1		198		70		16.50
T. C. Larsen 6		1		50		22*		10.00
		BOW	LING					
Overs	I.	Iaiden	S	Runs		Wickets		Average
G. F. Colley 215.4		49		588		43		13.67
H. B. C. Gardner 153.3	3	43		330		24		13.75
R. Q. Drayson 102.	5	12		369		22		16.77

### ST. PAUL'S SCHOOL

	DI. FA	OTO D	CHOOL	4.			
		ATTING					
Inni		outs	Runs	Hi	ghest in	ns.	Average
R. H. Yeatman 1		2	650		139		46.43
†F. G. Commings 1		2	330		67*		25.38
P. M. Reid 1		1	308		75		23.69
M. A. Rahman 1		1	242	14.114	63		18.62
	6	0	80		47		13.33
D. C. Reynders 1		0	181		41		12.07
B. K. Totton 10		3	83		27		11.86
	9	1	85		42		10.63
J. M. C. Vivian 13		2	100		18		10.00
D. Smith 12		2	94		28		9.40
M. A. T. Burke	6	0	47		22		7.83
	В	OWLING					
Ove	rs Mai	dens	Runs	1	Wickets		Average
B. K. Totton 264	1 10	5	481		55		8.74
D. S. Russell 161	L 4	5	421		35		12.03
R. H. Yeatman 172		6	410		28		14.64
F. G. Commings 130	) 2	5	392		25		15.68

## ST. PETER'S SCHOOL, YORK.

			BATT	FING	•				
Innings Not outs Runs Highest inns.									
†N. A. Newman	. 10		2	'	346		108*		43.25
K. Lockwood	. 9		1		282		61		35.25
V. L. F. Davin			0		108		45		18.00
C. A. Smart	. 9		2		117		30		16.71
J. B. Dixon			0		86		27		10.75
G. E. L. Graham .	. 9		0		79	• •	27	٠.	8.77
			BOW	LING	<del>,</del>				
	Overs		Maiden	3	Runs		Wickets		Average
K. Lockwood	. 162		42		416		41		10.14
N. A. Newman		• •	31	••	335	• •	13	• •	25.76

## SEDBERGH SCHOOL.

		BAT	ring								
Innings		Not out	S	Runs	H	ighest inn	8.	Average			
A. A. S. Scott 12		3		263		82		29.22			
H. G. Balfour-Paul 12		0		286		80		23.91			
D. A. Kininmonth 11		1		225		66		22.50			
D. J. P. Watson 13		1		237		72		19.75			
T. A. Cowdy 10		2		154		37		19.25			
R. H. Edwards 13		1		204		45		17.00			
P. Gundill 8				78		35		13.00			
G. P. S. Macpherson 10		0		97		24		9.70			
J. M. Donald 8		1		63	• •	32	• •	9.00			
BOWLING.											
Overs		Maiden	3	Runs		Wickets		Average			
H. G. Balfour-Paul 134,5		52		211		25		8.44			
J. P. Eyre 124.5		34		294		31		9.48			
A. S. Henderson 153		45		404		40		10.10			
R. H. Edwards 69		5		328	• •	14	• •	23.42			

### SHAFTESBURY GRAMMAR SCHOOL.

	BAT	TING.			
H. T. Turber 10 G. S. Gibbings 11 †F. J. Green 11	2	245 228 191	1	est inns. 09* 04*	Average 30.62 22.80 21.22 10.25
F. D. Barrett 8		82		39	10.25
	BOW	LING.			
Ove H. T. Turber	.5 30	Runs 323 396	Wi	29 33	Average 11.14 12.00

### SHERBORNE SCHOOL.

### BATTING.

the second of the second	Innings	Not ou	its	Runs	Hi	ghest in	ns.	Average
J. M. Hutton		 0		497		132		45.18
M. S. Glennie	. 12	 2	*.*	312		176		31.20
W. M. Elderton		 0		222		88		24.66
†S. J. D. Robinson .		 1		210		60		23.33
J. F. N. Hodgkinson		 0		244		100		22.18
D. I. C. Boissier		 0		202		86		20.20
G. H. W. Manning .		 2		94		29		15.66
R. F. S. Chignell	. 11	 1		118		26		11.80
							8250	

### BOWLING.

Overs	Maiden	IS	Runs	Wickets	Average
J. M. Hutton 185.5	 45		503	 36	 13.97
A. L. A. Tasker 96	 16		278	 11.	 25.27
H. J. C. Bashford 146.3	4.5		384	 15	 25.60
J. F. N. Hodgkinson 110.5	 11		473	 14	 33.78

### SHREWSBURY SCHOOL.

### BATTING.

van las and	Innings	Not ou	its	Runs	Hi	ghest in	ns.	Average
†P. H. Blagg	. 14	 0		292		90		20.85
R. J. Rothwell	. 14	 1		244		56		18.76
G. D. Lane	. 12	 4		132		45	100	16.50
N. H. Bowring	. 9	 1		127		35		15.87
R. G. Shaw	. 9	 1		125		57	400	15.62
A. T. G. Groves	. 14	 1		179		52*		13.76
M. G. Crawford	. 12	 0		150		58	77 2 6	12.50
A. F. Kingsford	. 9	 0		108		29	1176.8	12.00
D. G. G. Baird	. 9	 0		88		42		9.77
		_		9.3				
		ROM	LING	x.				

age
3
5
3
2
3

# STONYHURST COLLEGE.

	Innings		Not ou	ts	Runs	В	ighest inr	18.	Average
P. R. Moreton	. 10		1		210		52		23,33
B. Gallagher	. 9		0		100		37		11.11
W. B. Storey	. 11		0		116		50		10.54
F. G. Burns					82		28		10.25
E. F. Kershaw		٠.			91		21		10.11
†E. M. Murphy					84		48		9.33
E. R. Holt			0		74		25		9.25
J. N. McQuaid			3		64		31		9.14
G. Carrington	. 8		2		43		16		7.16
			BOW	LINC	7.				
	Overs		Maiden	S	Runs		Wickets		Average
W. B. Storey	. 145		21		394		38		10.36
E. M. Murphy		٠.	2		149		13		11.46
J. N. McQuaid	. 60		4		288		15		19.20

### STOWE SCHOOL.

			BAT	FING			A 201		
I	nnings		Not out	S	Runs	H	ighest in	18.	Average
J. D. A. Langley	11		2		628		122*		69.77
P. Sherrard	11		2		292		92		32.44
A. G. Buchanan	10		1		287		75		31.88
A. H. P. Hope	11		0		335		82		30.45
C. D. Earle	9		2		186		43		26.57
	9		0		201		44		
			1		65		31		
	6		0		56		32		9.33
			BOW	LING	ž.				
	Tvers		Maiden		Runs		Wickets		Average
			18		124		12		10.33
					516		32		16.12
							30		18.16
A. C. Lynch-Staunton			9		231		10		23.10
A. C. Lynch-Staunton P. I. D. Frankenburg P. R. Spencer I. C. S. Munro M. B. Robinson M. P. Robinson	9 6 6 0 0 0 49.2 165 172	::	0 1 0 BOW Maiden: 18 37 37	LING	201 65 56 Runs 124 516 545		31 32 Wickets 12 32 30	.:.	10.33 16.12 18.16

## TAUNTON SCHOOL.

Innings Not outs Runs Highest inns. Average P. M. Benneut 9 2 234 61* 33.42	ge
P. M. Benneut 9 2 234 61* 33.42	
R Maclean 15 3 283 59 23.58	
R R Harris 12 0 241 56 20.08	
R E Stone 13 3 . 189 . 39 . 18.90	
T. F. Nicholson 6 . 1 85 35 17.00	
F W Alexander 7 0 100 40 14.28	
T W Andrews 12 0 138 37 11.50	
G. E. A. Woodward 13 1 . 138 61 11.50	
A. P. Henderson 11 0 113 27 10.27	
7. 7. 7. 7. 7. 7. 7. 7. 7. 7. 7. 7. 7. 7	
J. D. E. Evans II	
BOWLING.	
Overs Maidens Runs Wickets Avera	ge
A. P. Henderson 73.2 8 240 17 14.11	
I R E Evans 112 15 324 22 14.72	
D. I. Walmsley 243 55 550 33 16.66	
E B Hill 77.4 . 2 330 15 22.00	
L. F. Nicholson 80 5 281 11 25.54	

# TONBRIDGE SCHOOL.

		BAL	TING	0				
Innings		Not out	ts	Runs	Hi	ghest inns	3.	Average
M. Latham 14	1	1		399		102*		30.69
J. R. Thompson 14		õ		378		68		27.00
J. D. Parsons 12		5		154		68		22.00
0 0 0 777 1 00		1		238		64		21.63
P. G. C. Wood 12 B. N. S. Kidson 15	• •	2		272		44		20.92
D. G. W. Yeats-Brown 14		2		247		53*		20.58
		ő		238		85		17.00
†T. C. Cobb 14		-4		238		97		17.00
B. W. Cox 15		0		227		44		15.13
E. C. Bousfield 15				198		39		14.14
D. H. Lloyd-Morgan 14						33		YX.IX
		BOW	LING	X.				3.4
Overs		Maiden	S	Runs		Wickets		Average
J. D. Parsons 285.4		65		784		48		16.33
B. N. S. Kidson 139		00		457		23		19.86
P. R. Stevens 97		OF		269		13		20.69
m a a 11 #40 f	• •	22		409		18		22.72
D. G. W. Yeats-Brown 88.5		1		424		13		32,61
D. G. W. I cars Drown 00.0		4		a bid A				

## UNIVERSITY COLLEGE, SCHOOL.

### BATTING.

	Innings	Not ou	ts	Runs	H	ighest inn	s.	Average	
†P. G. Wreford	14 75	 3		513		155*		42.75	
G. W. Rees	. 14	 3		334		64		30.36	
D. G. Drakeford	. 12	 1		241		63		21.90	
C. L. Warnock	. 15	 1		277		73*		19.78	
R. F. Gibbons	. 9	 . 0		147		46		16.33	
E. G. Sparke	. 7	 0	3	89		40		12.71	
W. F. G. Drury	. 11	 3		.95		17		11.87	
C. O. Askwith	. 11	 3		94		27*		11.75	
E. L. Beverley	. 12	 2		115		19		11.50	
P. S. Gordon	. 10	 2		68		26		8.50	
		BOW	LIN	<del>}</del> .					
	Overs	Maiden	S	Runs		Wickets		Average	
W. F. G. Drury	. 215.4	 44		641		43		14.90	
E. L. Beverley	. 91.1	 7		386		17		22.70	
P. S. Gordon	. 147	 22		509		16		31.81	

### UPPINGHAM SCHOOL.

### BATTING.

		-			-	TT			
	Innings	D	Vot on	ts	Runs	HI	ghest in	ins.	Average
R. A. Carr	13		0		379		113		29.15
G. W. E. Ray	13		2		316		89		28.72
†D. W. Gillespie			1.		270		55		24.54
R. W. V. Neathercoat			1		208		36		20.80
W. J. Persbke			1		178		72		19.77
P. Gillespie			2		122		32		11.09
A. T. W. Taylor	11		2		72		24	A 12.00	
E. A. Bland			1		86		14		7.81
			BOW	LIN	Э.				

Ov	ers I	Maidens	3	Runs	Wickets	Average
W. J. Pershke 15	27.3	42		315	 22	 14.31
D. W. Gillespie 16	32.4	39		400	 26	 15.38
A C. Spencer 10	06.2	18		341	 21	 16.23

### WELLINGBOROUGH SCHOOL.

	Innings	Not ou	its	Runs	Hi	ghest in	ns.	Average
J. H. Reddy	. 12	 1		293		115		26.63
R. D. H. Reddy	. 14	 2		203		56*		16.91
P. C. Charnock	. 12	 3		122		29*		13.55
F. A. J. Foster	. 11	 0		138		31		12.54
A. E. Brown	. 13	 * 1		134		30*		11.16
D. G. Garner	. 6	 1		57		23		11.40
P. R. B. Knight	. 10	 1		90		21		10.00
C. H. Thomas		 1		88		40		9.77
†H. D. Brodie		 0		44		16		4.40
		BOY	VLIN	J.				

	Overs	M	Iaiden	ıs	Runs	Wickets	Average
F. A. J. Foster	117		15		385	 26	 14.81
C. H. Thomas	160		18		546	 33	 16.54
P. C. Charnock	63		11		236	 11	 21.45

# WREKIN COLLEGE.

### BATTING.

	Innings	Not ou	ts	Runs	Hi	zhest inns	3.	Average
J. R. Pelmore	. 13	 1		249		71		20.75
†C. R. M. Brown .	. 14	 1		233		50		17.92
J. Dwerryhouse	. 15	 1		197		59		14.07
E. A. C. Denham	. 8	 1		89		25		12.71
F. V. Scopes	. 15	 2		145		52*		11.15
J. A. Tomlinson	. 14	 2		120		51		10.00
G. A. F. Ramsden .	. 14			96		23		7.38

Over	rs 1	Taiden	S	Runs	Wickets	Average
G. A. F. Ramsden 200	.5	15		607	 65	 9.33
C. R. M. Brown 128	.5	31		301	 23	 13.08
J. A. Tomlinson 135	.2	29		387	 22	 17.59
J. R Pelmore 65		13		228	 10	22.80